#### OFFICE OF THE

## DIVISIONAL FOREST OFFICER, MANGROVE FOREST DIVISION (WILDLIFE), RAJNAGAR

AT / P.O: Rajnagar, Dist; Kendrapara-754225, Phone-06729-242460,

Control Room: 06729-242463, E-mail ID: dfo.rajnagarwl@odisha.gov.in

Letter No. 7844 / 1F-Acct-497/2025 Dated, Rajnagar, the 12th December, 2025

To

The Director,

Information & Public Relation Department Government of Odisha, Bhubaneswar

Sub:

Short Tender Call Notice for Construction of Civil Works for Malkhana at Sansarphal of Rajnagar Wildlife Range under Mangrove Forest Division (Wildlife)

Rajnagar during Fy 2025-26.

Sir,

Please, find enclosed herewith a Short Tender Call Notice for Construction of Civil Works for Malkhana at Sansarphal of Rajnagar Wildlife Range under Mangrove Forest Division (Wildlife) Rajnagar during Fy 2025-26. The same may be published in two leading local daily Odia Newspapers and one English Newspaper for wide circulation.

**Enclose:** 

As above

Divisional Forest Officer Mangrove Forest Division (Wildlife)

Yours faithfully

Rajnagar

Memo No.

7845

/ Dated.12/12/2025

Copy submitted to the Principal Chief Conservator of Forests (Wildlife) & Chief Conservator of Wildlife Warden, Odisha, Bhubaneswar for favour of kind information and necessary action. It is requested to kindly upload the above Short Call Tender Notice and Estimate in the website of https://wildlife.odisha.gov.in as early as possible.

Divisional Forest Officer

Mangrove Forest Division (Wildlife)

Rajnagar

Memo No.

7846

/Dated.12/12/2025

Copy submitted to the Regional Chief Conservator of Forests, Bhubaneswar Circle, Bhubaneswar for favour of kind information and necessary action.

Divisional Forest Officer Mangrove Forest Division (Wildlife) Rajnagar

#### OFFICE OF THE

# DIVISIONAL FOREST OFFICER, MANGROVE FOREST DIVISION (WL), RAJNAGAR AT/P.O: Rajnagar, Dist: Kendrapara-754225, Phone: 06729-242460,

Control Room: 06729-242463, E-mail ID: dfo.rajnagarwl@odisha.gov.in

# BID IDENTIFICATION NO- DFO MFD-Construction/01/1F(Accts.)/Tender/497/ Dated.12/12/2025

# Dated, Rajnagar the 12th December, 2025

#### **Tender Call Notice**

Name of work:	Construction of Civil Works for Malkhana at Sansarphal of Rajnagar WL Range
	under Mangrove Forest Division (WL) Rajnagar during the FY-2025-26
Total No. of Works	01no.
<b>Eestimated Cost</b>	Rs. 12.41532 Lakh excluding GSTs
Period of completion	Three Calendar Months
Date of availability of bid Documents in portal and Office:	Tender Document will be available in the O/o the Divisional Forest Officer, Mangrove Forest Division (WL) Rajnagar on payment of cost of Tender Document in shape of non-refundable Bank Draft in favour of Divisional Forest Officer, Mangrove Forest Division (WL) Rajnagar payable at Rajnagar from 11.00 AM of 15.12.2025 to 5.00 PM of 29.12.2025 or download from the <a href="https://odishaforest.in">https://odishaforest.in</a> or <a href="https://forest.odisha.gov.in">https://forest.odisha.gov.in</a> & https://wildlife. disha.gov.in
Last date/time for receipt of bids	Up to 05.00 PM of 29.12.2025
Receipt of bid documents:	Through direct deposit by hand / registered post / speed post to the Divisional Forest Officer, Mangrove Forest Division (WL) Rajnagar, Kendrapara, PIN-754225 on or before 29.12.2025 by 5.00 PM
Class of Contractor:	" C " & " D" Class Contractor
Receipt of EMD:	Earnest Money Deposit (EMD) @1% of the value of the work shall be submitted along with Tender, EMD will be in the shape of Demand Draft in favour of Divisional Forest Officer, Mangrove Forest Division (WL) Rajnagar, Kendrapara. The EMD will be refunded to the unsuccessful bidder. The EMD for the successful bidder will be released only after completion and handover the work.
Date & Time of opening of Bid	At 11.30 PM of 30.12.2025
Name and address of officer inviting bid:	Divisional Forest Officer, Mangrove Forest Division (Wildlife) Rajnagar

a. Further, details can be seen from the portal https://forest.odisha.gov.in or https://odishaforest.in

b. The addendum / Corrigendum if any will be hosted in the website only.

c. The undersigned reserves the right to accept / reject any or all Tender without assigning any reason thereof.

Divisional Forest Officer
Mangrove Forest Division (Wildlife)

Rajnagar

#### OFFICE OF THE

# DIVISIONAL FOREST OFFICER, MANGROVE FOREST DIVISION (WL), RAJNAGAR AT/P.O: Rajnagar, Dist: Kendrapara-754225, Phone: 06729-242460,

Control Room: 06729-242463, E-mail ID: dfo.rajnagarwl@odisha.gov.in

# BID IDENTIFICATION NO- DFO MFD-Construction/01/1F(Accts.)/Tender/497/ Dated.12/12/2025

## Dated, Rajnagar the 12th December, 2025

#### **Tender Call Notice**

1. The Divisional Forest Officer, Mangrove Forest Division (Wildlife) Rajnagar on behalf of Governor of Odisha invites Offline mode system as detailed in the table from the class of eligible contractors as mentioned in Coloumn-05 (Five) registered with the State Govt. and contractors of equivalent Grade/ Class registered with Central Govt. / MES/ Railways for execution of Civil Works. The proof of registration from the appropriate authority shall be enclosed along with the bid. The successful bidder who has not registered under State Government has to register under the State PWD in appropriate class of eligibility before singing of the agreement.

Sl.	Name of Works	Estimated	EMD	Class of	Period of	Cost of
No.		Cost put of tender excluding GST (Rs in Lakh)	required (1% of the Bid Amount)	Contract	Completion	Tender paper (in Rs.)
1	2	3	4	5	6	7
01	Construction of Malkhana at Sansarphal of Rajnagar Wildlife Range under Mangrove Forest Division (Wildlife) Rajnagar during the FY 2025-26	1241532.00	12500.00	"C" & "D" Class	3 (Three) Calendar Months	6000.00

- 2. Bid documents consisting of plans, specifications, the schedule of quantities and the set of terms and conditions of contract and other necessary documents can be seen in the official website: portal https://forest.odisha.gov.in or https://odishaforest.in & https://wildlife.odisha.gov.in
- 3. The bidder shall deposit non-refundable Bank Draft in favour of DIVISIONAL FOREST OFFICER, MANGROVE FOREST DIVISION (WILDLIFE), RAJNAGAR towards cost of bid documents.
- 4. The Bidders shall produce DD in favour of **DIVISIONAL FOREST OFFICER**, **MANGROVE FOREST DIVISION** (WILDLIFE), **RAJNAGAR** the Earnest Money Deposit/ Bid Security of the amount.
- 5. The Bid documents will be available in the website portal https://forest.odisha.gov.in or https://odishaforest.in from 15.12.2025 to 29.12.2025 for offline bidding.
- 6. Bids shall be received only offline from 15.12.2025 at 10.00 AM to 29.12.2025 at 5.00 PM.
- 7. Bids received offline shall be opened 11.30 AM on dated. 29.12.2025 in the Office of the Divisional Forest Officer, Mangrove Forst Division (Wildlife), Rajnagar in the presence of bidders who wish to attend. Bidders who participated in the bid can witness the opening of bids.
- 8. Please submit the required documents which are clear and visible, otherwise your application will be rejected. If you are unable to furnish visible documents you may also furnish the hard copies of the required document.

- 9. Rate quoted by the contractor shall be including of GST. The GST as applicable for the work. The estimated cost is inclusive of GST and 12% profit of the contractor and all cesses and Taxes to be paid as per Government Rule from time to time for executing this category of work.
- 10. The cost of labour cess is @1% over and above the work value.
- 11. The successful bidder who has quoted less bid price/ rate less than estimated cost put to tender as per Works Dept. Govt. of Odisha Office Memorandum No. 4559 dated. 05.04.2021 (details attached in Detailed Tender Call Notice) shall have to furnish i.e. as Additional Performance security (APS) in shape of DD/TDR Pledged in favour of Divisional Forest officer, mangrove Forst Division (Wildlife), Rajnagar within 7 days from date of intimation otherwise the bid shall be cancelled & security deposit shall be forfeited further proceeding of blacklisting shall be intimated against the bidder. Rate quoted by the contractor shall be including of GST. The GST as applicable for the work. The estimated cost is inclusive of GST and 12% profit of the contractor and all cesses and Taxes to be paid as per Government Rule from time to time for executing this category of work.
- 12. Engineering contractors who are desirous to avail the facility of exemption of EMD/ISD are required to submit the scan copy of affidavit along with bid document to the effect that he / she had not yet availed the facility during current financial year as per codal provision.
- 13. The SC/ST contractors willing to avail the facilities as fixed by Govt. will submit scan copy of the affidavit for the same along with tender document; otherwise, they will not be entitled to avail such facilities.
- 14. Other details can be seen in the bidding documents.
- 15. Detailed information as contained in Detailed Tender Call Notice, shall have to be strictly adhered to while submitting the tender papers.
- 16. Any tenderer desirous to avail any facility as per certain circular/order of Government have to apply for the same in writing along with the tender paper. Claim at the time of opening of tender or later will not be entertained.
- 17. If any of the intending bidders wish to withdraw from participation in the bid. He/ She can freely withdraw from the participation before scheduled date and time of closure, failing which action as deemed fit as per relevant Codal practice will be taken against him/her.
- 18. The authority will not be held responsible for any technical problem/ failure of Network and deposit of documents.
- 19. Contractor has to submit CDMS registration failing which tender will summarily be rejected as per E.I.C (Civil) Letter No. 30613 (12) dated. 22.07.2019.
- 20. The Agency has to submit Bid Declaration as per Finance Dept. Letter No. 8943 dated. 18.03.2021 (Schedule-K).
- 21. The Addendum/ Corrigendum if any will be hosted in the website only.
- 22. The authority reserves all the rights to cancel any or all bids without assigning any reason.

### DOCUMENTS AND CHECK LIST TO BE FILED UP BY THE BIDDER

Sl.	Items of Works	Details to be filed	Remarks
No			
1	Name of Contractor with address [Block Letter)		
2	Name of the proprietor/ Partner/ Director		
3	Full Address of Registered Office Proof of Address to be furnished		
4	Address far correspondence (If other than in 3)		

5	Contact No. and E-Mail ID of Authorized Officer/Person	
6	PAN No. (please furnish document)	
7	GST details (please furnish document)	
8	Works Department License:	
9	Contractor Registration No. (please furnish document)	
10	Joint venture / (MOU) for composite building works.	
11	Experience as a contractor (Proof of experience to be enclosed work orders and Completion certificates)	
12	Company Profile:	
13	Income tax returns of the Company/ Firms for the last years (Copies)	
14	Balance sheet last three years (Copies)	
15	Aadhar Card No. (Xerox copy)	
	Tendering Cost:	

Certified that the information as above is true to be beat of my knowledge & I will be held responsible if anything to the Contrary / Adverse will be observed in future.

Full Signature of Applicant/Authorized Person

Date:

Divisional Forest Officer
Mangrove Forest Division (Wildlife)

→ Rajnagar

P.T.O

Memo No. 78 47 /1F(Accts.)/Tender/497/ Dated.12/12/2025
Copy submitted to the Chief Conservator of Forests (IT & GIS), O/o the Principal Chief Conservator of Forests, Odisha, Bhubaneswar for favour of kind information and necessary action. He is requested to upload the above Short Tender Call Notice and Estimate in the website of in the website of Principal Chief Conservator of Forests & HoFF, Odisha https://forest.odisha.gov.in or https://odishaforest.in) as early as possible.

> **Divisional Forest Officer** Mangrove Forest Division (Wildlife) Rajnagar

Memo No. 78 48 /1F(Accts.)/Tender/497/ Dated.12/12/2025
Copy submitted to the Principal Chief Conservator of Forests (Wildlife) & Chief Conservator of Wildlife Warden, Odisha, Bhubaneswar for favour of kind information and necessary action. It is requested to kindly upload the above Short Call Tender Notice and Estimate in the website of https://wildlife.odisha.gov.in as early as possible.

> **Divisional Forest Officer** Mangrove Forest Division (Wildlife) Rajnagar

Memo No. 7849 /1F(Accts.)/Tender/497/ Dated.12/12/2025
Copy submitted to the Regional Chief Conservator of Forests, Bhubaneswar Circle, Bhubaneswar for favour of kind information and necessary action.

> **Divisional Forest Officer** Mangrove Forest Division (Wildlife) Rajnagar

7850 /1F(Accts.)/Tender/497/ Dated.12/12/2025 Memo No.

Copy submitted to the Collector & District Magistrate, Kendrapara for favour of kind information and necessary action.

> **Divisional Forest Officer** Mangrove Forest Division (Wildlife) Rainagar

7851 Memo No. /1F(Accts.)/Tender/497/ Dated.12/12/2025

Copy forwarded to all Divisional Forest Officers (T & NT), Odisha for information and necessary action. It is requested to display the above said short Tender Notice in their office Notice Board.

> **Divisional Forest Officer** Mangrove Forest Division (Wildlife) Rajnagar

7852 /1F(Accts.)/Tender/497/ Dated.12/12/2025 Memo No.

Copy forwarded to the Assistant Conservator of Forests / Head Clerk of Mangrove Forest Division (Wildlife) Rajnagar for their information and necessary action.

> **Divisional Forest Officer** Mangrove Forest Division (Wildlife) Rajnagar

P.T.O

Memo No. 7853 /1F(Accts.)/Tender/497/ Dated.12/12/2025 Copy forwarded to the Assistant Conservator of Forests, I/c- Kanika Wildlife Range & all Range Officers, Mangrove Forest Division (Wildlife) Rajnagar for information and necessary action. They are instructed to display the said short Tender Notice in their Office Notice Board.

> **Divisional Forest Officer Mangrove Forest Division (Wildlife)** -Rajnagar

Copy to Notice Board & Website.

# GOVT. OF ODISHA FOREST, ENVERONMENT & CLIMATE CHANGE DEPARTMENT



# MANGROVE FOREST DIVISION(WL) RAJNAGAR **DIST - KENDRAPADA**

Name of the work :-

Details estimate for Construction of Malkhana at Sansaraphal under Rajnagar W L Range,

Dist- Kendrapada

Estimated Cost:

Rs.

15,00,000.00

Rupees (Fifteen Lakhs)Only

Agency

Forest Range Officer, Rajnagar WL Range

Year

22-2406-Forestry & WL-programme-Expenditure -state sector scheme -02-Environmental Forestry % WL preservation -3128-

wildlife protection & Conservation measure -20002--other

Scheme :

charges

## REPORT:

Name of the work: Details estimate for Construction of Malkhana at Sansariphal under Rajnagar W L

Range, Dist-Kendrapada

Estimated Cost

Rs.

15,00,000.00

Rupees (Fifteen Lakhs )Only

Year

2024-25

In this estimate, necessary RCC frame structure has been adopted for the buildings using standard specifications, following provisions has been provided in this estimate.

- 1 RCC frame structure has been adopted
- 2 RCC M20 grade concrete as per IS 456 2000
- 3 Fly ash Bricks massory work in C.M(1:6) for Foundation and Plinth
- 4 Fly ash Bricks in C.M(1:6) for superstructure
- 5 MS reinforcement of grade Fe415
- 12mm CP in cm (1:6) for outside, 16mm cp in cm(1:6) for inside and 6mm CP in cm(1:4) with close deep chipping for RCC work
- 7 inside wall finished with 2 coat plastic paint over Arcelic wall putty, where as outside wall finished with weather coat paint.
- 8 MS grill finished with 2 coat enamel paint over 1 coat red oxide primer

This estimate is prepared basing upon Analysis of Rates 2006, Schedule of Rates 2022 and prevailing labour rates of Vide Lr. No. - 6202/ LC, /30.04.2025 of Labour Department. Overhead charges and Contractor's profit have been added as per Works Department OM No 7317, dt 05.07.2013. There is a provision of 1% Labour cess of the total project cost and 1.50% for preparation of Plan ,Structural Design Drawing & Prepairation of estimate has to be paid to M/S Madhusmita Design & Engineers Studio, Nageswar Tangi, Bhubaneswar towars the consultancy fees. Contigency (L.S) also has been provided in this estimate to meet expenditure of the unforeseen items that may be required during execution of the work. In the estimate the lead of the minour minerials i. e stone product, Sand has been provided as per the qurry site mentioned by the Collector and District Magistrate, Kendrapada vide his office letter No. -2464 Dated -05.09.2023. also there is 18%(9% CGST & 9% SGST) of the project cost has been provided towards GST component of the work. The work will be executed through e- tender process and as per the OPWD codal procedures along with guidelines issued by higher authorities from time to time.

prepared by

Bun

Er.PREM PRAKASH SAHU C Eng(I)
M. Tech. (Structural Engg.)
143, Nageswartangi, Bhubaneswar-2
Membership No.- AM1917156
The Institution of Engineers (I)

ON request

Asst Executive Engineer R.W.Sub.Dvn.Rajnagar

General	Abstract	of	cost	for	Construction	of	Malkhana	at	Sansariphal
under Ra	ajnagar W	LI	Range	, Di	st- Kendrapada	a			

SI.		DESCRIPTION			AMOUNT
···		DESCRIPTION			(Rs.)
1	PART-A ( Civil wo	k)		Rs.	11 ,76 ,134.54
2	PART(B) - Internal electrification			Rs.	65,397.03
3			Sub Total (A)	Rs.	12 ,41 ,532.00
4			Sub Total (A)	Rs.	12 ,41 ,532.00
5	Add CGST	9.00%		Rs.	1 ,11 ,738.00
6	Add SGST	9.00%		Rs.	1 ,11 ,738.00
7			Sub Total (B)	Rs.	14 ,65 ,008.00
8	Consultancy fees 1.	50%		Rs.	21,975.00
9	Add Works Contige	ncy		Rs.	13,017.00
10			Grand Total (C)	Rs.	15 ,00 ,000.00

Rupees (Fifteen Lakhs )Only

Er.PREM PRAKASH SAHU C Eng(I) M. Tech. (Structural Engg.)

143, Nageswartangi, Bhubaneswar-2 Membership No.- AM1917156 The Institution of Engineers (I)

Asst Executive Engineer
R.W.Sub.Dvn.Rajnagar

Oran

ASSLConservator & Corests Mangrove Forest Division W.L. RAINAGAR

Divisional Forest Officer Mangrove Forest Division (Wildlife)

Rajnagar

Abstract of cost for Construction of Malkhana at Sansariphal under Rajnagar W L
Range , Dist- Kendrapada

SI.	DESCRIPTION		UNIT	RATE	AMOUNT	
	DESCRIPTION .	QTY	Civil	NAIL	(Rs.)	
	PART-A ( Civil work )					
1	Foundation excavation in Earth work in hard soil within 50m. Initial lead and 1.5m initial lift including rough dressing and breaking clods to maximum 5cm to 7cm and laying in layer not exceeding 0.3m in depth and as per specification approved by the department etc. complete.etc. complete as per direction of Engg-in-Charge.	33,840	Cum.	276.89	9,369.96	
2	Filling foundation and plinth with sand and well watered and rammed including cost, conveyance and royalty etc complete as per direction of Enggin-Charge.	49.550	Cum.	1,121.45	55,567.8	
3	Cement concrete (1:3:6)with 40mm size CBHG metal including cost, conveyance and royalty etc. complete as per direction of Enggin-Charge.	14.690	Cum.	6,903.69	1,01,415.2	
4	Cement Concrete (1:2:4) with 12 mm size broken hard granite chips for R.C.C. works including hoisting and laying etc. complete as per direction of Engg-in-Charge.	4.980	Cum.	9,221.02	45,920.6	
5	Fly Ash Brick masonry in c.m. 1:6 in F & P including cost, conveyance and royalty of materials curing etc. complete. as per the direction of the Engineer-in-charge.	7.820	Cum.	5,613.72	43,899.2	
6	Ist class Fly Ash brick masonry work in superstructure thoroughly soaked in water, with cement mortar (1:6) including scaffoldings ,racking out joints, curing etc complete as per specification/drawing and as per the direction of the Engineer-in-charge.					
7	(i) Ground Floor Providing and Laying reinforcement Cement concrete (M- 20) with 20 mm and down graded chips including cost all materials,labours,T & P,curing etc complete (excluding the cost of reinforcement & Centering, shuttering) as per direction of Engineer-in-charge.	14.260	Cum.	5,647.05	80,526.93	

SI.		DESCRIPTION		UNIT	RATE	AMOUNT	
JI.		DESCRIPTION	QTY	Olen	KAIE	(Rs.)	
	0	Ground Floor	6.260	Cum.	7,372.93	46,154.54	
	(b)	Plinth Beam					
	0	Ground	3.400	Cum.	8,247.83	28,042,62	
	(c)	Beam & Column					
	(i)	Ground Floor	3.080	Cum.	16,625.82	51,207.53	
	(d)	65mm avg. Chajja					
	(1)	Ground Floor	9.000	Sqm.	1,275.61	11,480.49	
	(e)	Roof Slab					
	0	Ground Floor	8.610	Cum.	14,459.38	1 ,24 ,495.26	
	(f)	Lintel					
	0	Ground Floor	1.160	Cum.	15,027.12	17,431.46	
- 1	Eng	t of binding wire 18 to 20 gauge as per direction of gin-Charge.					
	(1)	Ground Floor	24.150	QtI	9,065.07	2 ,18 ,921.44	
	nece	am cement plaster in cement mortar (1:6)including essary scaffolding curing etc. as per direction of gin-Charge.					
	(1)	Ground Floor	146.010	Sqm	195,30	28,515.75	
1	inch	m thick cement plaster in cement mortar (1:6) uding necessary scaffolding curing etc. as per ction of Enggin-Charge.				20,010.10	
		Ground Floor	79.020	Sqm	280.68	22,179.33	
	inclu	n.thick cement plaster with C.M(1:4) to RCC surface uding closed deep chipping and slury treatment etc. plete as per direction of Enggin-Charge.					
	**	Ground Floor	79.240	Sqm	215.08	17,042.94	
100 400	size IS:13 fillin inclu	ng colour Vitrified tiles in floors (Printed Series) of 600mm x600 mm of approved make conforming 3755 laid on 20 mm thick cement mortar (1:4)and g joints with white cement of approved quality ading cost of all materials, labour T&P etc rrequired the work all completeas per direction of Engineer-in-					

SI.	DESCRIPTION		UNIT	RATE	AMOUNT	
	DESCRIPTION	QTY	UNII	KAIE	(Rs.)	
	(i) Ground Floor	50.000	Sqm	1,191.36	59,568.0	
13	Fixing Vitrified tiles in dados (Printed Series) skirting and risers of stepson 12 mm thick cement plaster(1:3) jointed with neat cement slurry mixed with pigments to matche shade of the tiles including rubbing and polishing complete as per direction of Engineer-incharge.					
	(i) Ground Floor	4.500	Sqm	1,801.27	8,105,72	
14	Supply ,Fixing Vitrified industrial Tile of premium grade having thickness 8mm to 10mm conforming to IS 4457 of size 300mmx300mm in floors,treads or steps and landings on 25 mm thick CM (1:1) jointed with neat cement slurry mixed with pigments to match the shades includind cost for rubbing, polishing & cost of marbel tiles etc. complete as per direction of Engg-in-Charge.					
	(i) Ground Floor	6.200	Sqm	1,314,92	8,152,50	
15.	Wall Priming one coats on new work with wall water bound primer of approved shade as per direction of Engg-in-Charge.					
	(i) Ground Floor	299.770	Sqm	77.91	23,355.08	
16.	Wall painting two coats on new work with Distemper of approved shade etc. complete as per direction of Engg-				25,555.55	
	(i) Ground Floor	138.520	Sqm	90.65	12,556.84	
17.	Wall painting two coats on new work with Weather coat paint of approved shade as per direction of Enggin-Charge.					
	(i) Ground Floor	161.250	Sqm	98.05	15,811.05	
	Supplying and fixing of steel M.S. grill with all fitting and fixtures including cost of cutting holes in the brick masonry and R.C.C. columns and making good to damage etc, as per direction of Engineer -in -charge.					
	(i) Ground	549.000	Kg.	175.12	96,140.88	
	Eamel Painting two coats with enamel paint over one coat of primer of approved quality etc. complete as per direction of Engg-in-Charge.					
	(i) Ground Floor	25.380	Sqm	269.05	6,828,49	
	20mm. thick grading plaster in c.m. 1:4 over roof slab and chujja including cost conveyance and royality of materials curing etc. complete as per direction of Enggin-Charge.					

SI.	DESCRIPTION	QTY	UNIT	RATE	AMOUNT
	DESCRIPTION .	qir	ONII	KAIE	(Rs.)
	(i) Ground Floor	68.910	Sqm	304.60	20,989.66
21	Supplying, fitting and fixing of two Track U window of approved make with 6mm this approved quality complete with frame, shuffitting and fixtures etc. complete as per Engg-in-Charge.  as per SR-2022, Page No235, SI. No12	ck glass of tters and all			
	(i) All Floors	2.990	Sqm.	4,960.97	14,833.30
22	Supplying, fitting and fixing of 5.5 mm thick Aluminum jally in windows as single grogrove and tapered clip as horizontal amembers for fixing of aluminum jally and jo conforming to standard Aluminium se complete etc. complete as per direction Charge.  as per SR-2022, Page No234, SI. No10	ove, double and vertical inting angle ctions etc.			
	(i) All Floors	4.140	Sqm.	1,841.00	7,621.74
		Subtotal	(A)	Rs.	11 ,76 ,134.54



Er.PREM PRAKASH SAHU C Eng(I)
M. Tech. (Structural Engg.)
143, Nageswartangi, Bhubaneswar-2
Membership No. - AM1917156
The Institution of Engineers (I)

Sales 35-25

Asst Executive Engineer R.W.Sub.Dvn.Rajnagar

SI.	DESCRIPTION	QTY	UNIT	RATE	AMOUNT
-	DESCRIPTION .	QII	UNII	KAIE	(Rs.)
	PART(B) - Internal electrifica	ition			
23	Recessed wiring to light point / fan point / exhaust fan point / call bell point with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non-metalic PVC flexible conduit with 5 Amp, 250 V modular type switch ISI marked and ceiling rose ISI marked mounted on MS box having front modular cover of suitable size, MS modular box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accesories and connection as per direction of Engineer in Charge. (Make of wire Finolex / L&T / Anchor / Havels / V Guard)				
	i Group-A	5.000	Point	553.08	2,765.40
	ii Group-B	5.000	Point	851.27	4,256.35
	iii Group-C	5.000	Point	1,230,25	6,151,25
24	Supplying and fixing of following MODULAR type Bell push on the existing switch box / cover including connections etc as required. as per direction of Engineer in Charge. ( Make of wire Finolex / L&T / Anchor / Havels / V Guard )				
	all floor	1.000	Point	137.86	137.86
25	Recessed wiring to submain in 2 x 2.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia non-metalic heavy duty flexible conduit 1.6 mm thick along with 1 x 1.5 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard)				
	all floor	25.000	mt	173.23	4,330,75

SI.	DESCRIPTION	QTY	UNIT	RATE	AMOUNT
		QII	UNIT	KAIE	(Rs.)
26	Recessed wiring to submain in 2 x 4 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia non-metalic heavy duty flexible conduit 1.6 mm thick along with 1 x 1.5 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard)				
	Ground Floor + 1st Floor+ 2nd Floor	30.000	mt	190.60	5,718.00
27	Recessed wiring to submain in 2 x 6 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia non-metalic heavy duty flexible conduit 1.6 mm thick along with 1 x 2.5 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard)				
	all floor	6.000	mt	221.68	1,330.08
28	Supply and fixing of 3 no.sof 3pin 5/6 amp modular socket and S.P. 5/6 amp one way modular switch, 1 no. of 5 pin 15/16 socket out let and S.P. 15/16 A one way modular switch on Modular G.I. Box with Modular Base and cover (Make of wire Finolex/L&T/Anchor/Havels/V Guard)				
	all floor	2.000	Point	1,619.35	3,238.70
29	Supply and fixing of 3 pin 6Amp plug with 6Amp switch on existing board (Modular type ).(Make of wire Finolex/L&T/Anchor/Havels/V Guard)			1,010.00	3,230.70
	all floor	10.000	Point	244.00	2,440.00
	Supply and fixing of following way single pole and neutral, sheet steel, MCB distribution board consumer unit, 240 V on surface / recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, hinged front acrylic covr for the MCB knobs detachable gland plate, interconnections, phosphatized and powder painted including earthing etc. as required (But with out MCB / RCCB / Isolator) -				
1					

SI.	DESCRIPTION	QTY	UNIT	RATE	AMOUNT
		QII	UNII	KAIE	(Rs.)
31	Supply and fixing of 5Amp to 32A rating 240V "B/C"				
	series MCB suitable for lighting and other loads of the				
	following poles in the exiting MCB DB ISI marked				
	complete with connections testing and commissioning				
	etc. as required.(make-HPL/ Havells/ Legrand /L&T/C&S)				
	all floor	12.000	No	144,47	1,733.64
32	Earthing with G.I earth pipe 3 meter long 40 mm dia ISI				
	marked including accessories and providing masonary				
	enclosure with cover plate having locking arrangment				
	and watering pipe etc with charcoal and salt as				
	required.(make-HPL/ Havells/ Legrand /L&T/C&S)				
	all floor	1.000	No	2,809.54	2,809.54
33	S/F of 1200mm High Speed Ceiling fan Alluminium Body,				
	Copper winding, High speed ceiling fan (Make-Crompton				
	Model-Riviera High Speed, Polycab Model-Vital, Polar				
	Model-Winpro) etc.				
	all floor	3,000	No	2,622.04	7,866.12
34	Supplying and fixing of Stepped type modular fan				
	regulator on existing switch box / cover including				
	connections etc as required.(make-				
	Anchor/cona/Havels/Polycab etc.)				
	all floor	3.000	No	305.43	040.00
35	S/F of 8" PLASTIC VENTILLATING FAN exhaust fan	3.000	140	303.43	916.29
	(Make-Crompton Model-Jura, Polycab Model-Vital, Polar				
	Model-Winpro) etc.				
	all floor	2.000		0.404.44	
36	S/F of 1x18 Watt LED T-5 fitting(Make-	2.000	No	2,424.14	4,848.28
	Crompton/Philips/Havells/Bajaj)				
	all floor	8.000	No	900.00	7,200.00
37	MV cable laying up to 10 sq.mm 2core on surface	0.000	,,,,	500.00	7,200.00
	Laying and fixing of one number of PVC insulated and				
	PVC seathed / XLPE power cable of 1.1 KV grade of size				
- 1	not exceeding 20 sq.mm on surface as required.				
- 1		- 1			

SI.	DESCRIPTION	QTY	UNIT	RATE	AMOUNT
-		411		KAIL	(Rs.)
	S/F of 18 Watt LED Square surface mount fitting (Make- Havells/Philips/C&S/Crompton) as requred.	4.000	Each	1,244.51	4,978.04
39	Supply, Installation, Testing, and Commissioning of 63 Amp TPN Main switches of following capacity (IS 13940 Part 3/1993 ) on existing surface / wall mountnting and complete with HRC Fuse links, interconnections, earthing, etc. as required as per direction of Engineer in Charge. Make SEIMENS/HPL/ ANCHOR/L&T/ HAVELS/C & S/ RK	1.000	each	937.14	937.14
	S	ubtotal	(B)	Rs.	65,397.03



Er.PREM PRAKASH SAHU C Eng(I)
M. Tech. (Structural Engg.)
143, Nageswartangi, Bhubaneswar-2
Membership No.- AM1917156
The Institution of Engineers (I)

# Details Estimate for Construction of Malkhana at Sansariphal under Rajnagar W L Range , Dist- Kendrapada

			PART-	A ( Civil w	ork)			
	(Center line Method)							
	a Ground Floor							
	horizontal line	4 x	5.250m	=	21.000m			
	Vertical line	2 x	10.250m	=	20.500m			
				.=	41.500m			
	Outside Wall	2 x	5.250m	=	10.500m			
		2 x	10.250m	=				
1	Foundation excavation	n in Fart	h work in har	= rd soil within	31.000m			
	50m. Initial lead and							
	dressing and breaking							
	and laying in layer no							
	per specification ap							
	complete.etc. complete.etc.							
	outside F &P	1 x	31,000 m, x	0,600 m, x	0.600m =	11,160	Cum.	
	Footing F1	8 x	1.500 m. x	1.500 m. x	1.500m =	27.000	Cum.	
	Total N							
		us. o						
	Deduction							
	Footing F1	8 x	1.500 m. x	0.600 m. x	0.600m =	-4.320	Cum.	
					Total -	22.242		
					Total =	33.840		
2	Filling foundation and	plinth w	ith sand and	well watered			=	33.840 Cum.
	and rammed including			a Janey Geo				
	and rammed including		ngg _in_Chara					
	complete as per direction outside F &P	tion of E	170		0.150m =	2 700	Cur	
	complete as per direc		31.000 m. x	0.600 m. x		2.790		
	complete as per direct outside F &P	tion of E	170		0.150m = 0.150m =	2.790 2.700		
	complete as per direct outside F &P Footing F1	tion of E	31.000 m. x 1.500 m. x	0.600 m. x			Cum.	

	CC Road	1 x	9.200 m. x	3.600 m. x	0.100m =	3.310	Cum.	
	<u>Deduction</u>							
	Footing F1	8 x	1.500 m. x	0.600 m. x	0.150m =	-1.080	Cum.	
					Total =	49.550	Cum.	
							=	49.550 Cum.
	Cement concrete (1:3:							
	including cost, convey			c. complete				
	as per direction of Engg		Vitaria inclusione con es					
	outside F &P	1 x	31.000 m. x	0.600 m. x	0.150m =	2.790	Cum.	
	Footing F1	8 x	1.500 m. x	1.500 m. x	0.150m =	2.700	Cum.	
	Add for flooring							
	Godown	1 x	5.000 m. x	10.000 m. x	0.125m =	6.250	Cum.	
	Entry	1 x	3.300 m. x	1.750 m. x	0.125m =	0.720	Cum.	
	CC Road	1 x	9.200 m. x	3.600 m. x	0.100m =	3.310	Cum.	
	Deduction							
	Footing F1	8 x	1.500 m. x	0.600 m. x	0.150m =	-1.080	Cum.	
					Total =	14,690	Cum.	
	Compart Consents 14.7.4	\*41.	40		Total =	14.690	Cum. =	14.690 Cum.
	Cement Concrete (1:2:4			oroken hard	Total =	14.690		14.690 Cum.
	granite chips for R.C.C	. work	s including h	oroken hard oisting and	Total =	14.690		14.690 Cum.
		. work	s including h	oroken hard oisting and	Total =	14.690		14.690 Cum.
	granite chips for R.C.C	. work	s including h	oroken hard oisting and g-in-Charge			=	14.690 Cum.
	granite chips for R.C.C laying etc. complete as Floor	. work per dii 1 x	s including h rection of Eng 5.000 m. x	oroken hard oisting and g-in-Charge	0.050m =	2.500	= Cum.	14.690 Cum.
	granite chips for R.C.C laying etc. complete as	. work per di	s including h	oroken hard oisting and g-in-Charge			= Cum.	14.690 Cum.
	granite chips for R.C.C laying etc. complete as Floor	. work per dii 1 x	s including h rection of Eng 5.000 m. x	oroken hard poisting and g-in-Charge 10.000 m. x 3.600 m. x	0.050m =	2.500	= Cum. Cum.	14.690 Cum.
	granite chips for R.C.C laying etc. complete as Floor CC Road	. work per dii 1 x 1 x	s including h rection of Eng 5.000 m. x 9.200 m. x	oroken hard loisting and g-in-Charge 10.000 m. x 3.600 m. x	0.050m = 0.075m =	2.500 2.480	= Cum. Cum.	14.690 Cum.
5 1	granite chips for R.C.C laying etc. complete as  Floor  CC Road  Fly Ash Brick masonry	1 x 1 x in c.m	s including herection of Eng 5.000 m. x 9.200 m. x	oroken hard loisting and g-in-Charge 10.000 m. x 3.600 m. x	0.050m = 0.075m =	2.500 2.480	Cum. Cum. Cum.	
5 1	granite chips for R.C.C laying etc. complete as Floor CC Road	1 x 1 x 1 x	5.000 m. x 9.200 m. x	oroken hard oisting and g-in-Charge 10.000 m. x 3.600 m. x	0.050m = 0.075m =	2.500 2.480	Cum. Cum. Cum.	
5 1	granite chips for R.C.C laying etc. complete as  Floor CC Road  Fly Ash Brick masonry cost, conveyance and recomplete. as per the	1 x 1 x 1 x	5.000 m. x 9.200 m. x	oroken hard oisting and g-in-Charge 10.000 m. x 3.600 m. x	0.050m = 0.075m =	2.500 2.480 4.980	Cum. Cum. Cum.	
5 1	granite chips for R.C.C laying etc. complete as  Floor CC Road  Fly Ash Brick masonry cost,conveyance and re complete. as per the charge.	1 x 1 x 1 x in c.m oyalty direct	5.000 m. x 9.200 m. x 1.1:6 in F & F of materials	oroken hard loisting and g-in-Charge 10.000 m. x 3.600 m. x including curing etc. Engineer-in-	0.050m = 0.075m = Total =	2.500 2.480 4.980	Cum. Cum.	
5 1	granite chips for R.C.C laying etc. complete as  Floor CC Road  Fly Ash Brick masonry cost, conveyance and recomplete. as per the charge.  1st Footing-out side 2nd Footing-out side	1 x 1 x in c.m oyalty direct	5.000 m. x 9.200 m. x 1:6 in F & F of materials ion of the E 31.000 m. x	oroken hard oisting and g-in-Charge 10.000 m. x 3.600 m. x including curing etc. Engineer-in- 0.375 m. x 0.250 m. x	0.050m = 0.075m = Total = 0.250m = 0.250m =	2.500 2.480 4.980 2.900 1.930	Cum. Cum.  Cum.	
5 1	granite chips for R.C.C laying etc. complete as  Floor CC Road  Fly Ash Brick masonry cost,conveyance and re complete. as per the charge.  1st Footing-out side 2nd Footing-out side GL to PL all	1 x 1 x 1 x in c.m oyalty direct	5.000 m. x 9.200 m. x 1:6 in F & F of materials ion of the E	oroken hard loisting and g-in-Charge 10.000 m. x 3.600 m. x including curing etc. Engineer-in-	0.050m = 0.075m = Total =	2.500 2.480 4.980	Cum. Cum.  Cum.	
5 1	granite chips for R.C.C laying etc. complete as  Floor CC Road  Fly Ash Brick masonry cost, conveyance and recomplete. as per the charge.  1st Footing-out side 2nd Footing-out side	1 x 1 x in c.m oyalty direct	5.000 m. x 9.200 m. x 1:6 in F & F of materials ion of the E 31.000 m. x	oroken hard oisting and g-in-Charge 10.000 m. x 3.600 m. x including curing etc. Engineer-in- 0.375 m. x 0.250 m. x	0.050m = 0.075m = Total = 0.250m = 0.250m =	2.500 2.480 4.980 2.900 1.930	Cum. Cum. Cum. Cum. Cum. Cum. Cum.	
5 1	granite chips for R.C.C laying etc. complete as  Floor CC Road  Fly Ash Brick masonry cost,conveyance and re complete. as per the charge.  1st Footing-out side 2nd Footing-out side GL to PL all Step	1 x 1 x in c.moyalty direct	5.000 m. x 9.200 m. x 9.200 m. x 1:6 in F & F of materials tion of the E 31.000 m. x 41.500 m. x	oroken hard oisting and g-in-Charge 10.000 m. x 3.600 m. x including curing etc. Engineer-in- 0.375 m. x 0.250 m. x	0.050m = 0.075m = Total = 0.250m = 0.250m = 0.250m =	2.500 2.480 4.980 2.900 1.930 2.590	Cum. Cum. Cum. Cum. Cum. Cum. Cum.	
5 !	granite chips for R.C.C laying etc. complete as  Floor CC Road  Fly Ash Brick masonry cost,conveyance and re complete. as per the charge.  1st Footing-out side 2nd Footing-out side GL to PL all Step 1st Footing	1 x 1 x in c.m oyalty direct 1 x 1 x 1 x	5.000 m. x 9.200 m. x 9.200 m. x 1:6 in F & F of materials tion of the F 31.000 m. x 41.500 m. x 3.000 m. x	oroken hard oisting and g-in-Charge  10.000 m. x 3.600 m. x  including curing etc. ingineer-in- 0.375 m. x 0.250 m. x 0.250 m. x	0.050m = 0.075m = Total = 0.250m = 0.250m = 0.250m =	2.500 2.480 4.980 2.900 1.930 2.590 0.540	Cum. Cum. Cum. Cum. Cum. Cum. Cum. Cum.	

		at column	8 x	0.450 m. x	0.300 m. x	0.750m =	-0.810 Cum.	
						Total =	7.820 Cum.	7.820 Cum.
6	lst	class Fly Ash brid	k masonr	y work in sup	perstructure			
	the	proughly soaked in	n water, v	with cement	mortar (1:6)			
	inc	cluding scaffolding	gs ,rackin	g out joints,	curing etc			
	co	mplete as per spe	cification	drawing and	as per the			
	dir	ection of the Engir	eer-in-ch	arge.				
	a	<b>Ground Floor</b>						
		250mm wall						
		horizontal line	2 x	5.250m	=	10.500m		
		Vertical line	2 x	10.250m	=	20.500m		
						04.000		
		250mm wall	1 x	31.000 m. x	0.250 m. x	31.000m 2.750m =	21,310 Cum.	
		windows box	2 x	1.350 m. x	0.075 m. x	1.350m =	0.270 Cum.	
		Deduction (-)		1.000 III. X	0.070 III. X	1,550111-	0.270 Cum.	
		Columns C1	8 x	0.300 m. x	0.375 m. x	2 750	2.470.0	
		Deduction (-)	0 1	0.300 III. X	0.373 III. X	2.750m =	-2.470 Cum.	
		Shutter	1 x	3.000 m. x	0.250 m. x	2.400m =	-1.800 Cum.	
		W1	2 x	1.200 m. x	0.250 m. x	1.350m =	-0.810 Cum.	
		V	8 x	1.200 m. x	0.250 m. x	0.450m =	-1.080 Cum.	
		Lintel			0.200 III. X			
						=	-1.160 Cum.	
						Net	14.260 Cum.	
_	_						=	14.260 Cum.
•	(M- cos (ex	oviding and Laying 20) with 20 mm a st all materials,lak cluding the cost attering) as per dire Ground floor	and down oours,T & of reinf	graded chips P,curing etcorcement &	s including c complete Centering,			
	(i)	Column Base						
		Footing F1	8 x	1.500 m. x	1.500 m. x	0.300m =	5.400 Cum.	
		Pedestal						
		Footing F1	8 x	0.600 m. x	0.600 m. x	0.300m =	0.860 Cum.	
	(ii)	Plinth Beam / Tie	Beam at (	GL		Total=	6.260 Cum.	6.260 Cum.
		X axis	4 x	6.250 m. x	0.250 m. x	0.300m =	1.870 Cum.	

				1 aye 4				
	Y -axis	2 x	10.250 m. x	0.250 m. x	0.300m =	1.530	Cum.	
					-	3.400	Cum.	3.400 Cum.
(iii)	Column & Beam							
a	Ground floor upto plinth							
	C1 plinth to roof	8 x	0.300 m. x	0.375 m. x	1.650m =	1.480	Cum.	
	C1	8 x	0.300 m. x	0.375 m. x	2.750m =	2.470	Cum.	
	Total Nos.	8 x						
	Roof Beam							
	x axis	4 x	6.250 m. x	0.250 m. x	0.300m =	1.870	Cum.	
	Y axis	2 x	10.250 m. x	0.250 m. x	0.250m =	1.280	Cum.	
	Deduction :-							
	common at lintel	8 x	0.250 m. x	0.250 m. x	0.150m =	-0.070	Cum.	
					Total =	3.080	Cum.	
(iv)	65mm avg, Chajja / \	Mindo	we soal				=	3.080 Cum.
a	Ground Floor	viniae	WS SCAL					
	Chajja							
	W1	2 x	1 x	1,500 m, x	0.300m =	0.000	Carr	
	V	8 x	1 x				Sqm.	
		OX	1 X	1.500 m. x	0.300m =	3.600	Sqm.	
	Windows seal							
	W1	2 x	1 x	1.500 m. x	0.300m =	0.900	Sqm.	
	V	8 x	1 x	1.500 m. x	0.300m =	3.600	Sqm.	
					-	9.000	Sqm.	
6.3							=	9.000 Sqm.
(v) a	Roof Slab Ground floor							
a	Roof Slab	1	5.800 m x	10.800 m. x	0.125m =	7 930	Cum.	
	Entry	1	3,300 m. x				Cum.	
					Net Total=		Cum.	
					NOT TOTAL	0.010	=	8.610 Cum.
(vi)	Lintel							
а	Ground Floor							
	Lintel-250mm wall	1 x	31.000 m. x	0.250 m. x	0.150m =	1.160	Cum.	

						Total =	1.160 Cum.	
							=	1.160 Cum.
8	Sup	oplying, fitting	and placin	ig uncoate	ed HYSD bar			
	rein	forcement comp	olete in p	roper posi	tion including			
	cos	t of binding wire	18 to 20 g	gauge as p	er direction of			
		gin-Charge.						
	a	Ground floor						
		<u> </u>				No 22 241		
	(i)	Column Base			6.26Cum.x	#0.80 Qtl/ Cum	5.000 qtl	
	(ii)	Tie Beam			3.40Cum.x	# 1.20 Qtl/Cum	4.080 qtl	
	(iii)	Column & Beam			3.08Cum.x	# 1.76 Qtl/Cum	5.420 qtl	
	(iv)	Chajja			0.58Cum.x	#0.90 Qtl/Cum	0.520 qtl	
	(v)	Roof Slab			8.61Cum.x	#0.90 Qtl/Cum	7.740 qtl	
	(vi)	Lintel			1.16Cum.x	#1.20 Qtl/Cum	1.390 qtl	
		1	.05 %		23.09Cum.x	Cum.	24.150 qtl	24.150 Qtl.
9	12m	im cement plaste	er in ceme	ent mortar	(1:6)including			
	nec	essary scaffoldir	ng curing	etc. as pe	r direction of			
	Eng	gin-Charge.						
	a	Ground floor Out side wall						
			2 x	1 x	5.500 m. x	3.925m =	43.170 Sqm.	
			2 x	1 x	10.500 m. x	3.925m =	82.420 Sqm.	
		Entry	2 x	2 x	2.000 m. x	3.925m =	31.400 Sqm.	
		Deduction						
		Shutter	1 x	1.00 x	3.000 m. x	2.400m =	-7.200 Sqm.	
		W1	2 x	0.50 x	1.200 m. x	1.350m =	-1.620 Sqm.	
		V	8 x	0.50 x	1.200 m. x	0.450m =	-2.160 Sqm.	
							146.010 Sqm.	

10 16mm thick cement plaster in cement mortar (1:6) including necessary scaffolding curing etc. as per

146,010 Sqm.

direction of Engg.-in-Charge.

a Ground floor

Inside					
Godown	1 x	2 x	5,000 m. x	3.000m =	30.000 Sqm.
	1 x	2 x	10.000 m. x	3.000m =	60.000 Sqm.
Deduction					
Shutter	1 x	1.00 x	3.000 m. x	2.400m =	-7.200 Sqm.
W1	2 x	0.50 x	1.200 m. x	1.350m =	-1.620 Sqm.
V	8 x	0.50 x	1.200 m. x	0.450m =	-2.160 Sqm.
					79.020 Sqm.

79.020 Sqm.

- 11 6mm.thick cement plaster with C.M(1:4) to RCC surface including closed deep chipping and slury treatment etc. complete as per direction of Engg.-in-Charge.
  - **Ground floor**

#### Ceiling & RCC work

## Inside work

Godown	1 x	1 x	5.000 m. x	10.000m =	50.000	Sqm.
Beam side	2 x	2 x	5.000 m. x	0.450m =	9.000	Sqm.
Beam side	1 x	2 x	10.000 m. x	0.250m =	5.000	Sqm.

64.000 Sqm.

## **Outside work**

Chajja, Projections & Portico

					15.240	Sqm.
V	8 x	2 x	1.200 m. x	0.300m =	5.760	Sqm.
W1	2 x	2 x	1.200 m. x	0.600m =	2.880	Sqm.
Entry slab	1 x	1 x	3.300 m. x	2.000m =	6.600	Sqm.

79.240 Sqm.

79.240 Sqm.

12 Fixing colour Vitrified tiles in floors (Printed Series) of size 600mm x600 mm of approved make conforming IS:13755 laid on 20 mm thick cement mortar (1:4)and filling joints with white cement of approved quality including cost of all materials, labour T&P etc rrequired for the work all completeas per direction of Engineer-incharne.

#### **Ground floor**

Godown 1 x 5.000 m. x 10.000m = 1 x 50.000 Sqm.

50.000 Sqm.

50.000 Sqm.

13 Fixing Vitrified tiles in dados (Printed Series) skirting and risers of stepson 12 mm thick cement plaster(1:3) jointed with neat cement slurry mixed with pigments to matche shade of the tiles including rubbing and polishing complete as per direction of Engineer-incharge.

#### a Ground floor

Godown

1x 1x

30.000 m. x 0.150m =

4.500 Sgm.

4.500 Sqm.

= 4.500 Sqm.

14 Supply ,Fixing Vitrified industrial Tile of premium grade having thickness 8mm to 10mm conforming to IS 4457 of size 300mmx300mm in floors,treads or steps and landings on 25 mm thick CM (1:1) jointed with neat cement slurry mixed with pigments to match the shades includind cost for rubbing, polishing & cost of marbel tiles etc. complete as per direction of Engg-in-Charge.

#### a Ground floor

Entry

1 x

1 x

3.100 m. x 2.000m =

6.200 Sqm.

6.200 Sqm.

= 6.200 Sgm.

15 Wall Priming one coats on new work with wall water bound primer of approved shade as per direction of Engg-in-Charge.

## a Ground floor

Same as 12 mm cement plaster

= 146.010 Sgm.

Same as 16 mm cement plaster

79,020 Sam.

Same as 6 mm cement plaster

= 79.240 Sqm.

Deduction:-

Same as dados of vitrified

= -4.500 Sqm.

Total =

299.770 Sqm.

299.770 Sqm.

16	Wall painting two coats on new work with Distemper of						
	approved shade etc. complete as per direction of Engg-						
	in-Charge .						

#### a Ground floor

Same as 16 mm inside cement plaster = 79.020 Sqm.

Same as 6 mm inside cement plaster = 64.000 Sqm.

Deduction:-

Same as dados of vitrified item -4,500 Sqm.

Total = 138.520 Sqm.

= 138.520 Sqm.

17 Wall painting two coats on new work with Weather coat paint of approved shade as per direction of Engg.-in-Charge.

#### a Ground floor

Same as 12 mm outside cement plaster = 146.010 Sqm.

Same as 6 mm cement plaster out side = 15.240 Sqm.

Total = 161.250 Sqm.

= 161.250 Sqm.

18 Supplying and fixing of steel M.S. grill with all fitting and fixtures including cost of cutting holes in the brick masonry and R.C.C. columns and making good to damage etc, as per direction of Engineer -in -charge.

#### a Ground floor

Shutter 1 x 3.000 m. x 2.400m = 7.200 Sqm. Total = 7.200 Sgm. 50.00 Kg/Sqm = 360,000 Kg. W1 2 x 1.200 m. x 1.350m = 3.240 Sqm. V1 1.200 m. x 0.450m = 8 x 4.320 Sqm. Total = 7.560 Sqm. 25.00 Kg/Sqm = 189.000 Kg. 549,000 Kg.

19 Eamel Painting two coats with enamel paint over one coat of primer of approved quality etc. complete as per direction of Engg-in-Charge.

a	Ground	floor

Shutter 1 x 3.00 x 3.000 m. x 2.400m = 21.600 Sqm. W1 2 x 0.50 x 1,200 m. x 1.350m = 1.620 Sqm. V1 8 x 0.50 x 1.200 m. x 0.450m = 2.160 Sqm.

Total = 25.380 Sqm.

= 25.380 Sqm.

20 20mm. thick grading plaster in c.m. 1:4 over roof slab and chujja including cost conveyance and royality of materials curing etc. complete as per direction of Enggin-Charge.

#### a Ground floor

roof 1 x 5.800 m. x 10.800m = 62.640 Sqm. entry 1 x 3.300 m. x 1.900m = 6.270 Sqm.

Total = 68.910 Sqm. 68.910 Sqm.

2.990 Sqm.

21 Supplying, fitting and fixing of two Track UPVC sliding window of approved make with 6mm thick glass of approved quality complete with frame. shutters and all fitting and fixtures etc. complete as per direction of Engg-in-Charge.

as per SR-2022, Page No.-235, Sl. No.-12

#### a all floors

W1 2x 1x 1.150 m. x 1.300m =

Total = 2.990 Sqm.

= 2.990 Sqm.

22 Supplying, fitting and fixing of 5.5 mm thick hexagoanal Aluminum jally in windows as single groove, double groove and tapered clip as horizontal and vertical members for fixing of aluminum jally and jointing angle conforming to standard Aluminium sections etc. complete etc. complete as per direction of Engg-in-Charge.

as per SR-2022, Page No.-234, Sl. No.-10

#### a all floors

V 8x 1x 1.150 m. x 0.450m = 4.140 Sqm.

Total = 4.140 Sqm.

= 4.140 Sqm.

# PART(B) - Internal electrification

23 Recessed wiring to light point / fan point / exhaust fan point / call bell point with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non-metalic PVC flexible conduit with 5 Amp, 250 V modular type switch ISI marked and ceiling rose ISI marked mounted on MS box having front modular cover of suitable size, MS modular box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accesories and connection as per direction of Engineer in Charge. (Make of wire Finolex / L&T / Anchor / Havels / V Guard)

i	Group-A						
	all floors						
	Fan Point		3.00	Point			
	Light Point		2.00	Point			
		Total	5.00	- Point	=	5.00	Point
ii	Group-B						
	all floors						
	Fan Point		3.00	Point			
	Light Point		2.00	Point			
iii	Group-C	Total	5.00	Point	=	5.00	Point
	all floors						
	Fan Point		3.00	Point			
	Light Point		2.00	Point			
24 Su	anlying and fiving of te	Total ollowing MODULAR type Bell	5.00	Point	=	5.00	Point
		vitch box / cover including					
		uired. as per direction of					
		ake of wire Finolex / L&T /					
And	chor / Havels / V Guard )						
	all floors		1.00	Point			
		Total	1.00	Point	=	1.00	Point

25	Recessed wiring to submain in 2 x 2.5 sq.mm FR PVC
	insulated single core multistrand copper conductor o f
	ISI marked confirming to IS-694/1990 in 20 mm dia non- metalic heavy duty flexible conduit 1.6 mm thick along
	with 1 x 1.5 sq.mm FR PVC insulated single core
	multistrand copper conductor as earth wire as
	equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard)

all floors

all floors 25.00 mt. Total 25.00 mt. 25,00 mt. 26 Recessed wiring to submain in 2 x 4 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia nonmetalic heavy duty flexible conduit 1.6 mm thick along with 1 x 1.5 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V all floors 30.00 mt. Total 30.00 mt. 30,00 mt. 27 Recessed wiring to submain in 2 x 6 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia nonmetalic heavy duty flexible conduit 1.6 mm thick along with 1 x 2.5 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard) all floor 6.00 mt. 6.00 mt. 6.00 mt. 28 Supply and fixing of 3 no.sof 3pin 5/6 amp modular socket and S.P. 5/6 amp one way modular switch, 1 no. of 5 pin 15/16 socket out let and S.P. 15/16 A one way modular switch on Modular G.I. Box with Modular Base and cover (Make of wire Finolex/L&T/Anchor/Havels/V Guard) all floor 2.00 Point Total 2.00 Point 2.00 Point 29 Supply and fixing of 3 pin 6Amp plug with 6Amp switch on existing board (Modular type ).(Make of wire Finolex/L&T/Anchor/Havels/V Guard)

10.00

Point

	rage 13					
	Total	10.00	Point	=	10.00	Point
30	Supply and fixing of following way single pole and neutral, sheet steel, MCB distribution board consumer unit, 240 V on surface / recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, hinged front acrylic covr for the MCB knobs detachable gland plate, interconnections, phosphatized and powder painted including earthing etc. as required (But with out MCB / RCCB / Isolator) - 12 Way					
	all floors	1.00	No			
31	Total Supply and fixing of 5Amp to 32A rating 240V "B/C" series MCB suitable for lighting and other loads of the following poles in the exiting MCB DB ISI marked complete with connections testing and commissioning	1.00	No	=	1.00	Nos
	etc. as required.(make-HPL/ Havells/ Legrand /L&T/C&S) all floors	12.00	No			
32	Total Earthing with G.I earth pipe 3 meter long 40 mm dia ISI marked including accessories and providing masonary enclosure with cover plate having locking arrangment and watering pipe etc with charcoal and salt as required.(make-HPL/ Havells/ Legrand /L&T/C&S)	12.00	No	=	12.00	Nos
		1.00	No			
33	Total S/F of 1200mm High Speed Ceiling fan Alluminium Body, Copper winding, High speed ceiling fan (Make- Crompton Model-Riviera High Speed, Polycab Model- Vital, Polar Model-Winpro) etc.	1.00	No	=	1.00	Nos
	all floor	3.00	No			
34	Total Supplying and fixing of Stepped type modular fan regulator on existing switch box / cover including connections etc as required.(make- Anchor/cona/Havels/Polycab etc.)	3.00	No	-	3.00	Nos

	as per qty of ceiling fan				3.00	Nos
35	S/F of 8" PLASTIC VENTILLATING FAN exhaust fan					
	(Make-Crompton Model-Jura, Polycab Model-Vital, Polar					
	Model-Winpro) etc.					
	all floors	2.00	No			
	Total	2.00	No	=	2.00	Nos
36	S/F of 1x18 Watt LED T-5 fitting(Make-					
	Crompton/Philips/Havells/Bajaj)					
	All floors	8.00	No			
	Total	8.00	No	= -	8.00	Nos
37	MV cable laying up to 10 sq.mm 2core on surface					
	Laying and fixing of one number of PVC insulated and					
	PVC seathed / XLPE power cable of 1.1 KV grade of size					
	not exceeding 20 sq.mm on surface as required.					
		12.00	mt			
	Total	12.00	mt	=	12.00	mt
38	S/F of 18 Watt LED Square surface mount fitting (Make-					
	Havells/Philips/C&S/Crompton) as requred.					
		4.00	Each			
	Total	4.00	Each	=	4.00	Each
39	Supply, Installation, Testing, and Commissioning of 63					
	Amp TPN Main switches of following capacity (IS 13940 Part 3/1993 ) on existing surface / wall mountning and					
	complete with HRC Fuse links, interconnections,				1.00	No.
	earthing, etc. as required as per direction of Engineer in				1.00	NO.
	Charge. Make SEIMENS/HPL/ ANCHOR/L&T/ HAVELS/C					

my.

Er.PREM PRAKASH SAHU C Eng(I)
M. Tech. (Structural Engg.)
143, Nageswartangi, Bhubaneswar-2
Membership No.- AM1917156
The Institution of Engineers (I)

Asst. Executive Engineer R.W. Sub. Dvn. Rajnagar

& S/ RK

( As per SR - 2022 )(Kendrapada District)

Name of the Work:-

Construction of Malkhana at Sansaraphal under Rajnagar W L Range , Dist- Kendrapada

Name of the District :-

Vand

			-	1				TO STATE STATE OF THE STATE OF										
SI.		Location of Quarry	tinU	Lead in	sA. R/S req	Cost of Tansportation for 1st 5km.	Cost o	Cost of Transportation next 45km.	for	8	Cost of Transportation for beyond 50km.	n. filon	Total Cost of ransportation	Коуаціу	IO %	2 % EWE	ddl. Charges	Royality
-		Derabis	Cum	40	71.94	276 01	35	Lmc v 13.02 -	AEE TO	-	-						٨	
5	Sand(screened and washed)	Derabis	Cum	40	26.96	274 01	3 20	- 20.02 - 1	422.70	0	kms. x 9.20 ₹			35.00	3.50	1.75	190.00	230.25
6	40mm size Crusher B.G. Metal	D. L.	Cum	8	70.00	276.01	8 4	kms. x 13.02 =	455.70	0 9	kms. x 9.20 =				3.50	1.75	190.00	230.25
1	-op-	Isagnua		0):	940.60	10:01	2	= 70.CI x 70.07	080.90	40	kms. x 9.20 =	368.00	1229.91	130.00	13.00	6.50	295.00	444.50
4	4.7 mm size CBG chips	Baghua	Cum	06	850.20	276.01	45	kms. x 13.02 =	585.90	40	kms v 9 20 =	368 00	100001	00.001				
ro.	6.7 mm size CBG chips	Baghua	Cum	06	950.10	276.01	45	kms. x 13.02 =	585 90	40	Lms 0.20 -	100	- 1	130.00				
9	10 mm size CBG chips	Baghua	Cum	06	1415.10	276.01	45	kms v 13.02 =	282 00	2 4	1 0.20 =		- 1	130.00			295.00	444.50
ν.	12 mm size CBG chips	Baghua	Cum	06	1386.40	276.01	45	Lmc × 12 00	2000	Q.	kms. x 9.20 =	368.00	- 1	130.00	13.00	6.50	295.00	444.50
8.	20 mm size CBG chips	Baghua	Cum	06	1382 29	276.01	45	kms. x 13.02 -	06.000	04-19	kms. x 9.20 =	368.00		130.00	13.00	6.50	295.00	444.50
6	Flyash Bricks	Local	1000	ro	5030 50	864 10	2	- 20.01 x .20mg	06.000	40	kms. $\times 9.20 =$	368.00	_	130.00	13.00	6.50	295.00	444.50
10.	White Cement	Local	1 Qtl	5	2006.00	24.78		Lmc x 1 10 =	0.00	0 0	kms. x 23.69 =	0.00	~					
11.	Cement-43 grade	Local	1 Qtl	2	546.87	24.78	0	Lmc × 110	0.00	0 0	kms. x 1.01 =	0.00	24.78					
12.	Steel HYSD(FE-415)	latni	104	ın	6704.47	24 78	0	L. 1.10	0.00	0	kms. x 1.01 =	0.00	24.78					
13.	Sal wood flanks	Local	Cum	LC)	53035.75	108 30			0.00	0	kms. x 1.01 =	0.00	24.78					
14.	Non - sal wood flanks	Local	Cum	ır	2027470	100 30			0.00	0	kms. x 8.08 =	0.00	198.30					
15.	75 to 120 mm sal bullah upto 5.50m	Local	Rmfr	) 11	2007-179	120.30		kms. x 9.51 =	0.00	0	kms. x 8.08 =	0.00	198.30					
16.	75 mm non sal bullah any langth	Local	Dank	0 1	21.87	0.88	0	kms. x 0.04 =	0.00	0	kms. x 0.04 =	0.00	0.88				17.	
17.	100 mm non sal hullah am langt.	Local	Timer.	0 1	30.81	0.88	0	kms. x 0.04 =	0.00	0	kms. x 0.04 =	0.00	0.88					
18	125 mm row sell builts.	Local	Nmtr	n	41.81	1.56	0	kms. $\times 0.07 =$	0.00	0	kms. x 0.06 =	0.00	1.56					
	Sol monday and any length	Local	Kmtr	n)	41.81	2.43	0	kms. x 0.12 =	0.00	0	kms. x 0.10 =	0.00	2.43					
	3al wood planks not more than 75mn	Local	Sqm	ın	4787.93	14.87	0	kms. x 0.71 =	0.00	0	kms. v 0.61 =	000	14 07				1	
	Non - sal plank	Local	Cum	10	58374.79	198.30	0	kms. x 9.51 =	0.00	0		000	100.001	1				
	Piasalwood plank	Local	Cum	5	74369.67	198,30	0	kme v 0 51 =	00.0		MII(S. A O.00 =	0.00	198.30					
22.	Shell Lime	Local	Kg	20	24.10	0.248	0		00.00	+	kms. x 8.08 =	0.00	198.30					
23.	Carrage of Wood	Local	Cum	ID.	000	149 20	0	Lane 2. 12 40	0.00	+	kms. x 0.010 =	0.00	0.25					
24.	All types of tiles	Patamundai	1 Sqm	15	000	09 6	101	Lens. x 12.40	0.00	+	kms. x 10.64 =	0.00	149.20					
25.	Marble uoto 0.10sqm	Patamundai	1 Sqm	15	550.60	09 6	10	Long v. 02	77.0		kms. x .26 =	0.00	12.87					
26.	Marble above 0.10 to 0.40sqm	Patamundai	1 Sam	15	670 00	0.60	10	L Co. X .CO.	3.27		kms. x .26 =	0.00	12.87					
27.	Marble above 0.40 to 10 som	Patamindai	1.6.	10,000	070.20	2,00	7.0	Kms. x .33 =	3.27	0	kms. x .26 =	0.00	12.87					
_	mho man	Parallining +	1 John	CT	/25.70	9.60	10	cmc v 33 =	200			İ	-					

Granite 0.10 upto 0.40 sqm (") Patamundai Granite above 0.40 sqm (20mm) Patamundai Glazed wall tile Patamundai	1 Sqm		1200	1096	10	L		Service S	
Patamundai Patamundai	mko.	25	1000	1	C X .33 =	3.27 0	kms. x .26 =	0.00	12.87
Patamundai			1328.07	9.60 1	10 kms. x .33 =	3.27 0	kms. x .26=	0.00	12.87
	mbe 1	15 20	2090.00	09.6	10 kms. x .33 =	3.27 0	1	0000	10.44
	1 Sqm	15 4	405.20	0 60	10		Kms. x .26 =	0.00	12.87
	1 Cam	-			Kms. x .33 =	3.27 0	kms. x .26 =	0.00	12.87
mountain		4	450.08	9.60 10	0 kms. x .33 =	327 0	Lime in the	000	
Patamundai	1 Sqm	15 6	651.08	040	-		= 07' X 'SIII'Y	0.00	12.87
Vitrified tile 600x600(Printed)	+		00.10		kms. x .33 =	3.27 0	kms. x .26 =	0.00	12 87
1 atamundan	1 Sqm	15 68	689.20	01 09.6	kms v 33 =			2000	14:07
Patamundai 1	1 Sam	15			Or v correct	0 /7.0	kms. x .26 =	0.00	12.87
1	+		5/8.35	9.60 10	kms. x .33 =	3.27 0	kms. x .26 =	000	12.87
Need	1 2dm 1	120	0.00	9.60	5 Lmc - 33 -			0000	16:51
Local	Ko	ıı				14.73 70	kms. x .26 =	18.43	42.76
-	+	-	07.00					1	
	Ng	5 29	297.27						
Local	1 Sqm	5 70	705.01				9		
Local Local 1	1 Sqm	5 70	709.20	-					
Local	1 Sqm	5 67	10 029	-			-		
44. LOUMMX/Smmx4mm hinges Local 1	1 NIA	ı	2007	1					

Certified that the lead-statement furnished above is shortest & minimum to the best of my knowledge & belief.

Gen

Er. PREM PRAKASH SAHU C Eng(I)
M. Tech. (Structural Engg.)
143, Nageswartangi, Bhubaneswar-2
Membership No.-AM1917156
The Institution of Engineers (I)

Asst. Executive Engineer R.W. Sub. Dvn. Rajnagar LABOUR STATEMENT 462.00 / day 462.00 / day 562.00 /day 612.00 /day 512.00 / day 512.00 / day 512.00 / day 612.90 / day HIRE CHARGES OF PLANTS AND MACHINERIES Semiskilled Mulia Womanmulia Stone Packer Mason 2 nd Manmulia 6. Mason 1 st Carp 1 st Mate 5. 4

153.20 /hour 357.55 /hour

229.55 /hour 700.00 /hour

> Generator 33 KVA Vibrator (3 HP)

4. Tractor Trolly

Concrete mixer

562.00 / day	612.00 / day	562.00 / day			612.00 / day	762 00 / day	mon / may
			14				
Carp 2 nd	Painter (1 st)	Stone dresser	Helper	Blacksmith	Painter (1 st)	Painter (2nd)	
7.	10.	11.	12.	13.	14.	15.	

		TC	TC Basic rate TC+BR	TC+BR
Wall cement primerWater bound(I.S.I.)	Ltr.	0.27	159.03	159.30
Cement Paint	Kg.	0.25	47.83	48.08
Ustemper	Kg.	0.25	70.10	
Frastic Emulsion Paint	Lit.	0.27	249.34	2
addine Famt	Lit.	0.27	205.34	205.61
Ned Oxide Primer	Lit.	0.27	142.70	
Wood Frimer	Lit.	0.27	150.71	150.98
G.C.L.Sneet U.40mm	Sqm.		333.12	333.12
A C Bidee	Sqm.		209.10	209.10
A.C.Magges	Pair		202.03	202.03
Mini. thick Plain A.C. Sheet	Sqm.		246.55	246.55
Weather coal	Kg.	0.27	191.35	191.62

		THE THE PARTY OF T	INIA)-62
	per pe	per peper qtl.	17.58
8mm	394	8312.23	
10mm	262	7991.96	-
12mm	848	7957.95	
16mm	1505	7937.76	
20mm	2353	7943.95	
25mm	3678	7961.03	
Wi	with GST	8017.48	

6794.47 /Qd

without GST

ET. PREM PRAKASH SAHU C Eng(I)
143, Nageswartangi, Bhubaneswar-2
Nembership No.- AM1917156
The Institution of Engineers (I)

Asst. Executive Engineer R. W. Sub. Dvn. Rajnagar

# ANALYSIS OF RATES (As per SR - 2022) (Kendrapada District)

NAME OF THE WORK: Construction of Malkhana at Sansariphal under Rajnagar W L Range, Dist-Kendrapada

	1.	Foundation excava	ition in hard soil	including le	evelling a	nd droceing the	16.1 1		F."	CAST.
		sides depositing m	uck within initial	lead and lie	evennig a	and dressing the	bed and			
		Engg-in-Charge.	- The state of the	read and m	t etc. con	aplete as per dir	ection of			
		(i) Labour								
		Man mulia								
		Woman man mulia				.50 Nos. @ Rs.	462.	00 /each	= Rs	. 9,933.00
		omari mari muna		-	21	.50 Nos. @ Rs.		00 /each		
		Add 20 % for Found	Jatt.						al Rs.	
		ridd 20 % for round	lation	-					Rs.	
	1	ii) Add 15 % for Ott e	c .						Rs.	
	,	ii) Add 15 % for OH &	Contractors prof	fit					Rs.	
								Tota	I Rs.	-7-1-0-0
								Tota	1 1/3.	27,415.06
	6	(a) A J J C 1 1 1							Rs.	27 415 00
	(1	v) Add for labour 1 %	Cess							
							Total Ra	te/%Cum =	Rs.	
2									_	, , , , , , , , , , , , , , , , , , , ,
2		Earth work by med	chanical means	borrowed fr	rom out	side within 5km		n Say	Rs.	276.89
		THE PROPERTY OF THE PARTY OF TH	THE THE THE THE	levelling a	nd dwage	1 1 1				
		depositing muck wi in-Charge .	thin initial lead a	nd lift etc.	omplete	ing the bett an	id sides			
		in-Charge .			ompiete:	is per direction	of Engg-			
	(i	i) Labour								
		Man mulia			01					
		Woman man mulia				50 Nos. @ Rs.	462.0	0 /each=	Rs.	9,933.00
					21.3	50 Nos. @ Rs.	462.0	0 /each=	Rs.	9,933.00
	(ii	i) Add 15 % for OH &	Contractors must					Total		19,866.00
			contractors prom	·					Rs.	2,979.90
							Total Rat	e/%Cum =	Rs.	22,845.90
	(iii	i) Add 1st 5Km					per Cum			228.45
	-	Add PRR	700 /1						Rs.	276.01
		Deduct unloading	70cum/hr	524.70	/	70			Rs.	7.49
		- caract tritoathing		175.38	/	2/3		(-)	Rs.	116.92
	(iv	) Royalty							Rs.	166.58
		, -10 July		-					Rs.	43.25
							Total Ra	te/Cum =		438.28
	(vi	Add for laboratory						iq cum -	175.	438.28
	(11	) Add for labour 1 % C	ess						D.	4.00
		Filling Co 1 .:					Total Ra	te/Cum =	Rs.	4.38
		Filling foundation as	nd plinth with s	and well w	atered ar	nd rammed incl		rejeum -	NS.	442.66
		The same of the sa	royality of sand	etc. comple	te as per	direction of En	aga in			
		6.	, #		1	micedon of Li	188-111-			
	(i)	Material -	Sand		100.00	00 00	to conserve to			
		Labour - Won	nan man mulia			Cum @ Rs.		/Cum.=		7,194.00
	(iii)	Transportation -	Sand	0.20		Nos. @ Rs.	462.00	/each =	Rs.	5,710.32
		Royalty -	Sand			Cum @ Rs.	731.71	/Cum.=	Rs.	73,171.00
	(v)	Add 15 % for OH & C	ontractors profit		100.00	Cum @ Rs. 🐬	230.25	/Cum.=	Rs.	23,025.00
			oracions prom						Rs.	1,935.64
							For	100 Cum		11 035 96
	(vii)	Add for lab.						ate/Cum		
	(111)	Add for labour 1 % Ce	SS				N.			1,110.35
		Comount					Total Pat	e/Cum = ]	Rs.	11.10
		Cement concrete 1:3:	b using 4cm. siz	e HBG cru	sher bro	ken metal incl	idino	gcum = ]	NS.	1,121.45
		cost, conveyance and re	ovality of materia	le curina at			.6			

cost, conveyance and royality of materials curing etc. complete as per direction of Engg-in-Charge.

(i) Materials -

3.

4.

		YSIS OF RATES		
<u>(A</u>	s per SR - 2	022)(Kendrapada District)		
Toutill Crusner Broken hard Granite		0.96 Cum @ Rs.		
Sand(screened and washed)		0.48 Cum @ Rs.	940.60 /Cum. = Rs	902.9
Cement	-	2.29 Qntl. @ Rs.	76.88 /Cum. = Rs.	36.90
(ii) I -1		ziz Qitti. @ Ks.	546.87 / qntl. = Rs.	1,252.33
(ii) Labour-			Rs.	2,192.20
Mason 2 nd class	-	0.18 Nos. @ Rs.		
Man mulia	-	2.50 Nos. @ Rs.	562.00 / each = Rs.	101.16
Woman man mulia	-	1.40 Nos. @ Rs.	462.00 / each = Rs.	1,155.00
CON The		1.10 140s. @ KS.	462.00 / each = Rs.	646.80
(iii) Transportation -			Rs.	1,902.96
40mm Crusher Broken hard Granite N	Metal	0.96 Cum @ Rs.		
Sand(screened and washed)	2	0.48 Cum @ Rs.	1229.91 /Cum. = Rs.	1,180.71
Cement	-	2.29 Qntl. @ Rs.	731.71 /Cum. = Rs.	351.22
		2.29 QHII. @ RS.	24.78 / qntl. = Rs.	56.74
			Rs.	1,588.67
(iv) Royalty -				
CBG Metal 4cm.size				
Sand(screened and washed)		0.96 Cum @ Rs.	111 50 16 -	
saria(screened and washed)	3 6 6 7	0.48 Cum @ Rs.	444.50 /Cum. = Rs.	426.72
(v) Add 15 % for Otte C			230.25 / Cum. = Rs.	110.52
(v) Add 15 % for OH & Contractors profit			Rs.	537.24
(vii) Add for laborator a			Rs.	614.27
(vii) Add for labour 1 % Cess			Total Rate/Cum = Rs.	6,835.34
1" thick DPC with Core			Rs.	68.35
11. C With C.C(1:2:4) Using 1:	2mm. Chips	etc. complete as por directi	or say Rate/Cum. = Rs.	6,903.69
	•	7 Freie us per unech	ion	
(i) a)Materials -				
12mm.size chips		0.000 0		
Sand(screened and washed)	120	0.023 Cum @ Rs.	1386.40 /Cum. = Rs.	31.88
Cement		0.012 Cum @ Rs.	76.88 /Cum. = Rs.	0.92
		0.0754 Qntl. @ Rs.	546.87 / MT = Rs.	41.23
(ii) b)Labour -			Rs.	74.03
Mason (Spl.)		0.100		74.03
Man mulia	-	0.103 Nos. @ Rs.	562.00 / each = Rs.	57.00
Woman mulia	-17:	0.33 Nos. @ Rs.	462.00 / each = Rs.	57.88
	-	0.03 Nos. @ Rs.	36.00 / each = Rs.	152.46
(iii) c)Transportation -			Rs.	1.08
12mm.size chips			KS.	211.42
Sand(screened and washed)	190	0.023 Cum @ Rs.	1229.91 /Cum. = Rs.	
Cement		0.012 QAtl. @ Rs.	731.71 / qntl. = Rs.	28.28
		0.0754 MT @ Rs.		8.78
(iv) e)Royalty -			/ - 113.	1.86
12mm.size chips			Rs.	38.92
Sand(screened and washed)	-	0.023 Cum @ Rs.	144 50 76 -	
(served and washed)		0.012 Cum @ Rs.	444.50 /Cum. = Rs.	10.22
(v) Add 15 % for OH & Co.			230.25 / Cum. = Rs.	2.76
(v) Add 15 % for OH & Contractors profit <u>RATE FOR</u>			Rs.	12.98
(i)Ground Floor -			Rs.	42.81
(i) Orband Filoor -			Total Pate 10	
vii) Add Labour Cess 1%			Total Rate/Sqm. = Rs.	380.16
			D <sub>0</sub>	2.00
Cement Concrete (1:2:4) with 12 mm siz works including hoisting and laving etc.	o buil .		Total Rate/Sqm. = Rs.	3.80
works including hoisting and laying etc. Charge.	e broken ha	ard granite chips for R.C.C.	, - 4 No.	383.96
Charge	complete a	s per direction of Engg-in-		

		<u> </u>	LINELISIS	OF RATES					
			r SR - 2022 )(Ke		trict)				
	12mm.size chips			A CONTRACTOR OF THE PARTY OF TH	2777				
	Sand(screened and washed	)		0.90 Cum @ R		1386.40	/Cum.	= Rs	. 1,247.76
	Cement			0.45 Cum @ R			/Cum.		
				3.23 MT @ R	S	546.87	/MT	= Rs	. 1,766.39
(ii)	Labour -					W.		Rs	
	Mason (2nd Class)			0 (0 ) 7					
	Man mulia		-	0.68 Nos. @ Rs	3.	562.00	/each	= Rs	. 382.16
	Women Man mulia			3.20 Nos. @ Rs		462.00	/each	= Rs	1,478.40
				1.40 Nos. @ Rs		462.00	/each	= Rs	646.80
(iii)	Transportation -							Rs	THE RESERVE AND ADDRESS OF THE PARTY.
	12mm.size chips			0.00	- 1				
	Sand(screened and washed)			0.90 Cum @ Rs		1229.91 /	Cum.	= Rs.	1,106.91
	Cement			0.45 Qntl. @ Rs		731.71	gntl.	= Rs.	329.26
			3	3.23 MT @ Rs			/Qt		
(iv)	Royalty -						, -	Rs.	
	12mm.size chips							2.40	2,200.00
	Sand(screened and washed)			0.90 Cum @ Rs		444.50 /	Cum.	= Rs	400.05
	(screened and washed)		0	0.45 Cum @ Rs		230.25 /	Cum. =	= Rs.	
(v)	Add 15 % for OH & Cart	P2 22 22 22 22 22 22 22 22 22 22 22 22 2						Rs.	103.61 503.66
(.)	Add 15 % for OH & Contract	tors profit						Rs.	
						Total Rate,	/Cum =		833.41
1						m ruite,	Cum -	145.	9,129.73
(VII)	Add for labour 1 % Cess			4				1000	
400.0	Ground Floor							Rs.	91.29
	1st Floor -					or say Rate/	Cum. =	Rs.	9,221.02
(i)	Rate of Ground Floor								
(ii)	Add Labour 15 % extra							Rs.	9,129.73
					376.10	+ 56	5.41	Rs.	432.51
		iii						Rs.	9,562.24
(iv)	Add for labour 1 % Cess	No.							
								Rs.	95.62
	2nd Floor -					or say Rate/C	um. =	Rs.	9,657.86
(i) I	Rate of First Floor								
(ii) 1	Labour 15 % extra							Rs.	9,562.24
					432.51	+	64.87	Rs.	497.38
								Rs.	10,059.62
(iv) A	Add for labour 1 % Cess		1						/
	To Moodi 1 % Cess							Rs.	4.07
						or say Rate/C	um =		10.064.50
B	R.C.C. work M.20 and					,q c		115.	10,064.59
i	R.C.C. work M-20 grade using	20mm.and do	wn grade HBC	G crusher brok	en chips				
	o The start of the cost	LCOUVEVANCE:	and roundites - 6	f materials cur	ring etc				
	I I I I I I I I I I I I I I I I I I I	ngg-in-Charge			ang cit.				
(A) G	Fround Floor								
	Data for 15cum.			4					
D									
(i) D	Materials -								
(i) D 20	Materials - Omm.size chips		9.10	0.00					
(i) M 20 10	Materials - Omm.size chips Omm.size chips		8.10	Cum @ Rs.		1382.29 /Ct	ım.=	Rs.	11,196.54
(i) M 20 10	Materials - Omm.size chips Omm.size chips		5.40	Cum @ Rs.		1415.10 /Ct	ım.=	Rs.	11,196.54 7,641.54
(i) D/M 20 10 Sa	Materials - Omm.size chips		5.40 6.75	Cum @ Rs. Cum @ Rs.		1415.10 /Ct 76.88 /Ct	ım.=	Rs. Rs.	7,641.54
(i) M 20 10 Sa Ca	Materials - Omm.size chips Omm.size chips and(screened and washed) ement		5.40 6.75	Cum @ Rs.		1415.10 /Ct 76.88 /Ct	ım.=	Rs. Rs.	7,641.54 518.94
(i) M 20 10 Sa Ca	Materials - Omm.size chips Omm.size chips and(screened and washed)		5.40 6.75	Cum @ Rs. Cum @ Rs.		1415.10 /Ct	im. = im. = : IT = _:	Rs. Rs. Rs.	7,641.54 518.94 28,491.92
(i) D 20 10 Sa Ca (ii) La	Materials - Omm.size chips Omm.size chips and(screened and washed) ement		5.40 6.75 5.21	O Cum @ Rs. Cum @ Rs. MT @ Rs.		1415.10 /Ct 76.88 /Ct	im. = im. = : IT = _:	Rs. Rs. Rs.	7,641.54 518.94
(i) M 20 10 Sa Ca (ii) La M	Materials -  Omm.size chips  Omm.size chips  and(screened and washed)  ement  abour -  (ate		5.40 6.75 5.21 0.86	O Cum @ Rs. Cum @ Rs. MT @ Rs. Nos. @ Rs.		1415.10 / Ct 76.88 / Ct 5468.70 / M	im. =   im. =   IT =	Rs. Rs. Rs. Rs.	7,641.54 518.94 28,491.92 47,848.94
(i) M 20 10 Sa Co (ii) La M M	Materials - Omm.size chips Omm.size chips and(screened and washed) ement		5.40 6.75 5.21 0.86 1.50	O Cum @ Rs. Cum @ Rs. MT @ Rs. Nos. @ Rs. Nos. @ Rs.		1415.10 / Ct 76.88 / Ct 5468.70 / M	im. =   im. =   IT =   ich =	Rs. Rs. Rs. Rs.	7,641.54 518.94 28,491.92 47,848.94 440.32
(i) M 20 10 Sa Co (ii) La M	Materials -  Omm.size chips  Omm.size chips  and(screened and washed)  ement  abour -  (ate ason (2nd Class)		5.40 6.75 5.21 0.86 1.50	O Cum @ Rs. Cum @ Rs. MT @ Rs. Nos. @ Rs.		1415.10 / Ct 76.88 / Ct 5468.70 / M	im. =	Rs. Rs. Rs. Rs. Rs.	7,641.54 518.94 28,491.92 47,848.94

(As per SR - 2022) (Kendrapada District)	1	Ası	oer	SR-	2022	)(Kendrapada	District)
--	---	-----	-----	-----	------	--------------	-----------

	( As pe	er SR - 2022	)(Kend	rapada	District)					
	Concrete mixer(cap.0.40/0.28 cum.) Generator 33 KVA		6.00	) hour	s@ Rs.	229	.55 /hour=	Rs.	1,377.30	
	Generator 33 KVA	1	6.00	) hours	s@ Rs.		.00 /hour =			
(iv	7) Transportation -	*		•				Rs.		
12.	Chips									
	Sand(screened and washed)			Qntl.		1229.	91 /qntl. =	= Rs.	16,603.78	
	Cement	5 1		Qntl.		731.	71 /qntl. =	= Rs.		
			5.21	MT	@ Rs.	24.	78 /Qt =	Rs.		
(v	) Royalty -							Rs.	22,833.85	-
	20mm.size chips		500							
	10mm.size chips	*		Cum		444.	50 /Cum.=	Rs.	3,600.45	
	Sand(screened and washed)	7		Cum		444.	50 /Cum.=	Rs.	2,400.30	
	- majoriteried and washed)		6.75	Cum	@ Rs.	230.	25 /Cum.=	Rs.	1,554.18	
(vi	) Add 15 % for OH & Contractors profit							Rs.	7,554.93	
	, and 10 % for office contractors profit							Rs.	9,592.43	
						Total Rate	e/15Cum =	Rs.	1,03,930.77	-
		Rate pe	r 1 cum	Rs.	1,03,930.77	/1	-	Rs.	6,928.71	
							Say	Rs.	6,928.70	,
(viii	) Add Labour Cess 1%									
1.10	Add Labour Cess 1%							Rs.	69.28	
(B)	1st Floor -					Rate	per1 cum		6,997.98	-
	Rate of Ground Floor								0,557.50	
	· Add Labour 15 % extra							Rs.	6,928.70	
(44)	rade Labour 15 % extra				105.23	+	15.78	Rs.	121.01	
				4				Rs.	7,049.71	
(ive)	Add 11								,,015.71	
(IV)	Add for labour 1 % Cess							Rs.	70.40	
(0)	2-4 5					or say Ra	ite/Cum. =		70.49	
	2nd Floor - Rate of First Floor					or only ru	ity cum	NS.	7,120.20	
	Labour 15 % extra							Rs.	7,049.71	
(11)	Labour 15 % extra				121.01	+	18.15	Rs.	139.16	
								Rs.	7,188.87	
	AND THE RESERVE OF THE PROPERTY OF THE PROPERT							113.	7,100.07	
(iv)	Add for labour 1 % Cess									
						or can Da	-10	Rs.	71.88	
						or say ita	te/Cum. =	Ks.	7,260.75	
	Rigid and smooth centering and shuttern	ing for R.C	C.C. wo	rks inc	luding falso					
	works and dismantaling then after cast	ing includ	ing coe	of m	starial .					
	complete as per direction of Engg-in-Charge	a micrae	ing cos	OI II	iateriais etc.					
	(a) RCC floor and roof slab, landings, bal									
	projecting, sunshades and chaja -	conies,								
	Up to 4.3m.height -									
	Data for 9.00 Sqm.									
	Cround Floor									

(A) Ground Floor

8.

(i) Materials -Non sal wood scantling-Planks 38mm.-120 mm sal bullah-Carriage of wood Total for 10 times use

For single use

0.112 Cum @ Rs. 0.34 Cum @ Rs. 56 Rmtr @ Rs. 1.142 Cum @ Rs.

58374.79 /Cum. = Rs. 6,537.97 58374.79 /Cum. = Rs. 19,847.42 30.81 /mtr. = Rs. 1,725.36 149.20 / Cum. = Rs. = Rs. 170.38 28,281.13 = Rs. 2,828.11

(ii) Labour -Carpenter (2 ndClass) 2.75 Nos. @ Rs. Semiskilled Mulia 2.75 Nos. @ Rs.

562.00 /each = Rs. 1,545.50 512.00 /each = Rs. Rs. 1,408.00 2,953.50

#### (As per SR - 2022) (Kendrapada District)

(iii	<u>  As</u>	per SK - 2022	(Kendrapada District)				
	) Add 15 % for OH & Contractors profit						
	RATE FOR		Total 6 0.00 C		Rs.		
			Total for 9.00 Sq		= Rs.		5
				Total Rate/Sqm	. = Rs.	738.70	6
(v)	Add Labour Cess 1%						
					Rs.	7.40.4	
	i)For each additional height of 0.3m. of add extra upto a height of 5.5m.	over initial hei	ght of 4.3m. In ground f	loor	Rs.	746.14	4 /Sqn
	apto a height of J.Jill.			1001	D.	= 0/	
	ii)For each additional height of 0.3m.ad	dd extra over 5.	.5m.		Rs.	5.00	
(D)					Rs.	8.00	)
	1st Floor						
	Rate of GF				= Rs.	720 7/	
(11)	Add 20% extra labour over ground floo	or			= Rs.	738.76	
	Add 15 % for O H and contractors prof	it on extra labo	ur		Rs.	147.75	
				Total	$=\frac{Rs}{Rs}$	908.67	
(:)	A117.1			TOTAL	13.	900.07	/Sqn
(1V)	Add Labour Cess 1%				D.	0.00	
(C)	0171			Total Rate/Sqm.	Rs.	9.08	
	2nd Floor			rotai Rate/34m.	- Ks.	917.75	
(i) (ii)	Rate of 1st floor				= Rs.	000 (7	
(11)	Add 20% extra labour over 1st floor				= Rs.	908.67 181.73	
	Add 15 % for O H and contractors profi	it on extra labor	ur		Rs.	27.25	
				Total :	_	1,117.65	- /Sam
(iv)	Add Labour Cess 1%					1,117.00	/ Squi
(4.1)	Add Labour Cess 1%				Rs.	11.17	
	(b) RCC stairs excluding landing land			Total Rate/Sqm. =	Rs.	1,128.82	0
D	(b) RCC stairs excluding landing but in ata for 5.00 Sqm.	cluding railing	3			-,	
	Materials -						
	Non sal wood 38mm.thick plank						
	Non sal wood scantling-		0.228 Cum @ Rs.	58374.79 /Cum.=	Re	13,309.45	
	120 mm non sal bullah-	-	0.039 Cum @ Rs.	58374.79 /Cum. =	140.	10,009.40	
(	Carriage of wood	-	6.5 Rmtr @ Rs.		Re	2 276 61	
	8- 01 11000			41.81 /mtr. =	Rs.	2,276.61	
- 3	Total for 10 times use		0.35 Cum @ Rs.	41.81 /mtr. = 149.20	Rs.	271.76	
1	Total for 10 times use For single use			41.81 /mtr. = 149.20	Rs. Rs.	271.76 41.77	
1	For single use			41.81 /mtr. = 149.20 =	Rs. Rs.	271.76 41.77 15,899.59	
(ii) I	For single use Labour -	•	0.35 Cum @ Rs.	41.81 /mtr. = 149.20 =	Rs. Rs.	271.76 41.77	
(ii) I	For single use Labour - Carpenter (2 ndClass )		0.35 Cum @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = =	Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.95	
(ii) I	For single use Labour -		0.35 Cum @ Rs.	41.81 /mtr. = 149.20 =	Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50	
(ii) I	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia		0.35 Cum @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = = 562.00 /each =	Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.95	
(ii) I	For single use Labour - Carpenter (2 ndClass )		0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = 562.00 /each = 512.00 /each =	Rs. Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00	
(ii) I	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia		0.35 Cum @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each =	Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50	
(ii) I	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia		0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each =	Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51	
(ii) I (ii) S (iii) A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit		0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = 562.00 /each = 512.00 /each =	Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51 5,224.96	
(ii) I (ii) S (iii) A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia		0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each =	Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.55 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99	
(ii) I (iii) A (iii) A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit		0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each =	Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99	Sam.
(iii) I (iii) A (v) A (B) 1s (i) R	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit add Labour Cess 1% st Floor ate of GF		0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each =	Rs.	271.76 41.77 15,899.59 1,589.55 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99	Sqm.
(ii) I (iii) A (v) A (B) 1: (i) R (ii) A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit add Labour Cess 1% st Floor ate of GF dd 20% extra labour over ground floor		0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs. Total for 5.00 Sqm.	41.81 /mtr. = 149.20 = 562.00 /each = 512.00 /each = Total Rate/Sqm. =	Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99	Sqm.
(ii) I (iii) A (v) A (B) 1: (i) R (ii) A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit add Labour Cess 1% st Floor ate of GF dd 20% extra labour over ground floor	on extra laba	0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs. Total for 5.00 Sqm.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each = Total Rate/Sqm. = =	Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99 10.44 1,055.43	Sqm.
(ii) I (iii) A (v) A (B) 1: (i) R (ii) A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit add Labour Cess 1% st Floor ate of GF	on extra labour	0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs. Total for 5.00 Sqm.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each = Total Rate/Sqm. = = = =	Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99 10.44 1,055.43 /8 1,044.99 208.99 31.34	
(ii) I (iii) A (v) A (B) 1: (i) R (ii) A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit add Labour Cess 1% st Floor ate of GF dd 20% extra labour over ground floor	on extra labour	0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs. Total for 5.00 Sqm.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each = Total Rate/Sqm. = =	Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99 10.44 1,055.43 /8 1,044.99 208.99 31.34	
(ii) I (iii) A (v) A (v) A (ii) R (iii) A A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit Add Labour Cess 1% st Floor ate of GF dd 20% extra labour over ground floor dd 15 % for O H and contractors profit o	on extra labour	0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs. Total for 5.00 Sqm.	41.81 /mtr. = 149.20 = = 562.00 /each = 512.00 /each = Total Rate/Sqm. = = = =	Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99 10.44 1,055.43 /1	
(ii) I (iii) A (v) A (v) A (ii) R (iii) A A	For single use Labour - Carpenter (2 ndClass ) Semiskilled Mulia Add 15 % for OH & Contractors profit add Labour Cess 1% st Floor ate of GF dd 20% extra labour over ground floor	on extra labour	0.35 Cum @ Rs. 2.75 Nos. @ Rs. 2.75 Nos. @ Rs. Total for 5.00 Sqm.	41.81 /mtr. = 149.20 = 562.00 /each = 512.00 /each = Total Rate/Sqm. = Total =	Rs.	271.76 41.77 15,899.59 1,589.95 1,545.50 1,408.00 2,953.50 681.51 5,224.96 1,044.99 10.44 1,055.43 /8 1,044.99 208.99 31.34	

#### (As per SR - 2022) (Kendrapada District)

	(As p	er SR - 2022	(Kendrapada District)				
(i)	Rate of 1st floor						
(ii)	Add 20% extra labour over 1st floor				= Rs	. 1,285.	32
	Add 15 % for O H and contractors profit	on overa lak			= Rs	. 171.	37
	pront	on extra lab	our		Rs	. 25.	70
				Total	al = Rs.		39 /Sqm
Gen	A 111 1 =					2,102	/oqui
(IV)	Add Labour Cess 1%				- 12	- 3	
				T-1-1 D + 10	Rs.	14.8	-
	(c) For R.C.C foundation, footing bases	of column n	1255	Total Rate/Sqn	i. = Ks.	1,497.	21
	concrete, pre-cast slabs, plinth band etc a	s ner directi	ion of				
	Engg-in-Charge.	- Per directi	ion or				
	Data for 10.00 Sqm.						
(i)	Materials -						
	25mm.thick non sal plank						
	80mm non cal bull-1	-	0.267 Cum @ Rs.	58374.79 / Cum	. = Rs.	15,586.0	)6
	Carriage of wood		12.6 Rmtr @ Rs.	41.81 /mtr.	= Rs	526.8	
	Total for 10 times use	-	0.3284 Cum @ Rs.	149.20 /Cum	= Re		
	For single was	190		rango / cum	= Rs.	39.1	
	For single use	474				16,152.0	
	Labour -				= Rs.	1,615.2	0
	Carpenter (2 nd Class )	77	0.50 Nos. @ Rs.	562.00 / 3			
	Sangi Mulia	102	0.50 Nos. @ Rs.	562.00 /each	= Rs.	281.0	
*****			1103. 6 13.	512.00 /each		256.00	
(m)	Add 15 % for O H and contractors profit (	(a+b)			Rs.	537.00	0
	Total for 10.00 Sqm.	-			Rs.	322.83	3
					= Rs.	2,475.03	3
				Total Rate/Sqm.	= Rs.	247.50	)
(v)	Add Labour Cess 1%						
					Rs.	2.47	7
1	(d) For R.C.C lintels:				Rs.		/Sqm.
Г	Data for 7.8 Sqm.				113.	443,97	/5qm.
	Ground Floor		•				
	Materials -						
1	88mm.thick non sal plank	-	0.413 Cum @ Rs.	59274 70 70			
,	20 mm non sal bullah	-	21.00 Rmtr @ Rs.	58374.79 /Cum.	= Ks.	24,108.78	
-	Carriage of wood	-	0.689 Cum @ Rs.	41.81 /mtr.		878.01	
- I	otal for 10 times use	2	out o no.	149.20	Rs.	102.79	
	or single use				= Rs.	25,089.58	
	abour -				Rs.	2,508.95	
C	Carpenter (2 nd Class )		1.25 Nos. @ Rs.				
S	emiskilled Mulia			562.00 /each=	Rs.	702.50	
			1.25 Nos. @ Rs.	512.00 /each=	Rs.	640.00	
iii) A	.dd 15 % for O H and contractors profit(a+	-b)			Rs.	1,342.50	-
	contractors pront(a+	-0)			Rs.	577.71	
				Total for 7.80 Sqm. =	Rs.	4,429.16	
				Total Rate/Sqm. =			
(v) A	dd Lab.			me, equi.	110.	567.84	
v) A	dd Labour Cess 1%						
					Rs.	5.67	
					Rs.	573.51	/Sqm.
B) 1s	t Floor						
i) Ra	ite of GF						
i) Ra	ite of GF			_	Rs.	567 84	
(i) Ra ii) Ad	ate of GF dd 20% extra labour over ground floor			=		567.84 113.56	
i) Ra ii) Ad	ite of GF	extra labour			Rs.	113.56	
i) Ra ii) Ad	ate of GF dd 20% extra labour over ground floor	extra labour	•	-	Rs. Rs.	113.56 17.03	16.00
i) Ra ii) Ac Ac	ate of GF old 20% extra labour over ground floor old 15% for O H and contractors profit on	extra labour	•		Rs. Rs.	113.56	/Sqm.
i) Ra ii) Ac Ac	ate of GF dd 20% extra labour over ground floor	extra labour		-	Rs. Rs. Rs.	113.56 17.03	/Sqm.
(i) Raii) Ac	ate of GF dd 20% extra labour over ground floor dd 15% for O H and contractors profit on	extra labour		-	Rs. Rs. Rs.	113.56 17.03	/Sqm.

245	(As	per SR - 2	022)(Kendrapada District)				
(i)	Rate of 1st floor				- n		
(11)	Add 20% extra labour over 1st floor		*		= R		
	Add 15 % for O H and contractors pro	ofit on extra	labour		= Rs		
					Rs		
				Total	I = Rs	859.0	6 /Sqn
(iv)	Add Labour Cess 1%						
				Total Pata/C	Rs		_
(	(e) For RCC beams, column, girder an	d bresser e	tc.	Total Rate/Sqm.	= Ks	867.6	5
1	Data for 4.20 Sqm.						
	Ground Floor		•				
	Materials						
3	38mm.thick non sal plank	-	0.218 Cum @ Rs.	E9274 70 /C			
1	20 mm dia Sal bullah		15.20 Rmtr @ Rs.	58374.79 /Cum.	= Ks	. 12,725.70	
	30 mm dia sal bullah		8.00 Rmtr @ Rs.	51.87 /mtr.	= Rs.	788.42	
	Carriage of wood	-	0.456 Cum @ Rs.	51.87 /mtr.	= Rs.	414.96	
	Total for 10 times use		o.150 Cum & Rs.	149.20	Rs.		
F	or single use				= Rs.	13,983.50	
	)Labour -				= Rs.	1,398.35	
C	Carpenter (2 nd Class )		275 N. O.B				
Se	emiskilled Mulia		2.75 Nos. @ Rs.	562.00 /each	= Rs.	1,545.50	
			2.75 Nos. @ Rs.	512.00 /each	= Rs.	1,408.00	
(iii) A	add 15 % for O H and contractors p				Rs.	2,953.50	
	p and definitions p	-			Rs.	652.77	
			\$/	Total for 4.20 Sqm.	Rs.	5,004.62	
				Total Rate/Sqm. =	Rs.	1,191.57	
(v) A	dd Labour Cess 1%	1			0.18	1,151.67	
(,,	dd Edbour Cess 1%				Rs.	11.91	
(B) 1s	t Floor				Rs.	1,203.48	/Sam
	ate of GF				-	1,203,40	/sqm.
	dd 20% extra labour over ground floor			=	Rs.	1,191.57	
Ac	dd 15 % for O H and seed				Rs.	238.31	
	dd 15 % for O H and contractors profi	on extra la	ibour (		Rs.	35.74	
				Total =	_	1,465.62	/Com
(iv) Ad	ld Labour Cess 1%					1,100.02	/ эчш.
()	Labour Cess 1%				Rs.	14.65	
(C) 2n	d Floor			Total Rate/Sqm. =		1,480.27	
	te of 1st floor			, 1		1,100.27	
(ii) Ad	ld 20% extra labour over 1st floor			=	Rs.	1,465.62	
Ad	ld 15 % for O H and contract	A 1 10 20		=		293.12	
	ld 15 % for O H and contractors profit	on extra la	bour		Rs.	43.96	
				Total =	-	1,802.70	/Cam
(iv) Ad	d Labour Cess 1%					1,002.70	/sqm.
(, ///	d Labour Cess 1%				Rs.	10.00	
(d)	RCC wall and fins-			Total Rate/Sqm. =	Rs.	1,820.72	
	to 4.3m.height -		*	7 - 1	110.	1,020.72	
(A) C	a for23.90 Sqm.						
	pund Floor						
(i) Mat							
Nor	n sal wood scantling-	121	0.269 Cum @ Rs.	5927470 /0			
	ıks 38mm	( <del>*</del>	0.954 Cum @ Rs.	58374.79 /Cum. =	Rs.	15,702.81	
	mm non sal bullah-		100.80 Rm tr @ Rs.	58374.79 /Cum. =	Rs.	55,689.54	
Carr	riage of wood		2.461 Cum @ Rs.	41.81 /mtr. =	Rs.	4,214.44	
Tota	l for 10 times use	-	For Cunt & RS.		Rs.	293.74	
Fors	single use			m _	Rs.	75,900.53	
(ii) Labo							

	(As	per SR - 20	22)(Kendrapada District)				
	Carpenter (2 ndClass)	-	13.50 Nos. @ Rs.	562.00	/each = R	. 7	
	Semiskilled Mulia	-	13.50 Nos. @ Rs.	512.00	/each = R	s. 7,587.0 s. 6,912.0	
(iii)	Add 15 % for O H and contractors p					s. 14,499.0	-
(22.1)	rade 15 % for O H and contractors p	7				s. 3,313.3	
			Total for 23.90 Sqm		= R		
				Total Rate	/Sqm.= R		
(v)	Add Labour Cess 1%						
					R		
	i)For each additional height of 0.3m. ov	er initial he	ight of 4 3m. In ground flam		R	s. 1,073.4	S /Sqn
	a regitt of 5.5ml.						
	ii)For each additional height of 0.3m.ad	d extra ove	r 5.5m.		Rs		)
	KATEFOR				Rs	8.00	)
7.00	1st Floor						
	Rate of GF				- P-	1.000.00	
(11)	Add 20% extra labour over ground floor	r			= Rs = Rs		
	Add 15 % for O H and contractors profi	t on extra la	bour		Rs		
					Total = Rs		
(iv)	Add Labour Cess 1%					1,007.104	/ Squi
()	Find Labout Cess 1%				Rs.	13.07	
(C)	2nd Floor			Total Rate/			-
	Rate of 1st floor						
(ii)	Add 20% extra labour over 1st floor				= Rs.	1,307.31	
	Add 15 % for O H and contractors profit	on extra la	bour		= Rs.	261.46	
		02-01-03-03-03-03-03-03-03-03-03-03-03-03-03-			Rs.	39.21	
					Total = Rs.	1,607.98	/Sqm.
(iv)	Add Labour Cess 1%						
,	P.C.C. street, M. co.			Total Rate/S	Rs.	16.07	
	R.C.C. work M-20 grade using 20mm.and	d down gra	de HBG crusher broken chips	Total raite/o	rqm Ns.	1,624.05	
	tionstrig, laying, cost, conveya	nce and r	ovality of materials				
1	ncluding centering and shuttering etc.	complete	as per direction of Engain				
(	Charge.		1 Ingg-H-				
355	Roof		•				
	)Ground Floor						
	Cost of C.C				n		
	Centring & shuttering.10.00Sqm.		10.00 Sqm. @ Rs.	74614	Rs.	6,997.98	
6	Met Fle		1-1-0 110,	746.14	Rs.	7,461.40	- 10
	i)lst: Floor ost of C:C				Rs.	14,459.38	/Cum
	entring & shuttering.10.00Sqm.				Rs.	7,120.20	
	. 10.0034ш.		10.00 Sqm. @ Rs.	917.75	Rs.	9,177.50	
(ii	ii)2nd Floor				Rs.	16,297.70	/Cum
	ost of C:C						, cum
C	entring&shuttering.10.00Sqm.				Rs.	7,260.75	
	g-wa-qui.		10.00 Sqm. @ Rs.	1128.82	De		
-					Rs.	11,288.20	
	olumn Base				Rs.	18,548.95	/Cum
	ost of C.C				De	6.007.00	
Ce	entring & shuttering		1.50 Sqm. @ Rs.	249.97	Rs.	6,997.98	
Pli	nth Beam			413.31	Rs.	7,372.93	
	st of C.C				INS.	1,372.93	Cum
					Rs.	6,997.98	
						The same of the sa	

(i)

(i)

(i)

	(As po	er SR - 2022 ) (Kendrapada District)		
	Centring & shuttering	5.00 Sqm. @ Rs.	249.97	Rs. 1,249.85
(ii)	R.C.C Beam & Coloum			Rs. 8,247.83 /Cum
	(i)Ground Floor			
	Cost of C.C Centring & shuttering.			Rs. 6,997.98
	conding & shattering.	8.00 Sqm. @ Rs.	1203.48	Rs. 9,627.84
	(ii)1st. Floor			Rs. 16,625.82 /Cum
	Cost of C:C			
	Centring & shuttering.	8.00 Sqm. @ Rs.	1 400 00	Rs. 7,120.20
		0.00 Squt. @ Rs.	1480.27	Rs. 11,842.16
	(iii)2nd. Floor Cost of C:C			Rs. 18,962.36 /Cum
	Centring & shuttering.			Rs. 7,260.75
	,	8.00 Sqm. @ Rs.	1820.72	Rs. 14,565.76
(iv)	Lintel			Rs. 21,826.51 /Cum
	(i)Ground Floor			
	Cost of C.C			Rs. 6,997.98
	Centring & shuttering.10.00Sqm.	14.00 Sam. @ Rs.	573.51	ALVANO LI RECUENTE DE LA CONTRACTOR DE L
	(ii)1st, Floor			Rs. 8,029.14 Rs. 15,027.12 /Cum
	Cost of C:C			
	Centring & shuttering.10.00Sqm.	1400 S @ B		Rs. 7,120.20
		14.00 Sqm. @ Rs.	705.41	Rs. 9,875.74
	(iii)2nd. Floor Cost of C:C			Rs. 16,995.94 /Cum
	Centring & shuttering.10.00Sqm.			Rs. 7,260,75
	a structuring.10.005qm.	14.00 Sqm. @ Rs.	867.65	Rs. 12,147.10
(v)	R.C.C Stair			Rs. 19,407.85 /Cum
	(i)Ground Floor			
	Cost of C.C	1.00 cum @ Rs.	6997.98	
	Centring & shuttering	9.00 Sqm. @ Rs.	1055.43	Rs. 6,997.98 Rs. 9,498.87
	(ii)1st. Floor		1,702.10	Rs. 9,498.87 Rs. 16,496.85 /Cum
	Cost of C:C	1.00		10,130.05 /Cum
	Centring & shuttering	1.00 Rs. 9.00 Sqm. @ Rs.	7120.20	Rs. 7,120.20
	(11)2-1 FI	3.00 Sqnt. @ RS.	1298.17	Rs. 11,683.53
	(iii)2nd. Floor Cost of C:C			Rs. 18,803.73 /Cum
	Centring & shuttering	1.00 Sqm. @ Rs.	7260.75	Rs. 7,260.75
		9.00 Sqm. @ Rs.	1497.21	Rs. 13,474.89
(vi)	<u>Chaja</u>			Rs. 20,735.64 /Cum
	(i)Ground Floor			
	Cost of C.C	0.0650 Sqm. @ Rs.		
	Centring & shuttering	1.100 Sqm. @ Rs.	6997.98	Rs. 454.86 .
	(ii)lst Floor	odni. s Ks.	746.14	Rs. 820.75
	22/25/17/001			Rs. 1,275.61 /Sqm.
	Cost of C:C	0.0650 Sqm. @ Rs.	7120.20	Do 460.04
	Centring & shuttering	1.100 Sqm. @ Rs.	917.75	Rs. 462.81
	(iii)2nd Floor			Rs. 1,009.52 Rs. 1,472.33 /Sqm.
				1,272.05 /5qm.
	Cost of C:C Centring & shuttering	0.0650 Sqm. @ Rs.	7260.75	Rs. 471.94
	and the structuring	1.100 Sqm. @ Rs.	1128.82	
				Rs. 1,241.70

(vii)							
	<u>Fins</u>				Rs.	1,713.64	/Sq1
	(i)Ground Floor						
	Cost of C.C		0.080 Sam @ Pa				
	Centring & shuttering		0.080 Sqm. @ Rs.	6997.98	Rs.	559.83	
			2.000 Sqm. @ Rs.	1073.48	Rs.	2,146.96	
	(ii)1st. Floor				Rs.		
	Cost of C:C					-,, -,,,,	, coqu
	Centring & shuttering		0.0800 Sqm. @ Rs.	7120.20	Rs.	569.61	
	out ing & stuttering		2.000 Sqm. @ Rs.	1320.38			
	(17)2 171		•	1020.50	Rs.	2,640.76	
	(iii)2nd Floor				Rs.	3,210.37	/Sqn
	Cost of C:C						
	Centring & shuttering		0.0800 Sqm. @ Rs.	7260.75	Rs.	580.86	
	and a shattering		2.000 Sqm. @ Rs.	1624.05	Rs.		
viii)	Shahaa /D. J. cros				Rs.	3,248.10	-
,	Shelves /Racks(100mm)				No.	3,828.96	/Sqn
	(i)Ground Floor						
	Cost of C.C		0.100 Sqm. @ Rs.	6997.98	n		
	Centring & shuttering		1.200 Sqm. @ Rs.		Rs.	699.79	
			1.200 Sqm. @ KS.	746.14	Rs.	895.36	
	(ii)1st. Floor				Rs.	1,595.15	/Sqn
	Cost of C:C		0 1000 C- 0 P				
	Centring & shuttering		0.1000 Sqm. @ Rs.	7120.20	Rs.	712.02	
			1.200 Sqm. @ Rs.	917.75	Rs.	1,101.30	
	(iii)2nd Floor				Rs.	1,813.32	/Sam
						,	/ Loque
	Cost of C:C		0.1000 Sqm. @ Rs.				
	Centring & shuttering			7260.75	Rs.	726.07	
0.			1.200 Sqm. @ Rs.	1128.82	Rs.	1,354.58	
					Rs.	2,080.65	/Sam.
(A	Supplying, fitting and placing uncoate and technical specification including binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT	tion of Fngg-ir		wing and	KS.	2,080.65	/Sqm
	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor	tion of Fngg-ir		wing and	KS.	2,080.65	/Sqm
	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT  Ground Floor  Materials -	tion of Fngg-ir	ce and all taxes of steel a-Charge .	wing and	RS.	2,080.65	/Sqm
	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a	tion of Fngg-ir	ce and all taxes of steel a-Charge.	and			/Sqm
	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT  Ground Floor  Materials -	tion of Fngg-ir	ce and all taxes of steel a-Charge.	and 67944.70 /MT =	Rs.	71,341.93	/Sqm
(i	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire	tion of Fngg-ir	ce and all taxes of steel a-Charge .	and	Rs. Rs.	71,341.93 720.80	/Sqm
(i	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour -	tion of Fngg-ir	ce and all taxes of steel a-Charge.  1.05 MT @ Rs. 8.00 kg. @ Rs.	and 67944.70 /MT =	Rs. Rs.	71,341.93	/Sqm
(i	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate	tion of Fngg-ir	ce and all taxes of steel a-Charge.  1.05 MT @ Rs. 8.00 kg. @ Rs.	67944.70 /MT = 90.10 /kg. =	Rs. Rs.	71,341.93 720.80 72,062.73	/Sqm
(i	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate Blacksmith(special)	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each =	Rs. Rs. Rs.	71,341.93 720.80 72,062.73 225.28	/Sqm
(i	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each =	Rs. Rs. Rs. Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00	/Sqm
(i)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate Blacksmith(special) Man Mulia	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each =	Rs. Rs. Rs. Rs. Rs. Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00	/Sqm
(ii)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each =	Rs. Rs. Rs. Rs. Rs. Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28	/Sqm
(ii (iii	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate Blacksmith(special) Man Mulia	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each =	Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19	/Sqm
(ii (iii	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each = 247.80 /MT =	Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs. Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00	/Sqm
(ii (iii	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /mT = Total Rate/1 MT =	Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00 39,753.20	/Sqm
(iii) (iii) (iv)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT Ground Floor Materials - HYSD bars including 5% overlaps a: Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod Add 15 % for OH & Contractors profit	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each = 247.80 /MT =	Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00	/Sqm
(iii) (iii) (iv) (vi)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT  Ground Floor  Materials - HYSD bars including 5% overlaps a Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod Add 15 % for OH & Contractors profit  Add Labour Cess 1%	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each = 247.80 /MT = Total Rate/1 MT = Total Rate/qntl. =	Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00 89,753.20 8,975.32 89,75	/Sqm
(iii) (iii) (iv) (vi) (B)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT  Ground Floor  Materials - HYSD bars including 5% overlaps a Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod Add 15 % for OH & Contractors profit  Add Labour Cess 1%  1st Floor	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each = 247.80 /MT = Total Rate/1 MT = Total Rate/qntl. =	Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00 89,753.20 8,975.32	/Sqm
(ii) (iii) (iv) (vi) (B) (i)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT  Ground Floor  Materials - HYSD bars including 5% overlaps a Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod Add 15 % for OH & Contractors profit  Add Labour Cess 1%  1st Floor Rate of GF	tion of Fngg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs. 0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each = 247.80 /MT = Total Rate/1 MT = Total Rate/qntl. =	Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00 89,753.20 8,975.32 89,75	/Sqm
(ii) (iii) (iv) (vi) (8) (i)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT  Ground Floor  Materials - HYSD bars including 5% overlaps a Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod Add 15 % for OH & Contractors profit  Add Labour Cess 1%  1st Floor  Rate of GF Add 5% extra labour over ground floor	etion of Engg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs.  0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each = 247.80 /MT = Total Rate/1 MT = Total Rate/qntl. =	Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00 89,753.20 8,975.32 89,75	/Sqm
(ii) (iii) (iv) (vi) (B) (i)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT  Ground Floor  Materials - HYSD bars including 5% overlaps a Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod Add 15 % for OH & Contractors profit  Add Labour Cess 1%  1st Floor  Rate of GF Add 5% extra labour over ground floor	etion of Engg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs.  0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each = 247.80 /MT = Total Rate/1 MT = Total Rate/qntl. = Total Rate/Qtl. =	Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00 89,753.20 8,975.32 89,75 9,065.07	/Sqm
(ii) (iii) (iv) (vi) (B) (i)	binding wire etc.complete as per direct Unit -1 MT and Taking Output = 1 MT  Ground Floor  Materials - HYSD bars including 5% overlaps a Binding wire  Labour - Mate Blacksmith(special) Man Mulia  Carriage of Rod Add 15 % for OH & Contractors profit  Add Labour Cess 1%  1st Floor Rate of GF	etion of Engg-ir	1.05 MT @ Rs. 8.00 kg. @ Rs.  0.44 Nos. @ Rs. 3.00 Nos. @ Rs. 8.00 Nos. @ Rs.	67944.70 /MT = 90.10 /kg. = 512.00 /each = 612.00 /each = 462.00 /each = 247.80 /MT = Total Rate/1 MT = Total Rate/qntl. = Total Rate/Qtl. = = = = =	Rs.	71,341.93 720.80 72,062.73 225.28 1,836.00 3,696.00 5,757.28 260.19 11,673.00 89,753.20 89,753.20 89,753.20 89,75.32 89,75 9,065.07	/Sqm

(**) Tidd Lab	our Cess 1%				Rs	
(C) 2nd Floo			(	Total Rate/Qt	. = Rs	9,098.4
(i) Rate of 1s					- 70	
(ii) Add 5% (	extra labour over ground fl	loor			= Rs	. ,
Add 15 %	for O H and contractors p	orofit on extra la	bour		= Rs	
				Tota	$l = \frac{Rs}{Rs}$	1.0
(iv) Add Labo	our Cess 1%			1044	1 103	7,043.1
				T . I D . 10 .	Rs.	
	k with Fly Ash Bricks hav ncluding cost conveyance ection of Engg-in-Charge .	and rovality of	rength 75 kg/sq.cm in c. materials curing etc. con	Total Rate/Qtl m. 1:6 nplete	.= Rs.	. 9,133.5
(A) Ground F	loor					
(i) Materials						
Brick						
			350 Nos. @ Rs.	5030.50		
Sand(scree	ened and washed)			/1000 nos	= Rs.	1,760.67
Cement	rica and washed)		0.28 Cum @ Rs.	76.88 /Cum.	= Rs.	21.5
		-	0.672 Qntl. @ Rs.	546.87 / qntl.	= Rs.	367.49
(ii) Labour -					Rs.	2,149.6
Mason 1 st	class @		0.05.37			
Mason 2 n	d class @		0.35 Nos. @ Rs.	612.00 /each		214.20
Man mulia			1.05 Nos. @ Rs.	562.00 /each	= Rs.	590.10
Man mulia	prep. mortar	120	1.55 Nes. @ Rs.	462.00 /each	= Rs.	716.10
			1.41 Nos. @ Rs.	462.00 /each	= Rs.	651.42
(iii) Transporta Brick	tion -				Rs.	2,171.82
	ned and washed)		350 Nos. @ Rs.	864.10 /1000	= Rs	302.43
Cement	ned and washed)		0.28 Cum @ Rs.	731.71 /Cum.=		204.87
	1 11		0.672 Qntl. @ Rs.	24.78 /qntl. =	= Rs	16.65
(iv) Royalty -	reened & washed)			, 1	Rs.	523.95
	or OH & Contractors profit		0.28 Cum @ Rs.	230.25 /Cum. =		64.47
	- Communications prom				Rs.	648.22
				Total Rate/Cum =	Rs.	5,558.14
(vii) Add Labou	r Cess 1%				D.,	55.50
			*	Total Rate/Cum =	Rs.	55.58 5,613.72
Brick work	with Fly Ash .Bricks havir	ng crushing stre	noth between 100kg/sa			
to 149kg/sq	.cm in c.m. 1:6 in Sup.Str.	including cost	conveyance and li	.cm		
materials cu	ring etc. complete as per d	irostian - ( F	conveyance and royalir	y or		
(A) Ground Flo	or	mection of Engg	-in-Charge .			
(i) Rate as per I	& P in Item No:11					
(ii) Add for S/S			4		Rs.	5,558.14
					Rs.	33.00
				Total Rate/Cum =	Rs.	5,591.14
(iv) Add Labour	Cess 1%					
NAMES OF THE OWNERS					Rs.	55.91
(B) 1st Floor				Total Rate/Cum =	Rs.	5,647.05
(i) Rate of GF	1 4					
(ii) Add 15% ext	ra labour over ground floo	or		-	Rs.	5,591.14
Add 15 % for	O H and contractors profi	it on extra labou	r	-	Rs.	325.77
					Rs.	48.86

			Artendrapada District	L		
				Total = F	Rs. 5,965	.77
(iv	v) Add Labour Cess 1%					
-						.65
(C	2) 2nd Floor			Total Rate/Cum = R	s. 6,025.	.42
(1)	Rate of 1st floor			- D		-
(11	Add 15% extra labour over ground	floor		= R = R		
	Add 15 % for O H and contractors p	profit on extr	a labour	R		
				Total = R		
(iv	) Add Labour Cess 1%				0,090.	
av	Aud Labour Cess 1%			R	5. 63.	06
				Total Rate/Cum = R		
	16mm. thick cement plaster in c	.m. 1:6 over	brick masoner install		0,400	33
	conveyance and royality of materi	ale ounin	including including	cost		
	conveyance and royality of materi Engg-in-Charge.	als curing e	tc. complete as per direction	on of		
(A)	Ground Floor					
	a)Materials -					
	Sand(screened and washed)	_	0.018 Cum @ Rs.			
	Cement	_	0.0430 Qntl. @ Rs.	76.88 /Cum. = Rs	. 1.3	38
			0.0430 QHII. @ RS.	546.87 /qntl. = Rs	. 23.5	51
(ii)	b)Labour -			Rs	24.8	19
	Mason (2nd Class)		0.16 Nos. @ Rs.			
	Man mulia	( ) ( e)	0.13 Nos. @ Rs.	562.00 /each = Rs.	89.9	2
	Woman mulia	1721	0.11 Nos. @ Rs.	462.00 /each = Rs.	60.0	
	\T		1100. O RS.	462.00 / each = Rs.		
(m)	c)Transportation -			Rs.	200.8	0
	Sand(screened and washed)	-	0.018 Cum @ Rs.	731 71 /C B		
	Cement	-	0.0430 Qntl. @ Rs.	731.71 / Cum. = Rs. 24.78 / qntl. = Rs.	N. 17.	
(iv)	d)Royalty -			Rs. Rs.		-
(2.1)	Sand(screened and washed)			RS.	14.23	3
	cand(screened and washed)		0.018 Cum @ Rs.	230.25 /Cum. = Rs.	4.14	1
(v)	Add 15 % for OH & Contractors profi			,	4.15	t
	10 % for OH & Contractors profi	t		Rs.	33.85	
				Total Rate/Sqm. = Rs.	277.91	-
(vii)	Add Labour Cess 1%					
	Editori Cess 1/8			Rs.	2.77	
(B)	1st Floor			Rs.	280.68	-
	Inside			AS,	400.00	/5q
(a)	Rate of GF					
(a) (i)	Rate of GF Add 3% extra labour over ground floor			= Rs.	277.91	
(a) (i) (ii)	Add 3% extra labour over ground floo	r		= Rs. = Rs.	277.91	
(a) (i) (ii)		r fit on extra la	abour	= Rs.	6.02	
(a) (i) (ii)	Add 3% extra labour over ground floo	r fit on extra la	bour	= Rs. Rs.	6.02 0.90	- /Sa
(a) (i) (ii)	Add 3% extra labour over ground floo	r fit on extra la	abour	= Rs. Rs. Total = Rs.	6.02	- /Sqi
(a) (i) (ii) (iii) (iv) A	Add 3% extra labour over ground floo Add 15 % for O H and contractors pro Add Labour Cess 1%	r fit on extra la	abour	= Rs. Rs. Total = Rs.	6.02 0.90 284.83 2.84	
(a) (i) (ii) iv)	Add 3% extra labour over ground floo Add 15 % for O H and contractors pro Add Labour Cess 1% out side	r fit on extra la	abour	= Rs. Rs. Total = Rs.	6.02 0.90 284.83	
(a) (i) (ii) (iii) (iv) (b) (c) (i)	Add 3% extra labour over ground floo Add 15 % for O H and contractors pro Add Labour Cess 1% out side Rate of GF	fit on extra la	abour	= Rs. $Rs.$ $Total = Rs.$ $Rs.$ $Total Rate/Sqm. = Rs.$	6.02 0.90 284.83 2.84 287.67	
(a) (i) (ii) (iii) A (iiii) A (iiii) A (iiii) A (iiiiii) A (iiiiiiiiii	Add 3% extra labour over ground floo Add 15 % for O H and contractors pro Add Labour Cess 1% out side Rate of GF Add 5% extra labour over ground floo	fit on extra la	•	= Rs. $Rs.$ $Total = Rs.$ $Rs.$ $Total Rate/Sqm. = Rs.$ $= Rs.$	6.02 0.90 284.83 2.84 287.67 277.91	
(a) (i) (ii) (iii) A (iiii) A (iiii) A (iiii) A (iiiiii) A (iiiiiiiiii	Add 3% extra labour over ground floo Add 15 % for O H and contractors pro Add Labour Cess 1% out side Rate of GF	fit on extra la	•	= Rs. $Rs.$ $Total = Rs.$ $Rs.$ $Total Rate/Sqm. = Rs.$	6.02 0.90 284.83 2.84 287.67	

	<u>(A</u>	s per SR -	2022)(Kendrapada Distric	<u>t)</u>			
(iv	) Add Labour Cess 1%				D <sub>c</sub>	2.00	
(C	) 2nd Floor			Total Rate/Sqm.	Rs.	2.89	/Sqm.
	Inside				0.070		/oqui.
(i)							
(ii)	Add 3% extra labour over ground flo	or			= Rs.	284.83	
	Add 15 % for O H and contractors pro	ofit on ext	a labour		= Rs.	6.20	
			a mood?		Rs.	0.93	
74555				Total	= Rs.	291.96	/Sqm.
(iv)	) Add Labour Cess 1%				D.		
(b)	out side			Total Rate/Sqm.	Rs.	2.91	- 10
	Rate of GF			roun rate/oqui.	- NS.	294.87	/Sqm.
	Add 5% extra labour over ground floo		£		Rs.	289.45	
	Add 15 % for O H and contractors pro	or ofit on out	-1-1		Rs.	10.54	
	eonitaciois pic	on extr	a labour		Rs.	1.58	
	1 #			Total =	Rs.	301.57	/Sqm.
(iv)	Add Labour Cess 1%						
				T	Rs.	3.01	
				Total Rate/Sqm. =	Rs.	304.58	/Sqm.
14.	12mm. thick cement plaster in c.m	. 1:6 over	brick masonry including	r cost			
	Jane and loyanty of materials	s curing e	tc. complete as per directi	on of			
	60 .		i per uniceu	off of			
	Ground Floor						
	a)Materials -						
	Sand(screened and washed) Cement	2.73	0.015 Cum @ Rs.	76.88 /Cum.=	Pe	1.15	
	Centent	-	0.0358 Qntl. @ Rs.	546.87 /qntl. =		1.15	
(ii)	b)Labour -			/ 1	Rs.	20.72	
	Mason (2nd Class)		0.1131				
	Man mulia		0.14 Nos. @ Rs.	562.00 /each =	Rs.	78.68	
	Woman mulia		0.07 Nes. @ Rs. 0.05 Nos. @ Rs.	462.00 /each =	Rs.	32.34	
	_		0.05 140S. @ KS.	462.00 /each =		23.10	
(111)	c)Transportation -				Rs.	134.12	
	Sand(screened and washed) Cement	*.e	0.015 Cum @ Rs.	731.71 /Cum. =	De	10.07	
	Centerit	2	0.0358 Qntl. @ Rs.	24.78 /qntl. =	Rs.	10.97 0.88	
(iv)	d)Royalty -			7 4	Rs.	11.85	
	Sand(screened and washed)					11.00	
	, and markety	-	0.015 Cum @ Rs.	230.25 /Cum.=	Rs.	3.45	
(v) A	Add 15 % for OH & Contractors profit						
(	i)Ground Floor -			T. In	Rs.	23.23	
				Total Rate/Sqm. =	Rs.	193.37	
(vii) A	Add Labour Cess 1%				200		
(P) 1				Total Rate/Sqm. =	Rs.	1.93	
(a) I	st Floor			rotar Kate/Sqm. =	Ks.	195.30	
	tate of GF						
	add 3% extra labour over ground floor				Rs.	193.37	
A	add 15 % for O H and contractors profit	on aut.	1	= 1		4.02	
	and contractors profit	on extra la	bour		Rs.	0.60	
				Total = I		197.99 /	Sqm.
							1
(iv) A	dd Labour Cess 1%		•				
(iv) A	dd Labour Cess 1%			Total Rate/Sqm. = I	Rs.	1.97	

			ALYSIS OF RATES			
	(i) Rate of GF	(As per SK	- 2022)(Kendrapada Distric	<u>t)</u>		
	ii) Add 5% extra labour over grou			=	Rs. 193.37	,
,	Add 15 % for O H and contract	ind Hoor			Rs. 6.70	
	and contract	iors profit on ex	dra labour		Rs. 1.00	
				Total = ]	Rs. 201.07	/Sqm.
(i	v) Add Labour Cess 1%					, 1
					Rs. 2.01	
(0	2) 2nd Floor			Total Rate/Sqm. = I	Rs. 203.08	
100	a) Inside					
(	i) Rate of 1st floor				•	
(1	i) Add 3% extra labour over groun	nd floor		= F		
	Add 15 % for O H and contracto	ors profit on ex	tra labour	= R		
				Total = R	0.00	/Sqm.
G	r) Add L-1- 0 44				202.73	/5qm.
(u)	Add Labour Cess 1%			P	s. 2.02	
(b	out side			Total Rate/Sqm. = R		- BEE
(i					201.77	7.2
	) Add 5% extra labour over grour	nd floor		= R	s. 201.07	
	Add 15 % for O H and contracto	re profit on and	1.1	= R		
	The second secon	as profit on ext	ra labour	R		
				Total = R	s. 209.16	/Sqm.
(iv	) Add Labour Cess 1%					*
				Rs		
	12mm, thick cement plaster is	n c.m. 1:4 ove	T brick masonry including	Total Rate/Sqm. = Re	5. 211.25	
(410)	Engg-in-Charge . Ground Floor	terials curing	etc. complete as per direction	on of		
(i)	7					
	Sand(screened and washed)		0.015 Cum @ Rs.	76.88 /Cum. = Rs		
	Cement	-	0.0543 Qntl. @ Rs.	546.87 /qntl. = Rs.	1.15	
(ii)	b)Labour -			Rs.		
13	Mason (2nd Class)				. 50.04	
	Man mulia		0.14 Nes. @ Rs.	562.00 /each = Rs.	78.68	
	Woman mulia	-86.	0.07 Nos. @ Rs.	462.00 /each = Rs.	32,34	
			0.05 Nos. @ Rs.	462.00 / each = Rs.	23.10	
(iii)	c)Transportation -			Rs.	134.12	
	Sand(screened and washed)		0.015 Cum @ Rs.	704 74		
	Cement		0.0543 Qntl. @ Rs.	731.71 /Cum. = Rs.		
Gra	d)Parati		, o 10.	24.78 /qntl. = $Rs.$	1.34	
(1V)	d)Royalty -			Rs.	12.31	
	Sand(screened and washed)		0.015 Cum @ Rs.	230.25 /Cum. = Rs.	2.45	
(v)	OH & CP =			200.25 / Cum Rs.	3.45	
	(i)Ground Floor -			Rs.	24.74	
	(7)====================================			Total Rate/Sqm. = Rs.	205.46	
vii)	Add Labour Cess 1%			•		
	203 1/6			Rs.	2.05	
(B)	1st Floor			Total Rate/Sqm. = Rs.	207.51	
	Inside					
(i)	Rate of GF					
(ii)	Add 3% extra labour over ground i	floor		= Rs.	205.46	
-	Add 15 % for O H and contractors	profit on extra	labour	= Rs.	4.02	
				Rs.	0.60	
			•	Total = Rs.	210.08 /8	Sqm.

	Ger	\							
	(11	) Add Labour Cess 1%					Rs.	2.10	
	A-	With neat cement Punning				Total Rate/Sqm.	= Rs.	212.18	-
		cost of 12mm CP in cm 1:4							
		Add punning					= Rs.	212.18	
		Firming					= Rs.	59.20	
	(b)	out side				Total Rate/Sqm. =	Rs.	271.38	
	7.00	Rate of GF							
		Add 5% extra labour over g					Rs.	205.46	
	()	Add 15 % for O H and contr	round 1100	r			Rs.	6.70	
		and to lot off that conti	actors pro	nt on extra	alabour		Rs.	1.00	
						Total =	Rs.	213.16	/Sqm.
	(iv)	Add Labour Cess 1%							( 3 0 0
	(11)	Add Labour Cess 1%					Rs.	2.13	
	(0)	2nd Elem				Total Rate/Sqm. =		215.29	
		2nd Floor Inside						210.27	
	100								
		Rate of 1st floor Add 3% extra labour over gr	1.0			-	Rs.	210.08	
	(11)	Add 15 % for O H and and	ound floor			-		4.14	
		Add 15 % for O H and contra	actors prof	it on extra	labour		Rs.	0.62	
						Total =		214.84	/Sam
	Gas	41171							, oqui.
	(IV)	Add Labour Cess 1%					Rs.	2.14	
	(h)					Total Rate/Sqm. =		216.98	
	1000	out side					143.	210.90	
		Rate of GF	M				Rs.	213.16	
	(11)	Add 15 % for O.H.	ound floor				Rs.	7.04	
		Add 15 % for O H and contra	ctors profi	t on extra	labour		Rs.	1.05	
						Total =		221.25	/Sam
	(iv)	Add I alam C 18					1.01	221.20	/Squi.
	(11)	Add Labour Cess 1%					Rs.	2.21	
16.		6mm thick 1				Total Rate/Sqm. =	Rs.	223.46	
		offith. thick cement plaster	(1:4) to R.	C.C. surfa	ices finished smooth including			220.10	
		closed deep chipping and s	lury treatr	nent, cost	, conveyance and royality of				
	1	materials curing etc. complet	e as per di	rection of	Engo-in-Charge				
	(A)	Ground Floor	and the Control of th		and an energe.				
		Materials -							
		Sand(screened and washed)		-	0.0075 Cum @ Rs.	7/ 00 /0			
	(	Cement			0.0372 Qntl. @ Rs.	76.88 /Cum. =		0.57	
					one, 2 Quit. & Ks.	546.87 / qntl. = _		20.34	
(		abour -					Rs.	20.91	
		Mason (2nd Class)			0.14 Nos. @ Rs.	E62.00 / 1	**		
		Man mulia		-	0.12 Nos. @ Rs.	562.00 /each =		78.68	
	V	Voman mulia		-	0.05 Nos. @ Rs.	462.00 /each =		55.44	
790						462.00 /each = _		23.10	
(1	iii) T	ransportation -					Rs.	157.22	
		and(screened and washed)	Ø.		0.0075 Cum @ Rs.	721 71 / 6	n		
	C	ement		-	0.0372 Qntl. @ Rs.	731.71 /Cum. =		5.48	
						24.78 /qntl. =		0.92	
(i		oyalty -					Rs.	6.40	
	S	and(screened and washed)		-	0.0075 Cum @ Rs.	230.25 /Cum. = ]	D <sub>o</sub>	1 200	
(	V) A	dd 15 % for OH & Contractor	rs profit				Rs.	1.72	
	(i	)Ground Floor -					Rs.	26.71	
					*	Total Rate/Sqm. = 1	NS.	212.96	

Transcent		per SR - 2022)(Kendrapada District)				
(vii	) Add Labour Cess 1%			Rs.	2.12	
(m)				Rs.		-
	1st Floor			NS.	215.08	/Sqm
	Inside					
	Rate of GF			= Rs.	212.96	
(11)	Add 3% extra labour over ground floo	r		Rs.	4.71	
	Add 15 % for O H and contractors pro-	fit on extra labour		Rs.	0.70	
			Total =	_		/Sqm
(iv)	Add Labour Cess 1%					, 1
( , ,	That Edibora CESS 176			Rs.	2.18	
(b)	out side		Total Rate/Sqm. =	Rs.	220.55	
	Rate of GF					
(ii)	Add 5% extra labour over ground floor	r		100,000	212.96	
	Add 15 % for O H and contractors prof	fit on extra labour			7.86	
		- Street Mooti	m	Rs.	1.17	
			Total =	Rs.	221.99	/Sqm.
(iv)	Add Labour Cess 1%					
			Total Rate/Sqm. =	Rs.	2.21	
	2nd Floor		Total Kate/Sqm. =	Ks.	224.20	
130-7	Inside					
(1)	Rate of 1st floor		_	Rs.	218.37	
(11)	Add 3% extra labour over ground floor		-		4.85	
	Add 15 % for O H and contractors profi	it on extra labour		Rs.	0.72	
			Total =	-	223.94	/Sam
(iv)	Add Labour Cess 1%					/oqui.
(11)	Add Labour Cess 1%			Rs.	2.23	
(b)	out side	•	Total Rate/Sqm. =		226.17	
	Rate of GF					
	Add 5% extra labour over ground floor		=	Rs.	221.99	
	Add 15 % for O H and contractors profit	t on ovtra labarra	=	Rs.	8.25	
	prom	t off extra labour		Rs.	1.23	
			Total =	Rs.	231.47	/Sqm.
(iv)	Add Labour Cess 1%					
			T. 1 D m	Rs.	2.31	
(	Cement punning including cost, convey	ance of cement and curing etc. comple	Total Rate/Sqm. =	Rs.	233.78	
a	s per direction of Engg-in-Charge .	and earning etc. comple	te			
(A) C	Ground Floor					
	)Materials -					
	Cement	0.0000				
(ii) b	)Labour -	- 0.0372 Qntl. @ Rs.	546.87 /qntl. =	Rs.	20.34	
	Mason (1st Class)	0.0070 N				
V	Voman mulia	- 0.0270 Nos. @ Rs.	612.00 /each =	Rs.	16.52	
		- 0.0270 Nos. @ Rs.	462.00 /each = _	Rs.	12.47	
iii) c)	Transportation -			Rs.	28.99	
C	ement	- 0.0372 Qntl. @ Rs.	24.70 / 11		V2010000	
		Zini. 6 16.	24.78 /qntl. =	Rs.	0.92	
IV) A	dd 15 % for OH & Contractors profit			D.	700	
				Rs.	7.39	
				Rs.	57.64	
i) A	dd Labour Cess 1%					
			ANDRONE STREET, THE PROPERTY OF	Rs.	0.57	5# C
			Total Rate/Sqm. = ]	₹s.	58.21	
	, 4					

		SP 2022 W - 1				
/F		SR - 2022)(Kendrapada District)				
	3) 1st Floor Inside					
(i				= Rs.	57.64	
(11	Add 3% extra labour over ground floor			= Rs.	0.86	
	Add 15 % for O H and contractors profit of	n extra labour		Rs.	0.12	
			Total	= Rs.	210.00	/Sqm.
				1401	50.02	/sqm.
(11)	7) Add Labour Cess 1%			De	0.50	
			Total Rate/Sqm.	Rs.	0.58	_
***	) out side		rotai Katejoqiii.	- NS.	59.20	
(1)	A TYPE CONTRACTOR OF THE CONTR			= Rs		
(ii	Add 5% extra labour over ground floor				57.64	
	Add 15 % for O H and contractors profit or	n extra labour		113.	1.44	
			Tet-1	Rs.	0.21	
			Total	= Ks.	59.29	/Sqm.
(iv	Add Labour Cess 1%					
			m	Rs.	0.59	
(C)	2nd Floor		Total Rate/Sqm. :	= Rs.	59.88	
(a)	Inside					
(i)				14.00		
(ii)	Add 3% extra labour over ground floor			Rs.	58.62	
	Add 15 % for O H and contractors profit on	extra labour		Rs.	0.89	
		CALL HOOLI		Rs.	0.13	
			Total =	Rs.	59.64	/Sqm.
(iv)	Add Labour Cess 1%					
1.650.6	200 176			Rs.	0.59	
(b)	out side		Total Rate/Sqm. =	Rs.	60.23	
(i)	Rate of GF					
	Add 5% extra labour over ground floor		=	Rs.	59.29	
	Add 15 % for O H and contractors profit on		=	Rs.	1.52	
	and contractors profit on			Rs.	0.22	
		• • • • • • • • • • • • • • • • • • • •	Total =	Rs.	61.03	/Sam.
(iv)	Add Labour Cess 1%					
(11)	Add Labour Cess 1%			Rs.	0.61	
	20mm think 1:		Total Rate/Sqm. =		61.64	
	20mm. thick grading plaster in c.m. 1:4 ove	er roof slab and chujja including cost		STATE OF	02102	
	conveyance and royality of materials curir	ng etc. complete as per direction of				
	Ligg-III-Charge					
(A)	Ground Floor					
(i)	Materials -					
	Sand(screened and washed) -	0.021 C @ P				
	Cement -	0.021 Cum @ Rs.	76.88 /Cum. =		1.61	
		0.0744 Qntl. @ Rs.	546.87 /qntl. =		40.68	
(ii)	Labour - Mason (2nd Class) -	0.16 Nos. @ Rs.		Rs.	42.29	
	Man mulia -	0.10 Nos. @ Rs.	562.00 /each =	Rs.	89.92	
	Woman mulia -	0.13 Nos. @ Rs.	462.00 /each =	Rs.	60.06	
		0.11 Nos. @ Rs.	462.00 /each =	Rs.	50.82	
(iii)	Transportation -			Rs.	200.80	
	Sand(screened and washed) -	0.021 Cy @ P				
	Cement -	0.021 Cum @ Rs.	731.71 /Cum. =		15.36	
		0.0744 Qntl. @ Rs.	24.78 /qntl. = _	Rs.	1.84	
(iv) l	Royalty -			Rs.	17.20	
	Sand(screened and washed) -	0.021 Cum @ Rs.				
		0.021 Cum @ Ks.	230.25 /Cum. =	Rs.	4.84	
(v) A	Add 15 % for OH & Contractors profit					
	residence of the second			Rs.	36.46	

			- 10				
					Rs.	301.59	9
	(v	ii) Add Labour Cess 1%			P-	2.0	
	(1	3) 1st Floor			Total Rate/Sqm. = Rs.	3.01	
	(i				, 1	001.00	
		i) Add 5% extra labour over groun	1.0		= Rs.	301.59	)
	1.	Add 15 % for O H and contracts	d floor		= Rs.	10.04	
		Add 15 % for O H and contractor	rs pront on ext	ra labour	Rs.	1.50	
					Total = Rs.		/Sqm
	(iv	) Add Labour Cess 1%					
					Rs.	3.13	_
		2nd Floor			Total Rate/Sqm. = Rs.	316.26	
		Rate of GF					
	(ii	) Add 5% extra labour over ground	d floor		= Rs.	313.13	
		Add 15 % for O H and contractor	s profit on extr	a labour	= Rs.	10.54	
					Total = Rs.	1.58	
	93				rotar - Rs.	325.25	/Sqm.
	(iv	) Add Labour Cess 1%			P-	2.25	
10					Total Rate/Sqm. = $\frac{Rs.}{Rs.}$	3.25	
19.		2.5cm.grading concrete (1:2:2) on	roof slab using	6mm.size CBHG chips inclu	3:	328.50	
		observeyance and royalty of n	naterials curing	g etc.complete as per direction	on of		
		Engg-in-Charge . (On new wor	rk)	y prese as per affection	on or		
	(A)	Ground Floor					
	(i)	Materials -					
		C.B H.G. chips 4.7mm.size		0.0169 Cum @ Rs.			
		Sand(screened and washed)		0.0169 Cum @ Rs.	850.20 / Cum. = Rs.	14.36	
		Cement		0.1208 Qntl. @ Rs.	76.88 /Cum. = Rs.	1.29	
				0.1200 Qilli. @ KS.	546.87 / qntl. = Rs.	66.06	
	(ii)	Labour -			Rs.	81.71	
		Mason 1 st class		0.10 Nos. @ Rs.	612.00 / 1 2	-	
		Man mulia	_	0.36 Nos. @ Rs.	612.00 /each = Rs.	61.20	
	/***				462.00 / each = Rs.	166.32	
	(m)	Transportation -			Rs.	227.52	
		C.B H.G. chips 4.7mm.size	-	0.0169 Cum @ Rs.	1229.91 /Cum. = Rs.	20.70	
		Sand(screened and washed) Cement		0.0169 Cum @ Rs.	731.71 / Cum. = Rs.	20.78	
		Cement	-	0.1208 Qntl. @ Rs.	24.78 / qntl. = Rs.	12.36 2.99	
	(iv)	Royalty -			Rs.	36.13	
	(21)	C.B H.G. chips 4.7mm.size				50.15	
		Sand(screened and washed)		0.0169 Cum @ Rs.	444.50 /Cum. = Rs.	7.51	
		washed)		0.0169 Cum @ Rs.	230.25 /Cum. = Rs.	3.89	
	(v)	Add 15 % for OH & Contractors pr	C+		Rs.	11.40	
		10 % for Off & Contractors pr	ont		Rs.	46.38	
					Total Rate/Sqm. = Rs.	403,14	
	(vii)	Add Labour Cess 1%					
	(C) = (-10)				Rs.	4.03	
	(B)	1st Floor			Total Rate/Sqm. = Rs.	407.17	/Sqm.
	(i)	Rate of GF					
	(ii)	Add 15% extra labour over ground	floor		≃ Rs.	403.14	
		Add 15 % for O H and contractors p	profit on extra l	abour	= Rs.	34.12	
					Rs.	5.11	
					Total = Rs.	442.37	/Sqm.
-	(iv)	Add Labour Cess 1%		•			
					Rs.	4.42	

(0	2) 2nd Floor		Total Rate/Sqm. =	Rs.	446.7	9
(i	Rate of GF					
(ii	i) Add 15% extra labour over ground floor		=	Rs.	442.3	7
	Add 15 % for O H and contractors profit on	extra labour	=	Rs.	39.2	4
		CALL INVOLT		Rs.	5.8	
			Total =	Rs.	487.4	9 /Sqn
(iv	) Add Labour Cess 1%					
			T. 15	Rs.	4.87	7
0.	4cm.thick grading concrete (1:2:4) on roof s	slab using 12mm & down grade siz	Total Rate/Sqm. =	Rs.	492.36	5
	and a michaelig Cost, conveyance	and rovalty of material	o a			
	as per direction of Engg-in-Cha	rge . (For old work)	8			
(A	Ground Floor					
(i)	Materials -					
	C.B H.G. chips 12mm.size -	0.018 Cum @ Rs.				
	C.B H.G. chips 4.7mm.size -	0.018 Cum @ Rs.	1386.40 /Cum. =		24.95	
	Sand(screened and washed) -	0.018 Cum @ Rs.	850.20 /Cum. =		15.30	
	Cement -	0.1287 Qntl. @ Rs.	76.88 /Cum. =		1.38	
		Olizor Qini. & Rs.	546.87 / qntl. =		70.38	-
(ii)	b)Labour - Mason 1 st class -	0.165 Nos. @ Rs.	(12.00 / 1	Rs.	112.01	
	Mån milia -	1.008 Nos. @ Rs.	612.00 /each =		100.98	
values.		11000 1103. 8 163.	462.00 /each =	THE OWNER WHEN	465.69	_
(iii)	c)Transportation . chips 12mm.size -	0.018 Cum @ Rs.	1220.01 /6	Rs.	566.67	
	C.B H.G. chips 4.7mm.size -	0.018 Cum @ Rs.	1229.91 /Cum. =	Rs.	22.13	
	Sand(screened and washed) -	0.018 Cum @ Rs.	1229.91 /Cum. =	Ks.	22.13	
	Cement -	0.1287 Qntl. @ Rs.	731.71 /Cum. =	Ks.	13.17	
/ .	ND 1	Z 0 10.	24.78 / qntl. = _		3.18	
(1V)	d)Royalty chips 12mm.size -	0.018 Cum @ Rs.	444.50 /Cum. =	Rs.	60.61	
	C.B H.G. chips 4.7mm.size -	0.018 Cum @ Rs.	444.50 / Cum. =	Do	8.00	
	Sand(screened and washed) -	0.018 Cum @ Rs.	230.25 / Cum. =	De	8.00	
(v)	A 11 15 W ( OTT ) -		-	Rs.	4.14	
(,)	Add 15 % for OH & Contractors profit			Rs.	20.14	
			Total Rate/Sqm. =		101.80	
(- 11)			- surrence oqui.	11.5.	861.23	
(VII)	Add Labour Cess 1%			D	0.44	
(D)	1.5		Total Rate/Sqm. =	Rs.	8.61	
	1st Floor Rate of GF		rotar rate/oqui	NS.	869.84	
			= 1	Rs.	861.22	
(11)	Add 15% extra labour over ground floor			Rs.	861.23 85.00	
	Add 15 % for O H and contractors profit on ex	tra labour		Rs.	12.75	
			Total = I		958.98	10
(in)	All I		*	4.74	730.70	/Sqm.
(IV)	Add Labour Cess 1%		p.	20	0.50	
(0)	2- 1 FI		Total Rate/Sqm. = R	Rs.	9.58	
	2nd Floor		- marcyoqui 1	13.	900.50	
	Rate of GF		= R		050.00	
(11)	Add 15% extra labour over ground floor		= R		958.98	
- 1	Add 15 % for O H and contractors profit on ext	ra labour		s.	97.75	
			Total = R		1,071.39	/Sam
(iv)	Add 1 1		TOTAL N	4.74	1,071.39	/Sqm.
(IV) A	Add Labour Cess 1%		D	6	10.74	
			Total Rate/Sqm. = R		10.71	
			. c.a. Kate/5qm. = K	5.	1,082.10	

#### (As per SR - 2022) (Kendrapada District)

Supply fitting and fixing MS grill with Iron work wrought and put up in grated 21. doors, windows and cage latrines, boundry wall spikes etc. complete as per direction of Engg-in-Charge.

Data for 0.508 Qtl. (as per AR-2006, Page No.-225, Sl No.-4)

(A)	Ground Floor
-----	--------------

(i)	(a)Labour						
	Black Smith(Special) Black Smith(2nd Class) fitter(Special) Fitter(2nd Class) Helper to Black Smith Man Mulia	0.75 Nos. @ Rs. 1.00 Nos. @ Rs. 1.00 Nos. @ Rs. 1.00 Nos. @ Rs. 1.00 Nos. @ Rs. 3.25 Nos. @ Rs.	612.00 562.00 612.00 562.00 512.00 462.00	/each = /each = /each =	Rs. Rs. Rs.	459.00 562.00 612.00 562.00 512.00 1,501.50	
(ii)	Material			508 Qtl = one Kg =		4,208.50 82.84	/Kg.
	Cost of MS Steel Section	1.00 Kg @ Rs.	67.94	/Kg=	Rs.	67.94	. 0
(iii)	Total cost including materials and labour Add 15 % for OH & Contractors profit		Total R	ate/Kg =	Rs.	150.78	

Total Rate/Kg =	Rs.	150.78
	Rs.	22.61
Total =	Rs.	173.39

(v) Add Labour Cess 1%

22. A Supplying , fixing and Hoisting joists and trusses and placing in position to recive

GCI roofing etc, as per direction of Engineer -in -charge. Per 1 Qntl.

Data for 0.508 Qntl.

#### (A) Ground Floor

(i) (a)Labour

	(1)	(a)Labout						
		Sangi Mulia for conveying joist from outside to the buildings	0.25 Nos. @ Rs.	512.00	/each=	Rs.	128.00	
		Sangi Mulia for lifting joists up to top of the walls with ropes, etc	0.75 Nos. @ Rs.	512.00	/each =	Rs.	384.00	
		Man Mulia for placing joists in position	0.17 Nos. @ Rs.	462.00	/each=	Rs.	78.54	
				for 0.5	508 Qtl =	Rs.	590.54	
				for	1.00Qt1 =	Rs.	1,162.48	/Qtl.
	(ii)	Material		Rate per o	one Kg =	Rs.	11.62	/Kg.
	iii	Cost of structural section with febrication including 5.00% wastage & commection  Febrication  Febricated iron work(labour only) as per S/R-2022Page-224,item no.25.6.2	1.05 Kg @ Rs.	67.94	/Kg =	Rs.	71.33	
		Total cost including materials and labour	1.00 Qtl @ Rs.	355.25	/Qtl. =		3.55	
	(iii)	Add 15 % for OH & Contractors profit		Total Ra	te/Kg=	Rs.	86.50	/Kg.
	(v)	Add Labour Cess 1%			Total =	Rs. Rs.	12.97 99.47 0.99	/Kg.
3.	A	Iron work wrought and put up in trusses and record	racks including all labour	Total Rate,	/Sqm. =	Rs.	100.46	/Kg.

23. A Iron work wrought and put up in trusses and record racks including all labour and Materials etc, as per direction of Engineer -in -charge.

(A (i)	Per 1 Qntl. Data for 0.508 Qntl.  Ground Floor	022)(Kendrapada District)  ( 1.25 Nos. @ Rs.			
	Ground Floor (a)Labour  Black smith (2nd Class)	1.25 Nos. @ Rs.			
	(a)Labour Black smith (2nd Class)	1.25 Nos. @ Rs.			
(i)	Black smith (2nd Class)	1.25 Nos. @ Rs.			
		1.25 Nos. @ Rs.			
	ritter (2nd Class)		562.00 /each = Rs.	702.50	
	LI-d-	1.00 Nos. @ Rs.	562.00 /each = Rs.	562.00	
	Helper Man Mulia	1.00 Nos. @ Rs.	462.00 /each = Rs.	462.00	
	Mart Mulia	2.50 Nos. @ Rs.	462.00 /each = Rs.	1,155.00	
			for $0.508 \text{ Qtl} = \text{Rs}$ .	2,881.50	
		*	for $1.00Qtl = Rs$ .	5,672.24	/Qtl.
(ii)	Material		Rate per one $Kg = Rs$ .	56.72	/Kg.
	Cost of structural section with febrication including 5.00% wastage & connection				
iii	Febrication	1.05 Kg @ Rs.	67.94 /Kg = Rs.	71.33	
	Febricated iron work(labour only) as per S/R-2022Page-224,item no.25.6.2				
	Total cost including materials and labour	1.00 Qtl @ Rs.	355.25 /Qtl. = Rs.	3.55	
(iii)	Add 15 % for OH & Contractors profit		Total Rate/Kg = Rs.	131.60	/Kg.
			Rs.	19.74	
(v)	Add Labour Cess 1%		Total = Rs. Rs.	151.34 1.51	/Kg
	Drilling holes 6mm to 12mm da in iron flats, ang thick with hand drill (labour only) Per each ( as per 7)	les, tees etc. of 6mm to 10m r SR-2006, Page No-26, Sl. No	Total Rate/Sqm. = Rs.	152.85	/Kg.
	Data for 36 Nos. of holes				
	(a)Labour				
	Fitter (2nd class)				
		1 Nos. @ Rs.	562.00 /each = Rs.	562.00	
1	Manmulia	1 Nos. @ Rs.	462.00 /each = Rs.	462.00	
			for 36 nos = Rs.	1,024.00	
(ii) N	Material		Rate per one No = Rs.	28.44	/no
N	MS screew 50x8mm (SR 2022, Page 55, Sl.140(n)	1.00 No@ Rs.	8.75 /No = Rs.	8.75	
(iii) A	Add 15 % for OH & Contractors profit		Rs.	37.19	/no
			Rs.	5.57	
(V) P	Add Labour Cess 1%		Total = Rs. Rs.	42.76	/no
В Б	Prilling holes 12mm to 25mm dia :			43.18	/no.
	Orilling holes 12mm to 25mm dia in iron flats, anglatick with hand drill(labour only) Per each ( as per s	es, tees etc. of 6mm to 10mm SR-2006, Page No-27, Sl. No		45.10	/110.
0,					
	ata for 66 Nos. )Labour				
120					
Fi	tter (2nd class)	1 Nos. @ Rs.	562.00 /each = Rs.	562.00	

24.

26.

		( As per SR - 202	(2) (Kendrapada District)				
	Manmulia						
			1 Nos. @ Rs.	462.00 /eacl	n = Rs.	462.0	0
				for 27 no		1,024.0	
(iii	Material			Rate per one No		37.9	
		1000 D ==				0,.,,	/110
	MS screew 50x8mm (SR 2	2022, Page 55, Sl.140(n)	1.00 Nn@ Rs.	8.75 /No	= Rs.	8.73	
(iii	Add 15 % for OH & Contr	rootene – Cu			Rs.	46.67	-
	of the Corn	ractors profit			Rs.	7.00	1
(v)	Add Labour Cess 1%			Total	= Rs.	53.67	
					Rs.	0.53	7.2.0
				Total Rate/Sqm.	= Re	54.20	-
	Pod Ocida para	1 #			10.	54.20	/no
	complete as per direction of Data for 9.30 Sqm	coat with Red oxide pr of Engg-in-Charge .	imer of approvedquality e	etc.			
(A)	Ground Floor						
	Labour						
13	Painter (1st class)						
	Man mulia		0.5 Nos. @ Rs.	612.00 /each	= Re	306.00	
	- Пан пана		0.5 Nos. @ Rs.	462.00 /each	= Rs	231.00	
				/ cach	Rs.	537.00	
(ii)	Material			Rate per one Sqm.		57.74	
	Cost of red oxide Primer	0.00		****		37.74	/Sqm.
		0.75 ltre/10 Sqm.	0.075 Ltre. @ Rs.	150.98 /ltr	e Rs.	11.32	
	Total cost including materi	als and labour					
111)	Add 15 % for OH & Contra	actors profit		Total Rate/Sqm. =	440		/Sqm.
				Total =	Rs.	10.35	
	4-12-1-1		•	Total =	Ks.	79.41	
(v)	Add Labour Cess 1%						
				Company of the Compan	Rs.	0.79	
B) _	1st Floor			Total Rate/Sqm. =	Rs.	80.20	/Sqm.
	Rate of GF						
11)	Add 3% extra labour over g	rour d floor			Rs.	79.41	
	Add 15 % for O H and contr	ractors profit on extra lab	our	-	Rs.	1.73	
				T 1	Rs.	0.25	
2004 00				Total =	Rs.	81.39	/Sqm.
V) 1	Add Labour Cess 1%						
				77 . 175	Rs.	0.81	
	nd Floor			Total Rate/Sqm. =	Rs.	82.20	/Sqm.
i) F	Rate of 1st floor						
1) 1	Add 3% extra labour over gr	round floor			Rs.	81.39	
-	add 15 % for O H and contro	actors profit on extra labo	ur	=	Rs.	1.78	
				T-1-1	Rs.	0.26	
				Total =	Ks.	83.43	/Sqm.
0 4							
() A	dd Labour Cess 1%				-		
				Total D. t. 10	Rs.	0.83	
E.	namel Painting two coats v	with enamel paint of app harge .	roved quality etc. complete	Total Rate/Sqm. =	Rs.	0.83 84.26	/Sqm.
E as	namel Painting two coats v sper direction of Engg-in-Ca ata for 9.30 Sqm	with enamel paint of app harge .	roved quality etc. complete	Total Rate/Sqm. =	Rs.		/Sqm.
E as D	namel Painting two coats v sper direction of Engg-in-Cl ata for 9.30 Sqm round Floor	with enamel paint of app harge .	roved quality etc. complete	Total Rate/Sqm. =	Rs.		/Sqm.
E as D (a	namel Painting two coats v sper direction of Engg-in-Ca ata for 9.30 Sqm round Floor )Labour	with enamel paint of app harge .	roved quality etc. complete	Total Rate/Sqm. =	Rs.		/Sqm.
E as D (a Pa	namel Painting two coats v sper direction of Engg-in-Ca ata for 9.30 Sqm round Floor )Labour tinter (1st class)	with enamel paint of app harge . -			Rs.	84.26	/Sqm.
E as D (a (a Pa	namel Painting two coats versions of Engg-in-Clata for 9.30 Sqm  round Floor  )Labour  tinter (1st class)  an mulia	with enamel paint of app harge . - -	1.25 Nos. @ Rs.	612.00 /each=	Rs.	84.26 / 765.00	/Sqm.
E as D (a) (a) (a) Pa	namel Painting two coats v sper direction of Engg-in-Ca ata for 9.30 Sqm round Floor )Labour tinter (1st class)	with enamel paint of app harge . - - -			Rs. Rs. Rs.	84.26	/Sqm.

		As per S	oK - 2022 (Kendrapada District)					
(i	ii) Material			Rate per	one Sqm. =	Rs.	136.90	/Sqm.
	Cost of Pair	nt	- 0.125 Ltre @ Rs.	205.61	/11	D		
			2000	203.61	/ltre =	Ks.	25.70	
	Total cost is	ocluding materials 11 1		Total R	ate/Sqm.=	Rs.	25.70	7
(ii	ii) Add 15 % fo	ncluding materials and labour or OH & Contractors profit		Total R	ate/Sqm.=	Rs.		/Sqm.
(1)	1) 1100 15 /6 10	of the Contractors profit				Rs.	24.39	
					Total =	Rs.	186.99	_
(v	) Add Labour	r Cess 1%						
				T . 1 D		Rs.	1.86	-
(B	3) 1st Floor			Total R	ate/Sqm. =	Rs.	188.85	/Sqm.
	) Rate of GF					TV.		
(ii	i) Add 3% ext	ra labour over ground floor				Rs.	186.99	
	Add 15 % fo	or O H and contractors profit on	extra labour		=	2.00	4.10	
					Total =	Rs.	0.61	/Sqm.
Gen	LILLA				1044	1,	191.70	/Squi.
(IV	) Add Labour	Cess 1%				Rs.	1.91	
(C	2nd Floor			Total Ra	ate/Sqm. =			/Sqm.
	Rate of 1st fl	oor						
(ii)	Add 3% extr	a labour over ground floor			=	Rs.	191.70	
	Add 15 % for	r O H and contractors profit on e	avtra labour		=	Rs.	4.23	
		prom on e	Aud labour			Rs.	0.63	
					Total =	Rs.	196.56	/Sqm.
(iv	) Add Labour	Cess 1%				D		
				Total Ra	ite/Sqm. =	Rs.	1.96	10
				rotal Ra	rejoqii. –	175.	198.52	/Sqm.
	Eamel Painti	no two coats with anomal						
	quality etc. co	omplete as por direction of E	over one coat of primer of approved					
(A)	Ground Floo	omplete as per direction of Engg	-in-Charge .					
(/		coat Enamel paint						
	Cost of one co	pat primer				Rs.	188.85	
		out printer				Rs.	80.20	
(B)	1st Floor			Total Ra	te/Sqm. =	Rs.	269.05	/Sam.
		oat Enamel paint						
	Cost of one co	oat primer				Rs.	198.52	
				Page 2 Sales		Rs.	82.20	
(C)	2nd Floor			Total Rat	te/Sqm. = -	Rs.	280.72	/Sqm.
	Cost of Two c	oat Enamel paint						
	Cost of one co	at primer				Rs.	198.52	
				Total Dat		Rs.	84.26	
	Cement wash	ing one coats with cost of all lab	our & materials etc. complete as per	Total Kat	e/Sqm. =	Ks.	282.78	/Sqm.
	Chiecelon of Li	igg-in-Charge.	are complete us per					
	Data for 93.00	Sqm						
	Ground Floor							
(i)	Materials -	Cement	1.0010 Qutl. @ Rs.	F46.05				
(ii)	Labour -	Painter(2nd class)	0.75 Nos. @ Rs.	562.00	/qntl. = 1	KS.	547.41	
		Man mulia	0.50 Nos. @ Rs.	462.00	/each = 1	KS.	421.50	
2000			1.03. 5 1/3.	402.00	/each = _I		231.00	
(iii)	Transportation	ı - Cement	1.0010 Qntl. @ Rs.	24.770		Rs.	652,50	
(iv)	Add 15 % for (	OH & Contractors profit		24.70	/qntl. = I		24.80	1
						cs.	179.98	
		, n						

28.

		100000000000000000000000000000000000000	2022 Jikendrapada Dis	inci			
					Rs.	14.84	/Sqm
(vi)	Add Labour Cess 1%						7
	CC33 1/6				Rs.	0.14	
(B)	1st Floor			or say Rate/Sqm	.= Rs.	14.98	-
(a)	Inside						
(i)	Rate of GF						
(ii)	Add 3% extra labour over gro	ound floor			= Rs.	14.84	
	Add 15 % for O H and contra	ctors profit on extra	a labour		= Rs.	0.21	
				T . 1	Rs.	0.03	_
				Total	= Rs.	15.08	/Sqm.
(iv)	Add Labour Cess 1%				12.5		
-				T-1-1 D	Rs.	0.15	
	out side			Total Rate/Sqm.	= Rs.	15.23	
	Rate of GF				- D-	1101	
(11)	Add 15 % for O.V.	urd floor			= Rs. = Rs.	14.84	
	Add 15 % for O H and contrac	cters profit on extra	labour		Rs.	0.35	
				Total :		0.05 15.24	. 10
(iv)	Add Labor C. an				133	13.24	/Sqm.
(11)	Add Labour Cess 1%				Rs.	0.15	
(C)	2nd Floor			Total Rate/Sqm. =	Rs.	15.39	
- 1160101704	Inside					10.00	
(i)	Rate of 1st floor						
(ii) .	Add 3% extra labour over grou	and floor			Rs.	15.08	
	Add 15 % for O H and contract	tors profit on extra	labour		Rs.	0.21	
		1 on extra	шоощ		Rs.	0.03	
				Total =	Rs.	15.32	/Sqm.
(iv)	Add Labour Cess 1%				D-	0.47	
(h) c	ut side			Total Rate/Sqm. =	Rs.	0.15	
	late of GF			7 - 1	143.	13.47	
	add 5% extra labour over grou	nd flam		-	Rs.	15.24	
F	add 15 % for O H and contract	ors profit on outer 1	1	-	Rs.	0.36	
		ors profit on extra	abour		Rs.	0.05	
				Total =	Rs.	15.65	/Sqm
(iv) A	dd Labour Cess 1%						to the same
		uf-			Rs.	0.15	
				Total Rate/Sqm. =	Rs.	15.80	
F	nishing wall surface of wa	lls with Acrylic	wall putty (Water he				
	I music und imusicu	Smooth and organ	· constant				
				amung			
	etc. complete as pe	r direction of Enga	-in-Charge	s taxes,			
	тот того запт	08	Charge.				
A) <u>G</u>	round Floor						
	Materials -						
	ement based putty	-	8.00 kg. @ Rs.	30.00 /kg. =	De.	240.00	
	Labour - inter 2nd class			- 7 kg.	15.	240.00	
	ulia	30	0.50 Nos. @ Rs.	562.00 /each.=	Rs.	281.00	
		*	0.57 Nos. @ Rs.	462.00 /each. =	Rs.	263.34	
		-			Rs.	544.34	
	ld 15 % for OH & Contractors						
	ld 15 % for OH & Contractors	profit	•		Rs.		
	ld 15 % for OH & Contractors	profit			Rs.	117.65 901.99	

		Ship to the same of				
(v)	Add Labour Cess 1%					
(70)			Total Rate/Sqn	Rs.	0.90	
(B)			Total Kate/Sqli	. = Ks.	91.09	/Sqm.
(a)						
(i)				= Rs.	00.10	
(11)	Add 3% extra labour over ground floor			= Rs.	90.19	
	Add 15 % for O H and contractors profit on extra lal	bour		Rs.	0.24	
			Tota	1 = Rs.		/Sqm.
fire	Addition			3,000	22.00	/ Squi.
(11)	Add Labour Cess 1%			Rs.	0.92	
(b)	out side		Total Rate/Sqm	= Rs.	92.98	-
	Rate of GF		, 1		22.70	
	Add 5% extra labour over ground floor			= Rs.	90.19	
(11)	Add 15 % for O H and contract			= Rs.	2.72	
	Add 15 % for O H and contractors profit on extra lab	our		Rs.	0.40	
			Total	= Rs.		/Sqm.
(iv)	Add Labour Cess 1%					/oqui.
(11)	Add Labour Cess 1%			Rs.	0.93	
(C)	2nd Floor		Total Rate/Sqm.		94.24	
	Inside		, 1		71,61	
4.00	Rate of 1st floor					
(ii)	Add 3% extra labour over ground floor			= Rs.	92.06	
	Add 15 % for O H and contractors profit on extra labor			= Rs.	1.68	
	and contractors profit on extra laboration	our		Rs.	0.25	
			Total	= Rs.	93.99	/Sqm.
(iv)	Add Labour Cess 1%					/ - 1
	That Ediboti Cess 1/6			Rs.	0.93	
(b)	out side		Total Rate/Sqm.		94.92	
4.5	Rate of GF					
	Add 5% extra labour over ground floor			= Rs.	93.31	
	Add 15 % for O H and contractors profit on extra labo			= Rs.	2.85	
	Profit off extra labo	our		Rs.	0.42	
		•	Total =	Rs.	96.58	/Sqm.
(iv)	Add Labour Cess 1%					
				Rs.	0.96	
1	Wall Priming one coats on new work with and		Total Rate/Sqm. =	Rs.	97.54	
	Wall Priming one coats on new work with wal approved shade as per direction of Engg-in-Charge.	water bound p	primer of			
	Data for 10 Sqm					
(A) C	Ground Floor					
(i) N	Materials -	S - X				
(	Cost of primer	0.94 1 @ D				
	abour -	0.84 kg @ Rs.	159.30 /ltre =	Rs.	133.81	
	ainter (1st class)	O.E. Nov. @ D				
N	Man mulia	0.5 Nos. @ Rs. 0.50 Nos. @ Rs.	612.00 /each =	Rs.	306.00	
		0.50 140S. @ KS.	462.00 /each =	Rs.	231.00	
iii) A	add 15 % for OH & Contractors profit			Rs.	537.00	
	or a conductors prom			Rs.	100.62	
			or say Rate/10.00 Sqm =	Rs.	771.43	
v) A	dd Labour Cess 1%					
1	C65 1/6			Rs.	7.71	
			or say Rate/10.00 Sqm =	Rs.	779.14	
8) 1-	t Floor (I: 1.)		or say Rate/1 Sqm =			
15	st Floor -(In side)		Janey I oqui., =	145.	77.91 /	oqm.

		(As per S	SR - 2022)(Kendrapada District)					
	(i)	GF Rate	The District					
	(ii)	Add	29			Rs.	77.1	4
			3% extra labour		OH &C			
			1.61	+	0.2	4 Rs.	1.8	
					Tota	l Rs.	78.9	9 /Sqm.
(	iv)	Add Labour Cess 1%						
						Rs.	0.7	8
- 1	C	2nd Floor -(In side)		or sav Ra	ate/Sqm.=	= Re		7 /Sqm.
				,	, oqui.	113.	19.7	/ /sqm.
	(1)	1st Floor Rate						
(	ii)	Add	3% extra labour			Rs.	78.99	)
					OH &CP			
			1.65	+		Rs.	1.89	
					Total	Rs.	80.88	/Sqm.
(i	v)	Add Labour Cess 1%						
						Rs.	0.80	
32.		Wall painting two costs with many		or say Ra	te/Sqm.=	Rs.	81.68	/Sqm.
		Wall painting two coats with Plastic emuls direction of Engg-in-Charge.	sion paint of approved shade as per				02.00	/oqui.
		Data for 10.00 Sqm						
14	1)	Ground Floor						
(i		Materials -						
(1								
411		Cost of Plastic emulsion paint	1.25 kg @ Rs.	240.61	n.			
(1)		Labour -	118 0 113.	249.61	/ltre =	Rs.	312.01	
		Painter (1st class)	0.54 Nos. @ Rs.	612.00	1 1	**		
		Man mulia	0.54 Nos. @ Rs.	462.00	/each =	Ks.	330.48	
	I	Man mulia(for prep. surface)	0.10 Nos. @ Rs.	462.00	/each =	Rs.	249.48	
			1100. 0 10.	402.00	/each =		46.20	
(iii	i) /	Add 15 % for OH & Contractors profit				Rs.	626.16	
		Profit				Rs.	140.72	
			or say	Rate/10.00	) Sqm = "	Rs.	1,078.89	
(v)	) A	Add Labour Cess 1%						
		0.000 1/0				Rs.	10.78	
			To	tal Rate/10			1,089.67	
(B)	G	ii)1st Floor -(In side)		Total Rate	/Sam. =	Rs.	108.96	/C ann
(i)	G	F Rate			,	110.	100.90	/sqm.
100	A					Rs.	108.96	
			3% extra labour	(	OH &CP		100.50	
			1.87	+	0.28	Rs.	2.15	
					-	Rs.	111.11	/Com
(iv)	Λ	dd Labour Cess 1%					******	/oqui.
(11)	A	dd Labour Cess 1%				D	19 22	
				-	_	Rs.	1.11	
(C)	2r	nd Floor -(In side)	O	or say Rate	/Sqm.= 1	Rs.	112.22	/Sqm.
(i)	1	1st Floor Rate						
(ii)		dd	4200 T		1	Rs.	111.11	
			3% extra labour	0	H &CP			
			1.93	+	0.28 F	Rs.	2.21	
					Total F		113.32	/Sam
(iv)	A	dd Labour Cess 1%						- dini
()		Lacout Cess 1%			T	Rs.	1.10	
				r cay Date			1.13	
			Oi	r say Rate/	sqm.= R	is.	114.45	Sqm.
	IAT-	all mainting to	You want to be a second or a s					

33. Wall painting two coats on new work with Weather coat paint of approved shade as per direction of Engg-in-Charge.

(As per SR - 2022) (Kendrapada District) Data for 10.00 Sqm.. (A) Ground Floor (i) a)Materials -Cost of Weather coat paint 1.25 kg @ Rs. 191.62 /ltre = Rs. 239.52 (ii) b)Labour -Painter (1st class) 0.52 Nos. @ Rs. 612.00 /each = Rs. Man mulia 318.24 0.62 Nos. @ Rs. 462.00 /each = Rs. 286.44 Rs. 604.68 (iii) Add 15 % for OH & Contractors profit 126.63 Rs. or say Rate/10.00 Sqm.. = Rs. 970.83 97.08 /Sqm. Rs. (v) Add Labour Cess 1% Rs. 0.97 Total Rate/Sqm. = Rs. (B) 1st Floor 98.05 /Sqm. (a) Inside (i) Rate of GF = Rs. (ii) Add 3% extra labour over ground floor 97.08 Add 15 % for O H and contractors profit on extra labour = Rs. 1.81 Rs. 0.27 Total = Rs. 99.16 /Sqm. (iv) Add Labour Cess 1% Rs 0.99 (b) out side Total Rate/Sqm. = Rs. 100.15 Rate of GF = Rs. 97.08 (ii) Add 5% extra labour over ground floor Add 15 % for O H and contractors profit on extra labour = Rs. 3.02 Rs. 0.45 Total = Rs. 100.55 /Sqm. (iv) Add Labour Cess 1% Rs. 1.00 Total Rate/Sqm. = Rs. (C) 2nd Floor 101.55 (a) Inside (i) Rate of 1st floor (ii) Add 3% extra labour over ground floor = Rs. 99.16 Add 15 % for O H and contractors profit on extra labour = Rs. 1.86 Rs. 0.27 Total = Rs. 101.29 /Sqm. (iv) Add Labour Cess 1% Rs. 1.01 Total Rate/Sqm. = (b) out side Rs. 102.30 (i) Rate of GF (ii) Add 5% extra labour over ground floor = Rs. 100.55 Add 15 % for O H and contractors profit on extra labour Rs. 3.17 Rs. 0.47 Total = Rs. 104.19 /Sqm. (iv) Add Labour Cess 1% 1.04 Total Rate/Sqm. = Rs. Wall painting two coats on new work with Distemper of approved shade etc. 105.23 complete as per direction of Engg-in-Charge . Data for 10.00 Sqm.. (A) Ground Floor

.

34.

(i) a)Materials -

(iv) Add Labour Cess 1%       Rs.       0.91         (C) 2nd Floor       Total Rate/Sqm. = Rs.       92.75 /Sq.         (i) Rate of 1st floor       = Rs.       91.84         (ii) Add 3% extra labour over ground floor       = Rs.       0.58         Add 15 % for O H and contractors profit on extra labour       Rs.       0.08		In	5 PCI DIX - 20	22 MKenarapada District	1				
Painter ( 1st class )	(iii)			2.50 kg @ Rs.	70.35	/ltre =	Rs.	175.86	
Man mulia	(11)								
Made   15 % for OH & Contractors profit   Res			-			3.0		318.24	
Miles   Mile		Wait Itulia	-	0.62 Nos. @ Rs.	462.00	/each=	-	THE RESERVE OF THE PARTY OF THE	NOW.
Or say Rate/10.00 Sqm.   Rs.   897.62   Rs.   897.62   Rs.   897.6   Rs.   90.65   R	(::::	Add 15 w ( Oll a C					Rs.	604.68	
Total Rate/Sqm. = Rs.	(111)	Add 15 % for OH & Contractors profi	it					117.08	
Mail Labour Cess 1%   Re   0.00   70   70   70   70   70   70									
Richard   Rich					Total Rate	/Sqm.=	Rs.	89.76	/Sqm.
Richard   Rich	(v)	Add Labour Cess 1%					Rs.	0.89	
18   Floor							-		/Sam
	100								70-4111
Add 15 % for O H and contractors profit on extra labour   Rs.   0.27   Total   Rs.   0.27   Total   Rs.   0.29   Total   Rs.   0.28   Rs						=	Rs.	89.76	
Total   Res.   91,34   75    (iv)   Add Labour Cess 1%   Res.   91,34   75    (c)   2nd Floor   Total Rate/Sqm. = Res.   92,75   750    (ii)   Rate of 1st floor   Res.   92,75   750    (iii)   Add 3% extra labour over ground floor   Res.   0.38   Res.   0.088	(11)	Add 3% extra labour over ground floo	or			=			
C   2nd Floor   Total Rate/Sqm. = Rs.   0.91		Add 15 % for O H and contractors pro	ofit on extra	abour			Rs.	0.27	
Total Rate/Sqm. =   Rs.   9.37   7.50   7.						Total =	Rs.		/Sqm
Total Rate/Sqm. =   Rs.   9.37   7.50   7.	(-1	A111 1 C 48							7
Total Floor   Fixing colour Vitrified tiles in floors (Printed Series) of size 600mm x600 mm of approved make conforming IS:13755 laid on 20 mm thick cement mortar (1:4) and filling joints with white cement of approved quality including cost of all materials, labour T&P etc rrequired for the work all completeas per direction of Engineer-in-charge.  Data for 10 Sqm.    A   Ground Floor   Cost of vitrified tile   O.0760 Qntl. @ Rs.   Total Rs.   Ser.	(IV)	Add Labour Cess 1%						0.91	
Table   State of 1st floor   Add 3% extra labour over ground floor   Add 15% for O H and contractors profit on extra labour   Add 15% for O H and contractors profit on extra labour   Add 15% for O H and contractors profit on extra labour   Total   Rs.   0.08   Rs.   0.08   Total   Rs.   0.92   Rs.   0.92   Rs.   0.92   Rs.   0.92   Rs.   0.92   Rs.   0.92   Rs.   0.93   Rs.   0	(C)	2nd Floor			Total Rate	/Sqm. =	Rs.	92.75	/Sqm.
(ii) Add 3% extra labour over ground floor Add 15 % for O H and contractors profit on extra labour  (iv) Add Labour Cess 1%  Fixing colour Vitrified tiles in floors (Printed Series) of size 600mm x600 mm of approved make conforming IS:13755 laid on 20 mm thick cement mortar (1:4) and filling joints with white cement of approved quality including cost of all materials, labour T&P etc rrequired for the work all completeas per direction of Engineer-in-charge.  Data for 10 Sqm.  (A) Ground Floor (a) Materials - Sand(screened and washed)  Cement  Cost of vitrified tile  10.0760 Qntl. @ Rs.  10.010 Sqm. @ Rs.  1725.00 /qntl. = Rs.  188. 16.14  Cement  Cost of vitrified tile  10.000 Sqm. @ Rs.  1725.00 /qntl. = Rs.  188. 16.200  Rs.  188. 16.200  Rs.  189. 19.92  Fixing colour Vitrified tile in floors (Printed Series) of size 600mm x600 mm of approved make conforming IS:13755 laid on 20 mm thick cement mortar (1:4) and filling joints with white cement of approved quality including cost of all materials, labour T&P etc rrequired for the work all completeas per direction of Engineer-in-charge.  Data for 10 Sqm.  All Store OH & Contractors profit  Add 15 % for OH & Contractors profit  Add 15 % for OH & Contractors profit  Add 15 % for OH & Contractors profit								September 1997	
Add 15 % for O H and contractors profit on extra labour    Rs.   0.08   Total   Rs.   92.50   /Sc		Add 3% extra labour over ground floo	or						
(iv) Add Labour Cess 1%  Fixing colour Vitrified tiles in floors (Printed Series) of size 600mm x600 mm of approved make conforming IS:13755 laid on 20 mm thick cement mortar (1:4) and filling joints with white cement of approved quality including cost of all materials, labour T&P etc rrequired for the work all completeas per direction of Engineer-in-charge.  Data for 10 Sqm.  (A) Cround Floor  (i) a) Materials - Sand(screened and washed) - 0.21 Cum @ Rs. 76.88 / Cum. = Rs. 16.14  Cement - 1.0740 Qntl. @ Rs. 546.87 / qntl. = Rs. 587.33  White Cement - 0.0760 Qntl. @ Rs. 1725.00 / qntl. = Rs. 131.10  Cost of vitrified tile - 10.00 Sqm. @ Rs. 689.20 / Sqm. = Rs. 6,892.00  Mulia - 2.16 Nos. @ Rs. 612.00 / each = Rs. 1,321.92  Mulia - 2.16 Nos. @ Rs. 612.00 / each = Rs. 997.92  Rs. 2,319.84  (iii) c) Transportation- Sand(screened and washed) - 0.210 Cum @ Rs. 731.71 / Cum. = Rs. 153.65  Tiles - 10.00 Sqm. @ Rs. 12.87 / Sqm. = Rs. 22.61  Rs. 308.99  (iv) d) Royalty - Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 / Cum. = Rs. 48.35		Add 15 % for O H and contractors pro	ofit on extra l	abour		=			
(iv) Add Labour Cess 1%  Fixing colour Vitrified tiles in floors (Printed Series) of size 600mm x600 mm of approved make conforming IS:13755 laid on 20 mm thick cement mortar (1:4) and filling joints with white cement of approved quality including cost of all materials, labour T&P etc rrequired for the work all completeas per direction of Engineer-in-charge.  Data for 10 Sqm.  (A) Ground Floor  (i) a) Materials - Sand(screened and washed)  Cement  - 1.0740 Qntl. @ Rs.  White Cement  Cost of vitrified tile  - 10.00 Sqm. @ Rs.  - 2.16 Nos. @ Rs.  Mason (Spl.)  Mulia  - 2.16 Nos. @ Rs.  Alexa (Squ. = Rs. 1,321.92  Mason (Spl.)  Mulia  - 2.16 Nos. @ Rs.  Alexa (Squ. = Rs. 1,321.92  Alexa (Squ. = Rs. 1,321.92  Alexa (Squ. = Rs. 1,321.92  Alexa (Spl. = R		or and confidence pro	nit off extra i	about		m . 1			
Fixing colour Vitrified tiles in floors (Printed Series) of size 600mm x600 mm of approved make conforming IS:13755 laid on 20 mm thick cement mortar (1:4) and filling joints with white cement of approved quality including cost of all materials, labour T&P etc rrequired for the work all completeas per direction of Engineer-in-charge.   Data for 10 Sqm.						Iotal =	Ks.	92.50	/Sqm.
Fixing colour Vitrified tiles in floors (Printed Series) of size 600mm x600 mm of approved make conforming IS:13755 laid on 20 mm thick cement mortar (1:4) and filling joints with white cement of approved quality including cost of all materials, labour T&P etc rrequired for the work all completeas per direction of Engineer-in-charge.  Data for 10 Sqm.    (A)   Ground Floor	(iv)	Add Labour Cess 1%					Rs.	0.92	
(i) a)Materials - Sand(screened and washed) - 0.21 Cum @ Rs. 76.88 /Cum. = Rs. 16.14 Cement - 1.0740 Qntl. @ Rs. 546.87 /qntl. = Rs. 587.33 White Cement 0.0760 Qntl. @ Rs. 1725.00 /qntl. = Rs. 131.10 Cost of vitrified tile - 10.00 Sqm. @ Rs. 689.20 /Sqm. = Rs. 6,892.00 Rs. 7,626.57  (ii) b)Labour - 1		materials, labour T&P etc rrequired for Engineer-in-charge.	nt of approv or the work	ed quality including cost all completeas per direct	of all ion of				
(ii) a)Materials - Sand(screened and washed) - 0.21 Cum @ Rs. 76.88 /Cum. = Rs. 16.14 Cement - 1.0740 Qntl. @ Rs. 546.87 /qntl. = Rs. 587.33 White Cement 0.0760 Qntl. @ Rs. 1725.00 /qntl. = Rs. 131.10 Cost of vitrified tile - 10.00 Sqm. @ Rs. 689.20 /Sqm. = Rs. 6,892.00 Rs. 7,626.57  (iii) b)Labour - Rs. 1.321.92 Mason (Spl.) - 2.16 Nos. @ Rs. 612.00 /each = Rs. 1,321.92 Mulia - 2.16 Nos. @ Rs. 462.00 /each = Rs. 997.92 Rs. 2,319.84  (iii) c)Transportation - Sand(screened and washed) - 0.210 Cum @ Rs. 731.71 /Cum. = Rs. 153.65 Tiles - 10.00 Sqm. @ Rs. 12.87 /Sqm. = Rs. 128.73 Cement - 1.0740 Qntl. @ Rs. 24.78 /qntl. = Rs. 26.61 Rs. 308.99  (iv) d)Royalty - Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 /Cum. = Rs. 48.35									
Cement				•					
Cement			-	0.21 Cum @ Re	76 99 /	C	D.	1611	
White Cement Cost of vitrified tile  - 10.00 Sqm. @ Rs. 1725.00 /qntl. = Rs. 131.10    10.00 Sqm. @ Rs. 689.20 /Sqm. = Rs. 6,892.00									
Cost of vitrified tile - 10.00 Sqm. @ Rs. 689.20 /Sqm. = Rs. 6,892.00 Rs. 7,626.57    Mason (Spl.)		White Cement							
(ii) b)Labour - Rs. 7,626.57  Mason (Spl.) - 2.16 Nos. @ Rs. 612.00 /each = Rs. 1,321.92  Mulia - 2.16 Nos. @ Rs. 462.00 /each = Rs. 997.92  (iii) c)Transportation - Rs. 2,319.84  (iii) c)Transportation - Rs. 2,319.84  Sand(screened and washed) - 0.210 Cum @ Rs. 731.71 /Cum. = Rs. 153.65  Tiles - 10.00 Sqm. @ Rs. 12.87 /Sqm. = Rs. 128.73  Cement - 1.0740 Qntl. @ Rs. 24.78 /qntl. = Rs. 26.61  Rs. 308.99  (iv) d)Royalty - Rs. 230.25 /Cum. = Rs. 48.35  (v) Add 15 % for OH & Contractors profit Rs. 1,491.96		Cost of vitrified tile							
Mason (Spl.)	***					1			
Mulia - 2.16 Nos. @ Rs. 612.00 / each = Rs. 1,321.92  (iii) c)Transportation - Rs. 2,319.84  (iii) c)Transportation - Sand(screened and washed) - 0.210 Cum @ Rs. 731.71 / Cum. = Rs. 153.65  Tiles - 10.00 Sqm. @ Rs. 12.87 / Sqm. = Rs. 128.73  Cement - 1.0740 Qntl. @ Rs. 24.78 / qntl. = Rs. 26.61  Rs. 308.99  Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 / Cum. = Rs. 48.35  (v) Add 15 % for OH & Contractors profit Rs. 1,491.96	(11)	b)Labout =						.,	
(iii) c)Transportation - Sand(screened and washed) - 0.210 Cum @ Rs. 731.71 /Cum. = Rs. 153.65 Tiles - 10.00 Sqm. @ Rs. 12.87 /Sqm. = Rs. 128.73 Cement - 1.0740 Qntl. @ Rs. 24.78 /qntl. = Rs. 26.61 Rs. 308.99 Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 /Cum. = Rs. 48.35  (v) Add 15 % for OH & Contractors profit Rs. 1,491.96		21 A 2 A 2 A 2 A 2 A 2 A 2 A 2 A 2 A 2 A		2.16 Nos. @ Rs.	612.00	each =	Rs.	1,321.92	
(iii) c)Transportation - Sand(screened and washed) - 0.210 Cum @ Rs. 731.71 /Cum. = Rs. 153.65 Tiles - 10.00 Sqm. @ Rs. 12.87 /Sqm. = Rs. 128.73 Cement - 1.0740 Qntl. @ Rs. 24.78 /qntl. = Rs. 26.61 Rs. 308.99  (iv) d)Royalty - Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 /Cum. = Rs. 48.35  (v) Add 15 % for OH & Contractors profit Rs. 1,491.96		Muna	-	2.16 Nos. @ Rs.					
Sand(screened and washed) - 0.210 Cum @ Rs. 731.71 / Cum. = Rs. 153.65 Tiles - 10.00 Sqm. @ Rs. 12.87 / Sqm. = Rs. 128.73 Cement - 1.0740 Qntl. @ Rs. 24.78 / qntl. = Rs. 26.61 Rs. 308.99 Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 / Cum. = Rs. 48.35  (v) Add 15 % for OH & Contractors profit Rs. 1,491.96	(iii)	c)Transportation					Rs.	2,319.84	
Tiles - 10.00 Sqm. @ Rs. 12.87 /Sqm.= Rs. 128.73 - 1.0740 Qntl. @ Rs. 24.78 /qntl. = Rs. 26.61 Rs. 308.99 - Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 /Cum.= Rs. 48.35 (v) Add 15 % for OH & Contractors profit Rs. 1,491.96									
Cement - 10.00 Sqm. @ Rs. 12.87 / Sqm. = Rs. 128.73   12.87 / Sqm. = Rs. 128.73   1.0740 Qntl. @ Rs. 24.78 / qntl. = Rs. 26.61   Rs. 308.99   Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 / Cum. = Rs. 48.35   (v) Add 15 % for OH & Contractors profit   Rs. 1,491.96					·			153.65	
(iv) d)Royalty - Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 / Cum. = Rs. 26.61  Rs. 308.99  (v) Add 15 % for OH & Contractors profit  Rs. 1,491.96									
(iv) d)Royalty - Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 / Cum. = Rs. 48.35  (v) Add 15 % for OH & Contractors profit Rs. 1,491.96				1.0740 Qnti. @ Ks.	24.78 /	-			
Sand(screened and washed) - 0.210 Cum @ Rs. 230.25 / Cum. = Rs. 48.35  (v) Add 15 % for OH & Contractors profit Rs. 1,491.96		d)Royalty -					Ks.	308.99	
(v) Add 15 % for OH & Contractors profit  Rs. 1,491.96	(iv)		1	0.210 Cum @ Rs	230.25 //	Cum -	P.	40.05	
RS. 1,491.96					250.25 / 1	Juni	NS.	48.35	
, 11,7001		Add 15 % for OH & Contractors profit					Rs.	1 491 06	
		Add 15 % for OH & Contractors profit			Total Rate/10	-	-		

	<u>[ As</u>	per SR	- 2022 )(Kendrapada District)				
				or say Rate/Sqm.	= Rs.	1,179.57	/Sqm.
(v	vii) Add Labour Cess 1%						
					Rs.	11.79	_
(1	B) 1st Floor				Rs.	1,191.36	/Sqm.
	i) Rate of GF					2 3224150	
(i	ii) Add 5% extra labour over ground floo	or			= Rs.	1,179.57	
	Add 15 % for O H and contractors pro	fit on ex	tra labour		= Rs.	11.59	
				Total	Rs.	1.73	
				Total	105.	1,192.69	/Sqm.
(1)	v) Add Labour Cess 1%				Rs.	11.92	
10	C) 2nd Floor			Total Rate/Sqm.		1,204.81	
	) Rate of 1st floor					1,40101	/oqiii.
	i) Add 5% extra labour over ground floo				= Rs.	1,192.89	
1-	Add 15 % for O H and contractors pro	r fit om av			Rs.	12.17	
	or a rathe contractors pro	in on ex	tra labour		Rs.	1.82	
				Total =	Rs.	1,206.88	/Sqm.
(iv	Add Labour Cess 1%						
					Rs.	12.06	
	Fixing Vitrified tiles in dados Printe	d Series	e) skirting and signment	Total Rate/Sqm. =	Rs.	1,218.94	/Sqm.
	centeric proster(1.3) forming	O With	noat comont alassas : 1	CT.			
	F-Garcino to matche shade of the files	includin	or rubbing and polishing somely	tn			
	Per direction of Engineer-In-charge.		& racents and ponsiting comple	ete			
	Data for 10 Sqm.						
(A	Ground Floor						
(i)	Materials -						
	Sand(screened and washed)		0.15 Cum @ Rs.	76.88 /Cum.=	D.	11.50	
	Cement	2	1.0740 Qntl. @ Rs.	546.87 / qntl. =		11.53	
	Cement for Slurry		0.6600 Qntl. @ Rs.	546.87 /qntl. =	Re	587.33 360.93	
	Cost of Vitrified tile		10.00 Sqm. @ Rs.	689.20 /Sqm.=		6,892.00	
(ii)	Labour -			, 1	Rs.	7,851.79	
()	Mason (Spl.)					106300000000000	
	Mulia ·	-	3.25 Nos. @ Rs.	612.00 /each =	Rs.	1,989.00	
	Semi Skilled Mulia for rubbing	•	3.25 Nos. @ Rs.	462.00 /each =	Rs.	1,501.50	
			7.60 Nos. @ Rs.	512.00 /each =		3,891.20	
(iii)	Transportation -				Rs.	7,381.70	
	Sand(screened and washed)		0.150 Cum @ Rs.	701 71 10			
	Tiles	-	10.00 Sqm. @ Rs.	731.71 /Cum. =		109.75	
	Cement	-	1.7340 Qntl. @ Rs.	24 70 4	Rs.	128.73	
	D .			24.76 / qriti	Rs.	42.96	
(1V)	Royalty -				NS.	281.44	
	Sand(screened and washed)	-	0.150 Cum @ Rs.	230.25 /Cum. =	Rs.	34.53	
(v)	Add 15 % for OH & Contractors profit					- 2150	
	RATE FOR				Rs.	2,285.02	
	- STEETON					17,834.48	
				or say Rate/Sqm.=	Rs.	1,783.44	/Sqm.
(vii)	Add Labour Cess 1%		*				3-24 Mars
1	1,0				Rs.	17.83	
(B)	1st Floor				Rs.	1,801.27 /	Sam.
The same of the same of	Rate of GF						1
	Add 5% extra labour over ground floor			=	Rs.	1,783.44	
	Oronium HOOI			=	Rs.	36.90	

Add 15 %	for OH and	l contractors profit on extra labour
----------	------------	--------------------------------------

	Add 15 % for O H and contractors pro	fit on extr	a labour				
	Pic	ALL OIL EXIL	a labour		R		53
				Tota	1 = Rs	1,825.	87 /Sqm
(iv	Add Labour Cess 1%						
					Rs		
(C)	2nd Floor			Total Rate/Sqn	. = Rs	. 1,844.	12 /Sqm.
(i)							
(ii)	Add 5% extra labour over ground floo	r			= Rs	.,	
	Add 15 % for O H and contractors pro	fit on extra	a labour		= Rs		
			- Moodi		Rs		
			The second second	lota	= Rs	1,870.4	3 /Sqm
(iv)	Add Labour Cess 1%						
					Rs.		
7.	Supply ,Fixing Vitrified industrial T	ile of pre	emium grado bassina st.:	Total Rate/Sqm	= Rs	1,889.1	3 /Sqm.
	8mm to 10mm conforming to 15 4457	a con pro	- grade naving this	ckness			
	8mm to 10mm conforming to IS 4457	of size 30	0mmx300mm in floors,tre	ads or			
	steps and landings on 25 mm thick (	CM (1:1) j	jointed with neat cement	shire			
	mixed with pigments to match the shad	doc incl. J	in it is a second	Siurry			
	mixed with pigments to match the shad	aes includ	ind cost for rubbing, polish	ning &			
	cost of marbel tiles etc. complete as per	direction	of Engg-in-Charge .				
(4)	Data for 10 Sqm.						
	Ground Floor						
	a)Materials -						
	Sand(screened and washed) Cement	-	0.13 Cum @ Rs.	76.88 /Cum.	= De	0.00	
	Cost of tile		2.737 Qntl. @ Rs.	546.87 /qntl.	= Rs.	9.99	
	cost of the	-	10.00 Sqm. @ Rs.	578.35 /Sqm.	= Re	1,496.78	
(ii)	b)Labour -			J. Old J. Capit.	Rs.	5,783.50 7,290.27	
	Mason (Spl.)				10,	7,290.27	
	Semi skilled mulia	-	2.16 Nos. @ Rs.	612.00 /each	= Rs	1,321.92	
	Mulia	-	5.50 Nos. @ Rs.	512.00 /each	= Rs	2,816.00	
			2.16 Nos. @ Rs.	462.00 /each	= Rs.	997.92	
(iii)	c)Transportation -				Rs.	5,135.84	No.
	Sand(screened and washed)					0,100.01	
5,0	Tiles	-	0.130 Cum @ Rs.	731.71 /Cum. =	Rs.	95.12	
. (	Cement	-	10.00 Sqm. @ Rs.	12.87 /Sqm.=		128.73	
		-	2.7370 Qntl. @ Rs.	24.78 /qntl. =	Rs.	67.82	
(iv)	f)Royalty -				Rs.	291.67	_
	Sand(screened and washed)		0.100 0				
1	Add 15 % for OH & Contractors profit		0.130 Cum @ Rs.	230.25 /Cum. =	Rs.	29.93	
	Prom				Rs.	186.39	
				Total Rate/10Sqm.=	Rs.	12,934.10	
(v) A	Add for wax polishing			or say Rate/Sqm.=	Rs.	1,293.41	/Sqm.
					Rs.	8.50	
					Rs.	1,301.91	
(vii) A	add Labour Cess 1%						
	1 4				Rs.	13.01	
	st Floor				Rs.	1,314.92	/Sqm.
	ate of GF						***************************************
(ii) A	dd 5% extra labour over ground floor			-	Rs.	1,301.91	
A	dd 15 % for O H and contractors profit o	n extra la	hour	=	Rs.	25.67	
	Part Part	- Catta la	ovar		Rs.	3.85	
				Total =	Rs.	1,331.43	/Sqm.
(iv) A	dd Labour Cess 1%						NICONE IIVA
					De	10.01	
				Total Rate/Sqm. =	Rs.	13.31	

	<u>[ A</u>	s per SR - 2	022)(Kendrapada District)				
(0	2) 2nd Floor						
(i	Rate of 1st floor						
(ii	i) Add 5% extra labour over ground flo	or			= Rs.	1,331.4	3
	Add 15 % for O H and contractors pr	ofit on over	labarra		= Rs.	26.9	6
	The second secon	on on extra	alabour	1 A 1 A 1 A 1 A 1 A 1 A 1 A 1 A 1 A 1 A	Rs.		
				Total	= Rs.	1,362.4	3 /Sq
fiv	Add Labour Cess 1%						
	y Tan Eurota Cess 1%				Rs.	13.63	2
3.	Fixing Floor tiles in floors treads as			Total Rate/Sqm.	= Rs.	1,376.03	
	Fixing Floor tiles in floors, treads or jointed with neat coment slurger	steps and la	indings on 25 mm thick CM	(1:1)			, ,
	jointed with neat cement slurry m	uxed with	pigments to match the sh	ades			
	includind cost for rubbing, polishing direction of Engg-in-Charge.	& cost of i	narbel tiles etc. complete a	s per			
	Data for 10 Sqm.						
(A)	) Ground Floor		(4)				
	a)Materials -						
(-)	Sand(screened and washed)						
	Cement	-	0.13 Cum @ Rs.	76.88 /Cum.	Rs.	9.99	)
	Cost of floor tile		2.7370 Qntl. @ Rs.	546.87 / qntl. =	Rs.	1,496.78	
		-	10.00 Sqm. @ Rs.	450.08 /Sqm.		4,500.80	
(ii)	b)Labour -				Rs.	6,007.57	
	Mason (Spl.)						
	Semi skilled mulia		2.16 Nes. @ Rs.	612.00 /each =		1,321.92	
	Mulia		5.50 Nos. @ Rs.	512.00 /each=	Rs.	2,816.00	
		-	2.16 Nos. @ Rs.	462.00 /each =		997.92	
(iii)	c)Transportation -				Rs.	5,135.84	
	Sand(screened and washed)						
	Tiles	-	0.130 Cum @ Rs.	731.71 /Cum. =	Rs.	95.12	
	Cement	-	10.00 Sqm. @ Rs.	12.87 /Sqm.=		128.73	
		-	2.7370 Qntl. @ Rs.	24.78 /qntl. =	Rs.	67.82	
(iv)	d)Royalty -				Rs.	291.67	-
	Sand(screened and washed)		0.120 G				
	Add 15 % for OH & Contractors profit		0.130 Cum @ Rs.	230.25 / Cum. =	Rs.	29.93	
	RATE FOR			440 (000) (400) (400)	Rs.	167.15	
	(i)Ground Floor -			Total Rate/10Sqm. =	Rs.	11,632.16	
(v)	Add for wax polishing			or say Rate/Sqm.=	Rs.	1,163.21	/Sqn
	•				Rs.	8.50	
(vii)	Add Labour Cess 1%				Rs.	1,171.71	
					Rs.	11.71	
(B)	1st Floor				Rs.	1,183.42	/Sam
1002333	Rate of GF						/- q.m
	Add 5% extra labour over ground floor				Rs.	1,171.71	
0.000	Add 15 % for O H and contractors profi	it on out 1	L.	=	Rs.	25.67	
	or and contractors pron	it on extra la	bour		Rs.	3.85	
				Total =	Rs.	1,201.23	/Sqm
(iv)	Add Labour Cess 1%					- CONTRACTOR	, - qui
.,	- Ma Labout Cess 1%				Rs.	12.01	
(C)	2nd Floor			Total Rate/Sqm. =	Rs.	1,213.24	/Sam
	Rate of 1st floor					1/210122	,oqiii.
(ii) /	Add 5% extra labour over ground floor			=	Rs.	1,201.23	
()	Add 15 % for O H and control	and the same of the same			Rs.	26.96	
	Add 15 % for O H and contractors profi	on extra la	bour		Rs.	4.04	
				Total =	-	1,232.23	1000
(iv)	Add Labour Co. 10					1,202,20	/ sqm.
(IV) F	Add Labour Cess 1%				De.	12.22	
				Total Rate/Sqm. =	Rs.	12.32	10
				ioun miejoum.	NS.	1.244.55	Sam.

39. Fixing Ceramic Glazed wall tiles in dados skirting and risers of stepson 12 mm thick cement plaster(1:3) jointed with neat cement slurry mixed with pigments to matche shade of the tiles including rubbing and polishing complete as per direction of Engineer-in-charge.

Data for 10 Sqm.

(A)	Ground Floor
(i)	a)Materials -

(1)	Candle			
	Sand(screened and washed) Cement	u.	-	0.15 Cum @ Rs.
			-	0.715 Qntl. @ Rs.
	Cement for Slurry			0.66 Qntl. @ Rs.
	Cost of Glazed wall tile		220	10.00 Sqm. @ Rs.
				-

(ii)	b)Labour -		
	Mason (Spl.)		2.25 N
	Mulia	-	3.25 Nos. @ Rs.
	Semi Skilled Mulia for rubbing		.3.25 Nos. @ Rs.
	ochi okined with for rubbing	-	7.60 Nos. @ Rs

Sand(screened and washed) - 0.150 Cum @ Rs.

Add 15 % for OH & Contractors profit

- (v) Add for wax polishing
- (vii) Add Labour Cess 1%
- (B) 1st Floor
- (i) Rate of GF
- (ii) Add 5% extra labour over ground floor Add 15 % for O H and contractors profit on extra labour
- (iv) Add Labour Cess 1%
- (C) 2nd Floor
- (i) Rate of 1st floor
- (ii) Add 5% extra labour over ground floor Add 15 % for O H and contractors profit on extra labour
- (iv) Add Labour Cess 1%

546.87 / qntl.	= Rs.	391.0	11
546.87 /qntl. 546.87 /qntl.	= Rs.	360.9	
405.20 /Sqm.	= Rs.	4,052.0	
	Rs.	4,815.4	
612.00 /each	= Rs.	1,989.0	0
462.00 /each	= Rs.	1,501.5	
512.00 /each	= Rs.	3,891.2	
	Rs.	7,381.70	
731.71 /Cum.=	= Rs.	109.73	
12.87 /Sqm.=		128,73	
24.78 /qntl. =	= Rs	34.07	
, , 1	Rs.	272.55	
	2.0.	2/2.00	
230.25 /Cum.=	Rs.	34.53	
	Rs.	1,829.57	
Total Rate/10Sqm. =	Rs.	14,333.82	
or say Rate/Sqm.=	Rs.	1,433.38	
	Rs.	8.50	
	Rs.	1,441.88	
	Rs.	14.41	
	Rs.	1,456.29	/Sqm.
=	Rs.	1,441.88	
=	Rs.	36.90	
	Rs.	5.53	
Total =	Rs.	1,484.31	/Sqm.
	Rs.	14.84	
Total Rate/Sqm. =	Rs.	1,499.15	/Sqm.
-	Rs.	1,484.31	
-	Rs.	38.75	
	Rs.	5.81	
Total =	Rs.	1,528.87	/Sqm.
	Rs.	15.28	
Per a	Rs.	1,544.15	/C
and odini -		1,071.13	/sqm.

76.88 /Cum. = Rs.

40. 30 mm thick Fiberglass Reinforced Plastic (F.R.P.) flush door shutter in different plain and wood finish made with fire retardant grade unsaturated polyester resin, moulded to 3 mm thick FRP laminate all around, with suitable wooden blocks inside at required places for fixing of fittings and polyurethane foam (PUF) / Polystyrene foam to be used as filler material throughout the hollow panel, casted monolithically with testing parameters of F.R.P. laminate conforming to table - 3 of IS: 14856, complete including Providing and fixing factory made door frame (single rebate) made out of single piece extruded solid PVC foam profile with homogenous fine cellular structure having smooth outer integral skin having 62 mm with & 32 mm thickness, frame will be mitred & Jointed with self driven self tapping screws of size 38 mm x 4 mm & PVC solvent cement, including fixing the frame to wall with suitable dia & length anchor fastener as per manufacturer's specification and direction of Engineer-in-charge.

	cement , inc	luding fixing the frame to wall with	suitable die 9 1 11	Solvein				
	fastener as p	er manufacturer's specification and din	suitable dia & length	anchor				
	1. Part ( A) [	Ooor Shutter	ection of Engineer-in-c	harge.				
	Details of cos	st for one door shutter $2.20x1.08m = 2.3$	0 C					
(i	) iviaterials -		o sqm.					
	30 mm thick	factory made glass fiber reinforced						
	plastic flush	door shutter i/c carriage	2.380 Sqm. @ Rs.	4270.00	) /6-	D		
	X1.9 mm	ted M.S. butt hinges 100 mm X58 mm	1	4270.00	/Sqm.	- KS.	10,162.6	0
		3 . 11 1	6.000 Nos. @ Rs.	45.00	/each	= Re	270.0	0
	40 mm	ed or black enameled mild steel screws			/	143,	270.0	
		d or black enameled mild steel screws	48.000 Nos. @ Rs.	0.52	/each	= Rs.	24.9	6
	20 mm		8.000 Nes. @ Rs.	200	te en			
	SS Tower Bol	t end of the second	1.000 Nos. @ Rs.		/each=		2.56	5
	SS Door Bolt				/each =		45.00	)
	SS Handle		1.000 Nos. @ Rs.		/each =		118.00	)
			2.000 Nos. @ Rs.	55.00	/each =	Rs.	110.00	)
(ii)	Labour -	Carpenter -	0.40 Nos. @ Rs.	(12.00		Rs.	10,733.12	
		Man mulia 🥒 -	0.40 Nos. @ Rs.		/each =		244.80	
(;;;)	Add 15 0 C	011.6		402.00	/each =	Rs.	184.80	
(111)	Add 15 % for	OH & Contractors profit				Rs.	429.60 1,674.40	
				Total Rate/ 2.3	8 Sam. =		12,837.12	
				or say Rat			5,393.74	
(v)	Add Labour C	ess 1%						
						Rs.	53.93	
	2. Part ( B) Do	or Frame		or say Rate	e/Sqm.=	Rs.	5,447.67	/Sqm.
-	Details of cost	for one door frame of 5 metre						
(1)	Materials -							
	i/c carriage	solid PVC door frame 60 x 30 mm						
	1) c carriage		5.000 Rm @ Rs.	582.54	/Rm. =	Rs.	2,912.68	
(ii)	Labour -	Carpenter -	TIL SUPERIOR STATES			Rs.	2,912.68	
		Man mulia -	0.15 Nos. @ Rs.		/each =		91.80	
			0.15 Nos. @ Rs.	462.00	/each =	Rs.	69.30	
(iii)	Add 15 % for C	H and contractors profit (a+b)				Rs.	161.10	-
				Total Pate / S	- op	Rs.	461.06	
				Total Rate/ 5 or say Rate		Rs.	3,534.84	
(v)	Add Labour C			or ony Nate	/ AUI	AS.	706.96	
(1)	Add Labour Ce	ss 1%.				Rs.	7.06	
				or say Rate			714.02	/Rm
					72 1 2 2 2 2			LANIE

#### (As per SR - 2022) (Kendrapada District)

Details of cost for one door shutter 2.20x1.08m = 2.38 Sqm. Total = part(A) + Part(B)

Part A

Part B = 2x2.20m + 1.08m = 5.48Rm

2.38 Sqm.. @ Rs. 5.45 Rm. @ Rs.

5447.67 /Sqm. = Rs. 12,965.45 /Sqm. 714.02 /Rm = Rs.3,891.41 /Sqm.

Total Rate/ 2.38 Sqm. = Rs. 16,856.86 Total Rate/ Sqm. = Rs. 8,717.76 /Sqm.

Supplying, fitting & fixing of stainless steel of 304 grade in Hand Railing using 41. 50mm. Dia of 2mm. thick circular pipe with Balustrade of size 32mm.x32mm.x2mm. @ 0.90m. C/C and stainless square pipe bracing of size 32mm.x32mm.x2mm. In 3 rows in stair case as per approved design and specification, buffing, polishing etc. with cost, conveyance, taxes of all materials labour T & P etc. required for the completion in all respect etc. complete as per direction of Engg-in-Charge. Data for 3.26 Rmt. -

(i) Materials -

Railing - 50mm. outer dia of 2rdm. Thick - 3.26m. @ 3.5 kg./m. =

Balustrade of size 32mm.x32mm.x2mm. - 4x0.90m. =

3.60. @ 1.70kg./m. = Stainless steel square pipe bracing of size 32mm.x32mm.x2mm. In 3 rows (3x3.26m. = 9.78m. @

1.70kg./m.= Fabrication, polishing etc. 2% =

(iii) Add 15 % for OH & Contractors pro

(ii) b) Labour -High skilled labour

S.S.labour

11.41 kg. @ Rs.

6.12 kg. @ Rs.

16.63 kg. @ Rs. 34.16 kg. @ Rs.

0.89 Nos. @ Rs. 0.89 Nos. @ Rs.

10.00 /kg. = Rs. Rs. 612.00 /each. = Rs.

240.24 /kg. = Rs.

256.62 /kg. = Rs.

256.62 /kg. = Rs.

171.58 Rs. 9,092.41 512.00 /each. = Rs. 455.68

2,741.13

1,570.51

4,267.59

341.60

Rs. 1,000.36 Rs. 1,513.91

Total Rate/ 3.26 m. = Rs. 11,606.68 or say Rate/Rmt. = Rs. 3,560.33 /Rmt .

35.60 or say Rate/Rmt. = Rs. 3,595.93 /Rmt.

(v) Add Labour Cess 1%

## Analysis of Rates (Electrical) Wiring in PVC Conduit with Modular Type Switch

1.1 Recessed wiring to light point / fan point / exhaust fan point / call bell point with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non-metalic PVC flexible conduit with 5 Amp, 250 V modular type switch ISI marked and ceiling rose ISI marked mounted on MS box having front modular cover of suitable size, MS modular box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accesories and connection as per direction of Engineer in Charge. (Make of wire Finolex / L&T / Anchor / Havels / V Guard)

1.1.1			Group-A					
Code No	Sl.No	. Description of materials	Group-A	Unit	Rate in	Rate/	0	
			Quantit		Rs.	Unit	Quantity required	Amount in Rs
1	2	3	4.00	5	6.00	7.00		
		Cost for 1 point			0.00	7.00	8	9.00
	A1	Materials						
1101	1	1.5 sq. mm FR PVC insulated single	90.00	Mtr	778.29	8.65	6.00	51.00
1101		core multistrand copper conductor				0.03	0.00	51.89
1101	2	1.5 sq. mm FR PVC insulated	90.00	Mtr	778.29	8.65	3.00	25.94
		singlecore multistrand copper				0.05	3.00	23.92
1224-A	-	conductor as earthwire						
1224-A	3	20 mm dia flexible PVC conduit 1.6	1.00	Kg	41.84	41.84	0.38	15.90
1401		mm thick					0.50	13.70
1218	5	CeilingRose 5An p,250VISImarked	1.00	No	12.40	12.40	1.00	12.40
1222A	3	a.20mmIronStaple b.Nail	1.00	No	0.78	0.78	6.00	4.68
1461	6	Washer/Screw	100.00	No	78.13	0.78	12.00	9.38
1301	7	Modular G.I. box for 2 moudle 18	100.00	No	15.63	0.16	6.00	0.94
1501	1	SWG	1.00	No	17.44	17.44	0.50	8.72
1449	8	Alalloycadmium plated iron screw	100.00					
		20 mm	. 100.00	No	39.06	0.39	6.00	2.34
1421	9	Modular base & cover for 2 module	1.00		00.15	WWW.73045		
1402	12	S.P. 5 / 6 amps, one way modular	1.00	no .	89.15	89.15	0.50	44.58
		switch, ISI marked	1.00	No	68.99	68.99	1.00	68.99
1463	13	SandandCement(4:1ratio)	1.00.1	LS/Mtr	4.20	4.00	2.50	
		Total(A1)	1.00	LS/IVIU	4.20	4.20	2.50	10.50
	A2	Cartage1%ofA1						256.25
		Wastage1%ofA1						2.56
		Total(A2)						2.56
12 20208	A3	Labourcharges						5.13
		Wireman, Grade-I	1.00	Day	612.00	612.00	0.10	20 20
		Mason, Grade-II	1.00	Day	562.00	612.00 562.00	0.10	61.20
1004		Helper	1.00	Day	462.00	462.00	0.15	84.30
		Total(A3)		Duj	402.00	402.00	0.15	69.30
		(A1+A2+A3)						214.80
	14	Overhead charges 15% on (A	A1+A2+A	3)				476.18 71.43
	15	Total(A1+A2+A3+A4)						
1	16	Labor cess @1% of A5						547.60
		Total (A5+A6)						5.48
							Rs	553.08

Wiring in PVC Conduit with Modular Type Switch

17

Recessed wiring to light point / fan point / exhaust fan point / call bell point with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non-metalic PVC flexible conduit with 5 Amp, 250 V modular type switch ISI marked and ceiling rose ISI marked mounted on MS box having front modular cover of suitable size, MS modular box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accessories and connection as per direction of Engineer in Charge. (Make of wire Finolex / L&T / Anchor / Havels / V Guard )

1.1.2			Group-B					
Code No	SI.No	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount
1	2		v			Cint	required	in Rs
•	-	G	4.00	5	6.00	7.00	8	9.00
	A1	Cost for 1 point Materials						
1101	1	1.5 sq. mm FR PVC insulated single core multistrand copper conductor	90.00	Mtr	778.29	8.65	8.00	69.18
1101	2	1.5 sq. mm FR PVC insulated single core multistrand copper conductor as earth wire	90.00	Mtr	778.29	8.65	4.00	34.59
1224-A		20 mm dia flexible PVC conduit 1.6 mm thick	1.00	Kg	41.84	41.84	0.53	22.18
1401	4	Ceiling Rose 5Amp,250V ISI marked	1.00	No	12.40	12.40	1.00	12.40
1218	5	a.20mm Iron Staple	1.00	No	0.78	0.78	8.00	
1222A		b.Nail	100.00	No	78.13	0.78	16.00	6.24
1461	6	Washer/Screw	100.00	No	15.63	0.16	6.00	12.50
1301	7	Modular G.I. box for 2 moudle 18 SWG	1.00	No	17.44	17.44	0.50	0.94 8.72
1449	8	Alalloy cadmium platedironscrew20	100.00	No	39.06	0.39	6.00	2.34
1421	9	mm Modular base & cover for 2 module ISImarked	1.00	no	89.15	89.15	0.50	44.58
1402	12	S.P. 5 / 6 amps, one way modular switch, ISI marked typeswitch	1.00	No	68.99	68.99	1.00	68.99
	13	SandandCement(4:1ratio) Total(A1)	1.00	LS/Mtr	4.20	4.20	3.50	14.70
	A2	Cartage 1% of A1 Wastage1%ofA1						297.35
		Total(A2)						2.97
	A3	Labourcharges						5.95
	1	Wireman, Grade-I	1.00	Day	612.00	612.00	0.20	122.40
	2	Mason,Grade-II	1.00	Day	562.00	562.00	0.30	122.40
1004		Helper Total(A3) (A1+A2+A3)	1.00	Day	462.00	462.00	0.30	168.60 138.60 <b>429.60</b>
	A4	Overhead charges 15% on (A	A1+A2+A	3)				732.90
	A5	Total(A1+A2+A3+A4)						109.94
	A6	Labor cess @1% of A5						842.84
		Total (A5+A6)						8.43
								851.27

Wiring in PVC Conduit with Modular Type Switch

Recessed wiring to light point / fan point / exhaust fan point / call bell point with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked with 20 mm dia non-metalic PVC flexible conduit with 5 Amp, 250 V modular type switch ISI marked and ceiling rose ISI marked mounted on MS box having front modular cover of suitable size, MS modular box with 1.0 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accessories and connection as per direction of Engineer in Charge. (Make of wire Finolex / I.&T / Anchor / Havels / V Guard.)

1.1.3		of wire Finolex / L&T / Anchor / Have	ls / V Gua Group-C	rd)	+ +			·
Code No	Sl.No	prior of materials	o.oup-c	Unit	Rate in	Rate/	Quantity	A
		<b>!</b>	Quantit		Rs.	Unit	required	Amount in Rs
1	2	3	4.00	5	6.00	7.00		
		Costfor1point		- 2	0.00	7.00	8	9.00
	A1	Materials						
1101	1	1.5 sq. mm FR PVC insulated single core multistrand copper conductor	90.00	Mtr	778.29	8.65	10.00	86.48
1101	2	1.5 sq. mm FR PVC insulated single core multistrand copper conductor as earthwire	90.00	Mtr	778.29	8.65	5.00	43.24
1224-A	3	20 mm dia flexible PVC conduit 1.6 mmthick	1.00	Kg	41.84	41.84	0.68	28.45
1401	4	Ceiling Rose 5Amp, 250V ISI marked	1.00	No	12.40	12.40	1.00	12.40
1218	5	a.20mm Iron Staple	1.00	No	0.70	0.70		
1222A		b.Nail	100.00	No	0.78	0.78	10.00	7.80
1461	6	Washer/Screw	100.00	No	78.13	0.78	20.00	15.63
1301	7	Modular G.I. box for 2 moudle 18	1.00	No	15.63	0.16	6.00	0.94
		SWG	1.00	140	17.44	17.44	0.50	8.72
1449	8	Alalloycadmium -	100.00	No	20.00	0.00		
		platedironscrew20mm	100.00	110	39.06	0.39	6.00	2.34
1421	9	Modular base & cover for 2 module	1.00		00.15			
		ISImarked	1.00	no	89.15	89.15	0.50	44.58
1402	12	S.P. 5 / 6 amps, one way modular	1.00	No	69.00	CD 00		
		switch, ISI marked	1.00	INO	68.99	68.99	1.00	68.99
1463	13	SandandCement(4:1ratio)	1.00	LS/Mtr	4.20			
		Total(A1)	1.00	LS/IVIU	4.20	4.20	4.50	18.90
	A2	Cartage1%ofA1						338.46
		Wastage1%ofA1						3.38
		Total(A2)						3.38
	A3	Labourcharges						6.77
	1	Wireman, Grade-I	1.00	Dov	(12.00			
		Mason, Grade-II	1.Q0	Day Day	612.00	612.00	0.33	201.96
1004	3	Helper	1.00	College College	562.00	562.00	0.50	281.00
		Total(A3)	1.00	Day	462.00	462.00	0.50	231.00
		(A1+A2+A3)						713.96
1		0 1	A1+A2+A	3)				1,059.19
			-1 12 12 1 PI	5)				158.88
	A5 .	Total(A1+A2+A1+A4)						
F	A6 I	Labor cess @1% of A5						1,218.07
		Total (A5+A6)						12.18
								1,230.25

# Twin control point wiring in PVC Conduit with Modular Type Switch

1.1.3

Wiring for twin control light point with 1.5 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked in recess PVC conduit with 2 way Modular type switch, Modular plate, suitable GI Box and earthing point with 1.5 sq.mm FR PVC insulated single core multistrand

Code N	No SI.N	o. Description of materials	Quanti	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	4	5	6.00	7.00	8	9.00
	4.1	Costfor1point				7.00	0	9.00
1101	A1	Materials • •						
1101	1	1.5 sq. mm FR PVC insulated single core multistrand copper conductor	90	Mtr	778.29	8.65	10.00	86.48
1101	2	1.5 sq. mm FR PVC insulated single core multistrand copper	90	Mtr	778.29	8.65	5.00	43.24
1224-A	3	conductoras earthwire						
		20 mm dia flexible PVC conduit 1.6 mm thick	1	Kg	41.84	41.84	1.25	52.30
140	01 4	Ceiling rose, 3 plate, 5 amps ISI						
		marked	1	No	12.40	12.40	1.00	12.40
1218	5	a.20mm Iron Staple						
1222A		b.Nail	1	No	0.78	0.78	15.00	11.70
1461	6	Washer/Screw	100	No	78.13	0.78	30.00	23.44
1301	7	Modular G.I. box for 2 moudle 18	100	No	15.63	0.16	6.00	0.94
		SWG	1 4	No	89.15	89.15	0.50	44.58
1422	9	Modular base & cover for 2 module	1	no	17.44	17.44	0.50	8.72
1402	12	ISI Marked				• * * * * * * * * * * * * * * * * * * *	0.50	0.12
1402	12	S.P. 5 / 6 amps, two way modular	1	No	80.62	80.62	1.00	80.62
1239	0	switch, ISI marked				00.02	1.00	80.02
1449	9	20mm PVC Junction Box OneWay	1	No	6.01	6.01	1.00	6.01
1463	11	Alalloy/cadmiumplatediron screw	100	No	39.06	0.39	6.00	6.01
1403	11	SandandCement(4:1ratio)	1	LS/Mtr	4.20	4.20	4.50	2.34
		Total(A1)			20	4.20	4.30	18.90
	A2	Cartage1%ofA1						391.66
		Wastage1%ofA1						3.92
		Total(A2)						3.92
1001	A3	Labourcharges						7.83
1001	1	Wireman, Grade-I	1	Day	448.00	448.00	0.10	11.00
	2	Mason,Grade-II	1	Day	388.00	388.00		44.80
1004	3	Helper	1	Day	298.00	298.00	0.15	58.20
		Total(A3)		2	250.00	298.00	0.15	44.70
		(A1+A2+A3)						147.70
	A4	Overhead charges 15% on (A	1+A2+A	A3)				547.19 82.08
	A5	Total(A1+A2+A3+A4)						02.00
		Labor cess @1% of A5						629.27
		Total (A5+A6)						6.29
		Total (ASTAO)					Rs	635.56

#### Circuit / Sub Main wiring in PVC Conduit (2 x 1.5 sq.mm + 1 x 1.5 sq.mm)

Recessed wiring to submain in  $2 \times 1.5$  sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia non-metalic heavy duty flexible conduit 1.6 mm thick along with  $1 \times 1.5$  sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard)

Code N	o Sl.No	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	v 4	5				
		Costfor50mtrs	- 4	3	6	7	8	9.00
	A1	Materials						
1101	1	1.5 sq. mmsingle core pvc insulated multistrand copper conductor cable	90	Mtr	778.29	8.65	101.00	873.41
1101	2	1.5sq.mm.single corepvcinsulated multistrand copper conductor	90	Mtr	778.29	8.65	50.50	436.71
1224A	3	cableas earthwire 20mm dia superiorquality heavy duty flexible PVCconduit1.6mmthick	1	Kg	41.84	41.84	6.75	282.42
1010			*					
1218 1222A	4	a.20mm iron staples	1	No	0.78	0.78	100.00	78.00
1463	5	b.Nail/Screw	100	No	78.13	0.78	200.00	156.26
1403	3	Sandand Cement(4:1)	1	LS/Mtr	4.20	4.20	50.00	210.00
	A2	Total(A1)				1,20	30.00	2,036.80
	AZ	Cartage1%ofA1						20.37
		Wastage1%ofA1						20.37
	A3	Total(A2)						40.74
1001	1	Labourcharges						40.74
1002	2	Wireman, Grade-I	1	Day	448.00	448.00	2.50	1,120.00
1004	3	Mason, Grade-II Helper	1	Day	388.00	388.00	1.67	647.96
.001	,	Total(A3)	1	Day	298.00	298.00	5.00	1,490.00
		Total(A1+A2+A3)						3,257.96
	A4							5,335.50
		(A1+A2+A3)						800.32
		GrandTotal(A1+A2+A3+A4)						6,135.82
	A6	RatepermeterinRs. Labor cess @1% of A5						122.72
	on many	Total (A5+A6)						1.23
		Iotal (ASTAO)					Rs	123.95

Page 6

S/F of MODULAR TYPE SWITCH / SOCKET ISI MARKED
Supplying and fixing of following MODULAR type switch / socket on the existing switch box / cover including connections etc as required. 1.25

1.25.2

5/6 amp switch

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	. v	5	6	-		
		Costfor1set		3	0	7	8	9.00
	A1	Materials						
1432	1	S.P. 5 / 6 amps, one way modular switch, ISI marked	1	No	68.99	68.99	1	68.99
1449	2	Alalloy cadmiumplate diron screw 20mm	100	No	39.06	0.3906	2	0.78
		Total(A1)						
	A2	Cartage1%ofA						69.77
		Total(A2)						0.70
	A3	Labourcharges						0.70
1001	1	Wireman, Grade-I	1	Day	612.00	(12	0.00	
1004	2	Helper	î	Day		612	0.03	18.36
		Total(A3)	•	Day	462.00	462	0.03	13.86
		(A1+A2+A3)						32.22
	A4	Overhead charges 15% on						102.69
		1370 OII						15.40
		(A1+A2+A3)						
		Total(A1+A2+A3+A4)						
	A6	Labor cess @1% of A5						118.09
		Total (A5+A6)	21					1.18
							Rs	119.27

1.25 S/F of MODULAR TYPE SWITCH / SOCKET ISI MARKED Supplying and fixing of following MODULAR type switch / socket on the existing switch box / cover including connections etc as required.

1.25.4 3 pin 5 / 6 amp socket outlet

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	v 4	5	,	-		
		Costfor1set Materials		3	6	7	8	9.00
	A1							
1434	1	3 pin 5 / 6 amps, modular socket outlet, ISI marked	1	No	73.64	73.64	1	73.64
1449	2	Alalloy cadmiumplate diron screw 20mm	100	No	39.06	0.3906	2	0.78
		Total(A1)						-
	A2	Cartage1%ofA						74.42
		Total(A2)						0.74
	A3	Labourcharges						0.74
1001	1	Wireman, Grade-I	1	Day	612.00	612	0.00	
1004	2	Helper	1	Day	462.00	612	0.03	18.36
		Total(A3)		Day	402.00	462	0.03	13.86
								32.22
		(A1+A2+A3)						
	A4	Overhead charges 15% on						107.39
		o in						16.11
		(A1+A2+A3)						
		Total(A1+A2+A3+A4)						200
			6					123.49

Supply and fixing of 5Amp plug with S/F of 5/6A switch + S/F of 3 pin 5/6 A A5 =118.09 241.58 labour cess @ 1% of A5 2.42 Total= 244.00

Page 8

S/F power plug point modular type accessories

Supplying and fixing suitable size GI box with modular plate and cover in front on surface or in recess, including providing and fixing 6 pin 5/6 & 15/16 A modular socket outlet and 15/16 A modular switch, connections etc. as required.

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	v 4	5	6.00	7.00		
		CostforoneNo		3	0.00	7.00	8	9.00
	A1	Materials						
1301	1	Modular G.I. box for 4 moudle 18 SWG	. 1	No	22.87	22.87	1.00	22.87
1421	2	Modular base & cover for 4 module SheetISImarked	1	no	124.03	124.03	1.00	124.03
1406	5	6 pin 15 / 16 amps, modular socket outlet, ISI marked	1	No	149.61	149.61	1.00	149.61
1404	6	S.P. 15 / 16 amps, one way modular switch, ISI marked	1	No	108.53	108.53	1.00	108.53
1449	5	Alalloycadmiumplatedironscrew 20mm	100 •	No	39.06	0.39	4	1.56
1461	6	Washer/Screw	100	NT.				
1411	7	Modular Blanking Plate	1	No	15.63	0.16	4	0.63
	8	Sand & cement	LS	No	17.50	17.50	1	17.50
		Total(A1)	LS					10.00
	A2	Cartage1%ofA1						434.73
		Wastage1%ofA1						4.35
		Total(A2)						4.35
	A3	Labourcharges						8.69
1001	1	Wireman, Grade-I	1	Day	612.00	(12.00	10000	
	2	Mason, Grade-II	1	Day	612.00	612.00	0.1	61.20
1004		Helper	1	Day	562.00 462.00	562.00	0.04	22.48
		Total(A3)		Day	462.00	462.00	0.14	64.68
		(A1+A2+A3)						148.36
	A4	Overhead charges 15% on						591.78 88.77
		(A1+A2+A3)						
	A5	Total(A1+A2+A3+A4)						600.55
	A6	Labor cess @1% of A5						680.55
		Total (A5+A6)					n	6.81
							Rs	687.36

Page 9

# S/F of plug point modular type accessories

Supply and fixing of 3 no.sof 3pin 5/6 amp modular socket and S.P. 5/6 amp one way modular switch, 1 no. of 5 pin 15/16 socket out let and S.P. 15/16 A one way modular switch on Modular G.I. Box with Modular Base and cover.

Code	No Sl.N	o. Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	v 4	5	< 00			
		CostforoneNo	-	3	6.00	7.00	8	9.00
	A1	Materials						
1301	1	Modular G.I. box for 12 moudle 18 SWG	1	No	57.36	57.36	1.00	57.36
1421	2	Modular base & cover for 12 module	1	no	271.32	271.32	1.00	271.32
1405	0.000	3 pin 5 / 6 amps, modular socket outlet, ISI marked	1	No	73.64	73.64	3.00	220.92
1402	4	S.P. 5 / 6 amps, one way modular switch, ISI marked	1	No	68.99	68.99	3.00	206.97
1406	5	6 pin 15 / 16 amps, modular socket outlet, ISI marked	1	No	149.61	149.61	1.00	149.61
1404	6	S.P. 15 / 16 amps, one way modular switch, ISI marked	1	No	108.53	108.53	1.00	108.53
1449	7.	Alalloycadmiumplatedironscrew 20mm	100	No	39.06	0.39	4	1.56
1461	8	Washer/Screw	100	No	15.62			
	9	Sand & Cement	LS	140	15.63	0.16	4	0.63
		Total(A1)	LU					20.00
	A2	Cartage1%ofA1						1,036.90
		Wastage1%ofA1						10.37
								10.37
		Total(A2)						20.51
1001	A3	Labourcharges						20.74
1001	1 2	Wireman, Grade-I	1	Day	612.00	612.00	0.25	153.00
1002	4	Mason,Grade-II Helper	1	Day	562.00	562.00	0.08	44.96
1004	7		1	Day	462.00	462.00	0.3	138.60
		Total(A3) (A1+A2+A3)						336.56
	A4	Overhead						1,394.20
		Overhead charges 15% on	72.50					209.13
		(A1+A2+A3)						
		Total(A1+A2+A3+A4)						
	A6	Labor cess @1% of A5						1,603.32
		Total (A5+A6)						16.03
							Rs	1,619.35

#### Circuit / Sub Main wiring in PVC Conduit (2 x 2.5 sq.mm + 1 x 1.5 sq.mm)

Recessed wiring to submain in  $2 \times 2.5$  sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia non-metalic heavy duty flexible conduit 1.6 mm thick along with  $1 \times 1.5$  sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard)

Code N	Sl.No	Description of materials		Unit	Rate in	Rate/ Unit	Quantity	Amount.
			Quantit		Rs.		required	in Rs
1	2	3	4.00	5	6	7	0	
		Costfor50mtrs		5	0	/	8	9.00
1102	A1	Materials						
	1	2.5 sq. mm single core pvc insulated multistrand copperconductor cable	90.00	Mtr	1,303.10	14.48	101.00	1,462.37
1101	2	1.5sq.mm .single core pvc insulated multistrand copper conductor	90.00	Mtr	778.29	8.65	50.50	436.71
1224A	3	cableas earthwire 20mm dia superiorquality heavyduty flexible PVCconduit 1 6mm thick	1.00	Kg	41.84	41.84	6.75	282.42
1218	4	a.20mm iron staples	1.00	No	0.78	0.78	100.00	78.00
1222A		b.Nail/Screw	100.00	No	78.13	0.78	200.00	156.26
1463	5	SandandCement(4:1) TotalA1	1.00	LS/Mtr	4.20	4.20	50.00	210.00
	A2	Cartage1%ofA1						2,625.75
		Wastagel%qfA1						26.26
		TotalA2						26.26
1001	A3	Labourcharges						52.52
1001	2	Wireman, Grade-I Mason, Grade-II	1.00	Day	612.00	612.00	2.50	1,530.00
1004	3	Helper	1.00	Day	562.00	562.00	1.67	938.54
		Total(A3)	1.00	Day	462.00	462.00	5.00	2,310.00
		Total(A1+A2+A3)						4,778.54
	A4	Overhead charges 15% on						7,456.81
		(A1+A2+A3) GrandTotal(A1+A2+A3+A4)						1,118.52
	A5	Rate pe rmete rin Rs.						8,575.33
	A6	Labor cess @1% of A5						171.51
		Total (A5+A6)						1.72
		17.5°						173.23

Page 11

### Circuit / Sub Main wiring in PVC Conduit (2 x 4 sq.mm + 1 x 1.5 sq.mm)

Recessed wiring to submain in 2 x 4 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 20 mm dia non-metalic heavy duty flexible conduit 1.6 mm thick along with 1 x 1.5 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard)

Code No	SI.No	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	Costfor50mtrs	4.00		6	7	8	9.00
	A1	Materials						
1103	1	4 sq. mm single core pvc insulated multistrand copperconductor cable	90.00	Mtr	1,956.59	21.74	101.00	2,195.73
1101	2	1.5sq.mm.single core pvc insulated multistrand copper conductor cableas earthwire	90.00	Mtr	778.29	8.65	50.50	436.71
1224A	3	20mmdiasuperiorqualityheavyduty flexible PVC conduit 1.6mm thick	1.00	Kg	41.84	41.84	6.75	282.42
1218	4	a.20mmironstaples	1.00	No	0.78	0.70	100.00	
1.463	_	b.Nail/Screw	100.00	No	78.13	0.78	100.00	78.00
1463	5	SandandCement(4:1)	90.000	LS/Mtr	4.20	0.78 4.20	200.00	156.26 210.00
		Total(A1)					20.00	
	A2	Cartage1%ofA1						3,359.12
		Wester-10/ Can						33.59
		Wastage1%ofA1 Total(A2)						33.59
	A3	I aboumal						67.18
* * * * * * * * * * * * * * * * * * * *	1	Wireman, Grade-I						07.10
1002	2	Mason, Grade-II	1.00	Day	612.00	612.00	2.50	1,530.00
1004	3	Helper	1.00	Day	562.00	562.00	1.67	938.54
		Total(A3)	1.00	Day	462.00	462.00	5.00	2,310.00
		Total(A1+A2+A3)						4,778.54
	A4	Overhead charges 15% on						8,204.84
		(A1+A2+A3) GrandTotal(A1+A2+A3+A4)						1,230.73
1	A5	Rate pe rmete rin Rs.						9,435.56
1	16	Labor cess @1% of A5						188.71
		Total (A5+A6)						1.89
								190.60

# Circuit / Sub Main wiring in PVC Conduit (2 x 6 sq.mm + 1 x 2.5 sq.mm)

Recessed wiring to submain in 2 x 6 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 25 mm dia non-metalic heavy duty flexible conduit 1.6 mm thick along with 1 x 2.5 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired.(Make of wire Finolex/L&T/Anchor/Havels/V Guard)

Code No	Sl.No	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	4.00	5				
		Costfor50mtrs	4.00	3	6	7	8	9.00
	A1	Materials						
1104	1	6 sq.mm single core pvc insulated multistrand copperconductor cable	90.00	Mtr	2,796.12	31.07	101.00	3,137.87
1102	2	2.5sq.mm.single corepvcinsulated multistrand copper conductor	90.00	Mtr	1,303.10	14.48	50.50	731.18
1224A	3	cableas earthwire 25mm dia superiorquality heavy duty flexible PVC conduit 1.6mm thick	1.00	Kg	41.84	41.84	8.00	334.72
1218	4	a.25mmironstaples						
1222A		b.Nail/Screw	1.00	No	1.01	1.01	100.00	101.00
1463	5	SandandCement(4:1)	100.00	No	78.13	0.78	200.00	156.26
		Total(A1)	1.00	LS/Mtr	4.20	4.20	50.00	210.00
	A2	Cartage1%ofA1						4,671.03
		Wastage1%ofA1						46.71
		Total(A2)						46.71
	A3	Labourcharges						93.42
1001	1	Wireman, Grade-I	1.00					
1002	2	Mason, Grade-II	1.00	Day	612.00	612.00	2.50	1,530.00
1004	3	Helper	1.00	Day	562.00	562.00	1.67	938.54
		Total(A3)	1.00	Day	462.00	462.00	5.00	2,310.00
		Total(A1+A2+A3)						4,778.54
	A4	Overhead charges 15% on						9,542.99
		(A1+A2+A3)						1,431.45
		GrandTotal(A1+A2+A3+A4)						
	A5	Rate pe rmete rin Rs.						10,974.44
	A6	Labor cess @1% of A5						219.49
								2.19
		Total (A5+A6)						
								221.68

#### Circuit / Sub Main wiring in PVC Conduit (4 x 6 sq.mm + 2 x 2.5 sq.mm)

Recessed wiring to submain in 4 x 6 sq.mm FR PVC insulated single core multistrand copper conductor of ISI marked confirming to IS-694/1990 in 32 mm dia non-metalic heavy duty flexible conduit 1.6 mm thick along with 2 x 2.5 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire as equired. (Make of wire Finolex/L&T/Anchor/Havels/V Guard)

Code N	lo Sl.N	o. Description of materials	Quanti	Unit t	Rate in	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	v				required	III KS
		Costfor50mtrs	4	5	6	7	8	9.00
	A1	Materials						
1104	1							
		6 sq.mm single core pvc insulated multistrand copperconductor cable	90	Mtr	2,796.12	31.07	202.00	6,275.74
1102	2	2.5sq. mm. single core pvc insulated	00		1			
		multistrand copper conductor cableas	90	Mtr	1,303.10	14.48	101.00	1,462.37
		earthwire						
1226A	3	32mmdiasuperiorqualityheavyduty	1	V -	41.04			
		flexible PVCconduit1.6mmthick	1	Kg	41.84	41.84	12.50	523.00
1220	4	a.32mm iron staples	1	No	1.55		100000	
1222A		b.Nail/Screw	100	No	1.55	1.55	100.00	155.00
1463	5	Sandand Cement(4:1)	1	LS/Mtr	78.13 4.20	0.78	200.00	156.26
		Total(A1)		Lonvid	4.20	4.20	50.00	210.00
	A2	Cartage1%ofA1						8,782.36
		Wastage1%ofA1						87.82
	4.2	Total(A2)						87.82
1001	A3	Labour charges						175.65
1001	2	Wireman, Grade-I	1	Day	612.00	612.00	2.50	1.520.00
1002	3	Mason, Grade-II	1	Day	562.00	562.00	1.67	1,530.00
1004	3	Helper	1 .	Day	462.00	462.00	5.00	938.54
		Total(A3)			20 C C C C C C C C C C C C C C C C C C C	102.00	5.00	2,310.00
		Total(A1+A2+A2)						4,778.54
	A4	Total(A1+A2+A3) Overhead charges 15% on						13,736.55
		Overhead charges 15% on (A1+A2+A3)						2,060.48
		(141)						2,000.40
		GrandTotal(A1+A2+A3+A4)						
								15,797.03
		RatepermeterinRs.						
	A6	Labor cess @1% of A5						315.94
								3.16
		Total (A5+A6)						
								319.10

Supplying and fixing of 3 pin, 5 amp ceiling rose ISI marked on the existing junction box / wooden block including connection etc. as required.

Code No	Sl.No	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	Costfor1set	4.00	5	6	7	8	9.00
	A1	Materials						
1401	1	3 pin, 5 amp ceiling rose ISI marked	1.00	No	12.4	12.4	1	12.40
1449	2	Al. alloy / cadmium iron screws 25mm	100.00	No	39.06	0.3906	2	0.78
		Total(A1)	•					
	A2	Cartage1%ofA						13.18
		Total(A2)						0.13
		A3 Labourcharges						0.13
1001		Wireman, Grade-I	1.00	Day	612.00	612	0.02	
1004	2	Helper , .	1.00	Day	462.00	462	0.03	18.36
		Total(A3)	2.00	Duy	402.00	402	0.03	13.86
		(A1+A2+A3)						32.22
	A4	Overhead charges 15% on	(A1+A2					45.53
								6.83
		Total(A1+A2+A3+A4)	+A3)					
								52.36

1.29 S/F of Angle Holder Supplying and fixing batten holder / BK angle holder ISI marked including connection etc. as required.

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/Unit	Quantity required	Amount in Rs
1	2	Costfor1set	4.00	5	6	7	8	9.00
	A1	Materials						
1442	1	BattenHolder/AngleHolder						
1449	2	Al.alloy / cadmium iron screws	1.00	No	10.85	10.85	1	10.85
		25mm Total(A1)	100.00	No	39.06	0.3906	2	0.78
	A2	Cartage1%ofA						11.63
		Total(A2)						0.12
	A3	Labour charges						0.12
1001	1	Wireman, Grade-I	1.00	-				
1004	2	Helper	1.00	Day	612.00	612	0.05	30.60
		Total(A3)	1.00	Day	462.00	462	0.05	23.10
		(A1+A2+A3)						53.70
	A4	Overhead charges 15% on						65.45 9.82
		(A1+A2+A3) Total(A1+A2+A3+A4)						
,	A5	S/F of Bakelite angle holder/batten holder of ISI marked conforming to						75.26
		IS-1258/1987 in place of ceiling rose						22.90
1	16	Labor cess @1% of A5						
		Total (A5+A6)						0.23
								23.13

Supplying and fixing of Call Bell / Buzzer ISI marked suitable for DC /AC single phase 230 volts complete as required.

Code N	lo Sl.No	. Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	Costfor1 set	4.00	5	6	7	8	9.00
	Al	Materials						
1444	1	Call Bell / Buzzer DC /AC Single Phase	1.00	No	63.57	63.57	1	63.57
1449	2	Al.alloy / cadmium iron screws 25mm	100.00	No	39.06	0.3906	2	0.78
		Total(A1)						64.35
	A2	Cartage1%ofA						0.64
		Total(A2)						0.64
	A3	Labourcharges						0.04
1001	1	Wireman, Grade-I	1.00	D				
1004	2	Helper	1.00	Day	612.00	612	0.05	30.60
		Total(A3)	1.00	Day	462.00	462	0.05	23.10
								53.70
		(A1+A2+A3)						
	A4	Overhead charges 15% on						118.69 17.80
		(A1+A2+A3)						
	A5	Total(A1+A2+A3+A4)						
	A6	Labor cess @1% of A5						136.50
			4					1.36
		Total (A5+A6)						
								137.86

# G.I. Earth Pipe electrode with salt / charcoal

Earthing with G.I earth pipe 3 meter long 40 mm dia ISI marked including accessories and providing masonary enclosure with cover plate having locking arrangment and watering pipe etc with charcoal and salt as required

				- 3					
Code No	Sl.No	Description of mate	erials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3		4.00	5				
	,	Costfor1set,		4.00	3	6	7	8	9.00
	A1	Materials							
1334	1	40mmG.I.pipemediumclass		1.00	Mtr	120 71			
1830	2	Funnel, G. Inuts, through bo	lt G I	1.00	100000000000000000000000000000000000000	129.71	129.71	3	389.13
		washer	11,0.1	1.00	Set	54.85	54.85	1	54.85
1829	3	Locking arrangement with	hinged	1.00	NT.	160.16			
		coverplate	imiged	1.00	No	160.16	160.16	1	160.16
1809	4	40mmto20G.I.reducer		1.00	NT.	1000	- Service Control		
1831	5	Drillingof5nos12mmdiahol	90	1.00	No	10.85	10.85	1	10.85
		onG.I.Pipe	CS	1.00	LS	96	96	1	96.00
1810	6	Charcoal		1.00	**				
1812	7	Salt		1.00	Kg	5.86	5.86	64	375.04
1826	8	Excavation		1.00	Kg	5	5	5	25.00
1833	9	Brickworkincementmortar		1.00	Cum	52	52	2.5	130.00
		Total(A1)		1.00	LS	102	102	1	102.00
	A2	Cartage1%ofA							1,343.03
		Wastage1%ofA							13.43
		Total(A2)							13.43
	A3	Labour charges							26.86
1001		Wireman, Grade-I							
1002 2		Mason, Grade-II		1.00	Day	612.00	612	0.5	306.00
1004		Helper		1.00	Day	562.00	562	0.5	281.00
		Total(A3)		1.00	Day	462.00	462	1	462.00
		(A1+A2+A3)							1,049.00
1	44		.07						2,418.89
		Overhead charges 15	% on						362.83
		(A1+A2+A3)							
1	15	Total(A1+A2+A3+A4)							
		Labor cess @1% of A5							2,781.72
		Total (A5+A6)							27.82
		10tal (A5+A6)							2,809.54
									2,009.34

2.3.5

# S/F SP MCB DISTRIBUTION BOARD ISI MARKED

Supply and fixing of following way single pole and neutral, sheet steel, MCB distribution board consumer unit, 240 V on surface / recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, hinged front acrylic covr for the MCB knobs detachable gland plate, interconnections, phosphatized and powder painted including earthing etc. as required ( But with out MCB / RCCB / Isolator)

2.3.7

#### 4 WAY, DOUBLE DOOR

Code No	Sl.No.	Description of materials	Quan	tit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	v 4	4					
		Costforleach	4		5	6	7	8	9.00
	A1	Materials							
1740	1	12WAY,SPN,DoubleDoor,MCB DB							
		12 WIT, SI N, DOUBLEDOOF, MICH DB	1		No	562.02	562.02	1	562.02
1823	2	6mmdiaragBoltsv.ithNuts	1		NT.				
		5 <b>4</b> -10 <b>4</b> -111	1		No	4.69	4.69	4	18.76
	3	Cement, Sandetc. @50% of (2) of							
		A1							9.38
		Total(A1)							
									590.16
	A2	a.Cartage@1%ofA1							
		Total(A2)							5.90
									5.90
	A3	Labour Charges							
1001		Wireman, Grade-I	1		Day	612.00	612.00	0.00	
1002		Mason,Grade-II	1		Day	562.00	562.00	0.08	48.96
1004		Helper	1		Day	512.00		0.12	67.44
		Total(A3)			Duy	312.00	512.00	0.20	102.40
				•					218.80
		Total(A1+A2+A3)							and the second
1	44	Overhead charges 15% on							814.86
		4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4							122.23
	(	(A1+A2+A3)							
		GrandTotal(A1+A2+A3+A4)							025.00
1		Labor cess @1%-5f A5							937.09
		Total (A5+A6)							9.37
									946.46

2.3 S/F SP MCB DISTRIBUTION BOARD ISI MARKED

Supply and fixing of following way single pole and neutral, sheet steel, MCB distribution board consumer unit, 240 V on surface / recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, hinged front acrylic covr for the MCB knobs detachable gland plate, interconnections, phosphatized and powder painted including earthing etc. as required ( But with out MCB / RCCB / Isolator)

2.3.6 8 WAY, DOUBLE DOOR

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	v 4	5				
		Costforleach	7	3	6	7	8	9.00
		Materials						
	A1							
1740	1	12WAY,SPN,DoubleDoor,MCB DB	1	No	738.76	738.76	1	738.76
1823	2	6mm dia rag Bolts with Nuts	1	No	1.00			
	3.	Cement,Sandetc.@50%of(2)of	1	NO	4.69	4.69	4	18.76
		A1						9.38
		Total(A1)						
								766.90
	A2	a.Cartage@1%ofA1						
		Total(A2)						7.67
	A3	Labour Charges						7.67
1001	1	Wireman, Grade-I		D	V/Sign Strikenin			
1002	2	Mason,Grade-II	1	Day	612.00	612.00	0.08	48.96
1004		Helper	1	Day	562.00	562.00	0.12	67.44
		Total(A3)	1	Day	512.00	512.00	0.20	102.40
		Total(A1+A2+A3)						218.80
1		Overhead charges 15% on						993.37
		- Bes 1370 OII						149.01
		(A1+A2+A3)						
		GrandTotal(A1+A2+A3+A4)						
1	16	Labor cess @1% of A5						1,142.37
		Total (A5+A6)						11.42
								1,153.79

# S/F SP MCB DISTRIBUTION BOARD ISI MARKED

Supply and fixing of following way single pole and neutral, sheet steel, MCB distribution board consumer unit, 240 V on jurface / recess, complete with tinned copper bus bar, neutral bus bar, earth bar, din bar, hinged front acrylic covr for the MCB knobs detachable gland plate, interconnections, phosphatized and powder painted including earthing etc. as required ( But with out MCB / RCCB / Isolator)

2.3.7

#### 12 WAY, DOUBLE DOOR

Code No	Sl.No.	Description of materials	Quar	ntit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
-1	2	3 Costforleach	v 4		5	6	7	8	9.00
	A1	Materials							
1740	1	12WAY,SPN,DoubleDoor,MCB DB	1		No	1,441.86	1441.86	1	1,441.86
1823	2	6mmdia rag Bolts with Nuts	1	4	No	4.69	4.69	4	18.76
	3	Cement,Sandetc.@50%of(2)of A1							9.38
		Total(A1)							
	A2	a.Cartage@1%ofA1							1,470.00
		Total(A2)							14.70
	A3	Labour Charges							14.70
1001	1	Wireman, Grade-I	1		Day	612.00	(12.00	0.00	
1002	2	Mason, Grade-II	1		Day		612.00	0.08	48.96
1004	3	Helper	1		-	562.00	562.00	0.12	67.44
		Total(A3)	1		Day	462.00	462.00	0.20	92.40
			0						208.80
		Total(A1+A2+A3)							
	A4	Overhead charges 15% on							1,693.50
		1370 OII							254.03
		(A1+A2+A3)							
		GrandTotal(A1+A2+A3+A4)							
1	A6	Labor cess @1% of A5							1,947.53
		Total (A5+A6)							19.48
		()		4					1.967.01

### S/F "B" SERIES SP MCB / SPN MCB

Supply and fixing of 5 amp to 32 amp rating 240 V "B" series miniature circuit breaker suitable for lighting and other loads of the following poles in the existing MCB DB ISI marked complete with connections testing and commissioning etc. as required.

2.6.1		ole and the second of the seco		E POLE				
Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	1 00					
		Cos tfor 1 each	4.00	5	6	7	8	9.00
	A1	Materials						
1701	1	6amp to 32amp rating SPMCB "B"	1.00	No	80.62	90.60		
		series to 10KA breaking	1.00	INO	80.02	80.62	1	80.62
		capacity						
		Total(A1)						80.62
	A2	a.Cartage@1%ofA1						0.81
	4.2	Total(A2)						0.81
1001	A3	Labour Charges						0.01
1004	2	Wireman, Grade-I	1.00	Day	612.00	612	0.04	24.48
1004	4	Helper Total(A3)	1.00	Day	462.00	462	0.04	18.48
		Total(A1+A2+A3)						42.96
	A4	0 1 .						124.39
		Overhead charges 15% on						18.66
		(A1+A2+A3)						
		GrandTotal(A1+A2+A3+A4)						
	A6	Labor cess @1% of A5						143.04
		Total (A5+A6)						1.43
								144.47

2.8

#### S/F DP MCB ISOLATOR

Supply and fixing of following rating double pole 240 V isolator in the existing MCB DB ISI marked complete with connection testing and commissioning etc. as required.

2.8.2

-	2	-	m	

Code No	Sl.No.	Description of material	s	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	Costforleach		4	5	6	7	8	9.00
	A1	Materials							
1713	1	63amp 2pole isolator Total(A1)		1	No	244.19	244.19	1	244.19
	A2	a.Cartage@1%ofA1 Total(A2)							244.19 2.44
	A3	Labour Charges							2.44
1001 1004	.5	Wireman, Grade-I Helper		1	Day Day	612.00 462.00	612 462	0.04 0.04	24.48 18.48
		Total(A3) Total(A1+A2+A3)					102	0,04	42.96 289.59
	A4	Overhead charges 15%	on						43.44
		(A1+A2+A3)							
	A5	GrandTotal(A1+A2+A3+A4)							
	A6	Labor cess @1% of A5							333.03 3.33
		Total (A5+A6)							336.36

#### S/F OF MAIN SWITCHES ISI Marked

Supply, Installation, Testing, and Commissioning of 63 Amp TPN Main switches of following capacity (IS 13940 Part 3/1993) on existing surface / wall mountnting and complete with HRC Fuse links, interconnections, earthing, etc. as required as per direction of Engineer in Charge.Make SEIMENS/HPI./ANCHOR/I &T/HAVELS/C & S/RK

2.15.3					63 Am	ip TPN				
Code No	Sl.No.	Description of m	aterials		<b>t</b> Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3			v 4	5	6	7	0	0.00
	A1	Costforleach A1Materials				3	. 0	,	8	9.00
1601	1	32 Amp TPN switcl disconfuseunit(panelmountedtype HRCfuse.	nector )with		1	No	620.16	620.16	1	620.16
1454	2	25mmx3mm bolt and nuts			1	No	2.24			
1839	3	Rubber/PVCbushes			100		2.34	2.34	4	9.36
					100	No	69.77	0.6977	4	2.79
1835	4	Earthing,thimbleandsolder Total(A1)			1	No	10	10	1	10.00
	A2	a.Cartage@1%ofA1 Total(A2)								<b>642.31</b> 6.42
	A3	LabourCharges								6.42
1001	1	Wireman, Grade-I			1	D	(10.00	44.27.27		
1004	2	Helper			1	Day	612.00	612.00	0.13	79.56
		Total-A3				Day	462.00	462.00	0.17	78.54
		Total(A1+A2+A3)								158.10
	A4	Overhead charges	15%	0.00						806.83
		(A1+A2+A3)	1570	on						121.03
		Total(A1+A2+A3+A4)								
	A6	Labor cess @1% of A5								927.86
		Total (A5+A6)								9.28
		Iotal (ASTAO)								93714

Installation, Testing and Commissioning Fluorescent / Compact fluorescent
Installation, Testing and Commissioning of pre-wired fluorescent fitting / compact fluorescent fitting
of all sizes complete with all accessories and tube etc. directly on ceiling wall, including connection
with 1.5 sq.mm FR PVC Insulated single core multistrand copper conductor and earthing as required.

Code No	SINO	Description of the stringle cont	e munustran					
Code 110	51.110.	Description of materials		Unit	Rate in	Rate/ Unit	Quantity	Amount
			Quantit		Rs.		required	in Rs
1	2	3	4.00	5	6	7	8	9.00
		Cost for one each						2.00
	A1	Materials	**					
1101	1	1.5sq.mm FRPVC insulated single core multistrand copper conductor	90.00	Mtr	778.29	8.64	0.3	2.59
1451	2	Ironscrews,35mmx6mm	100.00	N	21.25	2 2000		
1461	3	Washer	100.00	No	31.25	0.3125	2	0.63
1839		Rubber/PVCbushes	100.00	No	15.63	0.1563	2 2	0.31
		Total(A1)	100.00	No	69.77	0.6977	2	1.40
	A2	Cartage1%ofA						4.93
		Wastage1%ofA1	ŧ					0.05
		Total(A2)						0.05
	A3	Labourcharges						0.10
1001	1	Wireman, Grade-I	1.00	D		100000		
1004	2	Helper	1.00	Day	612.00	612	0.125	76.50
		Total(A2)	1.00	Day	462.00	462	0.125	57.75
		(A1+A2+A3)						134.25
	A4	1120 to 12 t						139.27
		Overhead charges 15% on (A1+A2+A3)						20.89
	A3	Labor cess @1%						160.16
		Total(A1+A2+A3+A4)						1.60
								161.76

# S/F of 1x18 Watt LED T-5 fitting(Make-Crompton/Philips/Havells/Bajaj)

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2 A1	3 Materials	4.00	5	6	7	8	9.00
ak		1x18W LED T-5 fitting Installation, Testing and Commissioning Fluorescent /	1.00 1.00	No	635.59 139.27	635.59 139.27	1	635.59 139.27
	A3	Compact fluorescent Sub-Total Overhead	on				1	774.86 116.23
	A4	Labor cess @1% Total(A1+A2+A3+A4)						891.09 8.91 <b>900.00</b>

# S/F of 60 W LED Street light fitting(Make-Crompton/Philips/Havells/Bajaj)

Code N	o Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2 A1	3 Materials	4.00	5	6	7	8	9.00
*	A2	60 W LED Street light Installation, Testing and Commissioning Fluorescent / Compact fluorescent	1.00 1.00	No no	5932.20 139.27	5932.2 139.27	1	5,932.20 139.27
		Sub-Total						6,071.47

A3	Overhead charges (A1+A2+A3)	15%	on	910.72
A4	Labor cess @1% Total(A1+A2+A3+A4)			6,982.19 69.82 <b>7,052.01</b>

# S/F of 18Watt LED Square surface mount fitting (Make-Havells/Philips/C&S/Crompton)

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	, , , 3	4.00	5	6	7	8	9.00
	A1	Materials						
	1 A2	18 Watt LED Square recess fitting	1.00	No	932.20	932.2	1	932.20
		Installation, Testing and Commissioning Fluorescent /	1.00	no	139.27	139.27		139.27
		Compact fluorescent Sub-Total					1	
	A3	Overhead charges 15% on						1,071.47
		(A1+A2+A3)						160.72
	A4	Labor cess @1%						1,232.19
		Total(A1+A2+A3+A4)						12.32 1,244.51

# S/Fof Bulk Head fitting CFL/LED type complete (Bajaj/Philips with lamp)

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2 A1	Materials ,	4.00	5	6	7	8	9.00
	1	Bulk head in die cast aluminium housing & frosted glass	1.00	No	402.54	402.54	1	402.54
		9Watt LED Bulb Installation, Testing and Commissioning Fluorescent / Compact fluorescent	1.00	No. no	129.46 161.76	129.46429 161.7605	1	129.46 161.76
	A3	Sub-Total Labor cess @1% Total(A1+A2+A3)						693.76 6.94 700.70

1.36 Installation, Testing and Commissioning Ceiling Fan
Installation, Testing and Commissioning of ceiling fan, including wiring the down rods of standard length (upto

C 1 N								
Code No	Si.No.	Description of materials		Unit	Rate in	Rate/Unit	Quantity	Amount
			Quantit		Rs.		required	in Rs
1	2		v					
1	2	3	4	5	6	7	8	9.00
		Costfor8fans						
	A1	Materials						
1101	1	1.5sq.mm FRPV Cinsulated single core multistrand copper conductor	90	No	778.29	8.64	8	69.12
		Total(A1)						
	A2	Cartage1%ofA						69.12
	AL							0.69
		Wastage1%ofA1						0.69
		Total(A2)	•					1.38
1001	A3	Labour charges						
1001		Wireman, Grade-I	1	Day	612.00	612.00	1	612.00
1004	2	Helper	1	Day	462.00	462.00	1	462.00
		Total(A3)						1,074.00
		(A1+A2+A3)						1,144.50
	A4	Overhead charges 15% on						171.68
		(A1+A2+A3)						
		Total(A1+A2+A3+A4)						121610
		Rate per fan(labour only)						1,316.18
		r (involutions)						164.52

S/F of 48" Ceiling fan Alluminium Body, Copper winding, High speed ceiling fan (Make-

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	4.00	5	6	7	8	9.00
	A1 1	Materials 48" Ceiling fan Alluminium Body, Co	1.00	Na	211441	21111		
	A2	Installation, Testing and Commissioning Ceiling Fan	1.00	No no	2114.41 143.06	2114.4 143.06	1	2,114.40 143.06
		Sub-Total Overhead charges 15% Labor cess @1% Total(A1+A2+A3)					Rs.	2,257.46 338.62 2,596.08 25.96 2,622.04

Installation, testing and commissioning of exhaust fan up to 450 mm sweep in the existing opening, including making the hole to suit the size of the above fan, making good the damage complete, connection, etc as required.

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3 Costfor1set	4	5	6	7	8	9.00
	A1	Materials						
1823 1108	1	6mmdiaragboldswithnuts	1	No	4.69	4.69	4	18.76
1100	2	16/0.20 mm twin core PVC sheathed, flat flexible copper cable	100	Mtr	310.85	3.1085	1	3.11
	3	Phil / Rawl plug, cement etc. @ Total(A1)						9.38
	A2	Cartage 1% of A						<b>31.25</b> 0.31

	Wastage 1% of A								0.31
	Total(A2) A3 Labour charges								0.62
1001 1	Wireman, Grade-I			1	Day	612.00	612	0.33	201.96
1002 2	Mason, Grade-II			1	Day	562.00	562	0.33	185.46
1004 3	Helper			1	Day	462.00	462	0.66	304.92
	Total(A3) (A1+A2+A3)			M.	24,		402	0.00	692.34
A4	Overhead , charges (A1+A2+A3)	15%	on						724.21 108.63
	Total(A1+A2+A3+A4)		e	xeluding	cost of e	xhaust fan			832.85

#### S/F of 9" metallic exhaust fan

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	4.00	5	6	7	8	
	A1	Materials			0	,	0	9.00
	1	9" metallic exhaust fan	1.00	No	1254.24	1254.23	1	1,254.23
	A2	FIXING EXHAUST FAN UPTO 450 MM SWEEP	1.00	no	832.85	832.85	1	832.85
		Sub-Total						2,087.08
	A4	Overhead charges 15%						
								313.06
	A3	Labor cess @1%						2,400.14
		Total(A1+A2+A3)						24.00
	S/F of	15" heavy duty metallic exhaust fan					Rs.	2,424.14
Code No	Sl.No.	Description of materials		Unit	Rate in	Rate/ Unit	Quantity	Amount
			Quantit		Rs.		required	in Rs
1	2	3	4.00 V	5	6	7	8	9.00
	A1	Materials						
	1	15" heavy duty metallic exhaust fan	1.00	No	3516.95	3516.94	1	3,516.94
	A2	FIXING EXHAUST FAN UPTO	1.00	no	832.85	832.85		832.85
		450 MM SWEEP					1	
	A3	Sub-Total Labor cess @1%						4,349.79
	113	Total(A1+A2+A3)						43.50
1.25								4,393.29
	Cummler	S/F of STEEPED	TYPE MO	ODULA	R REGUL	ATOR		The state of the s

Supplying and fixing of Stepped type modular fan regulator on existing switch box / cover including connections etc as required.

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	Costfor1set .3	v 4	5	6	7	8	9.00
	A1	Materials						
1435 1449	1 2	Stepped type modular fan regulator Alalloycadmiumplatedironscrew 20mm	1 100	No No	217.05 39.06	217.05 0.3906	1 2	217.05 0.78
	A2	Total(A1) Cartage1%ofA Total(A2)						217.83 2.18
	A3	Labourcharges						2.18
1001	1 2	Wireman, Grade-I Helper Total(A3) (A1+A2+A3)	1	Day Day	612.00 462.00	612 462	0.04 0.04	24.48 18.48 42.96 262.97
								404.91

Page 26

A4 Overhead charges 15% on 39.45

(A1+A2+A3)
Total(A1+A2+A3+A4)
A6 Labor cess @1% of A5
Total (A5+A6)

Rs 305.43

S/F of MODULAR TYPE BELL PUSH
Supplying and fixing of following MODULAR type Bell push on the existing switch box / cover including connections etc as required.

Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit		Amount'
		1	V		AS.		required	in Rs
1	2	3	4	5	6	7	8	9.00
		Costfor1set						2.00
	A1	Materials						
1435	1	Modular bell push ISI marked	1	No	91.47	91.47	1	01.47
1449	2	A lalloy cadmium platediron screw	100	No	39.06			91.47
		20 mm	100	140	39.00	0.3906	2	0.78
		Total(A1)						
	A2	Cartage1%ofA						92.25
		Total(A2)						0.92
	A3	Labourcharges						0.92
1001	1			resident.				
1004	2	Wireman, Grade-I	1	Day	612.00	612	0.03	18.36
1004	2	Helper	1	Day	462.00	462	0.03	13.86
		Total(A3)						32.22
		(A1+A2+A3)						125.39
	A4	Overhead charges 15% on						18.81
		(A1+A2+A3)						
		Total(A1+A2+A3+A4)						144.00
	A6	Labor cess @1% of A5						144.20
		Total (A5+A6)						1.44
		,					Rs	145.64

Wiring in existing Conduit

Supply and drawing of following sizes FR PVC insulated single core multistrand copper conductor in 1.19 existing surface / recessed STEEL/PVC conduit as required. 1.191

1.19.1			1 x 1.5	sq.mm				
Code No	Sl.No.	Description of materials		Unit	Rate in	Rate/ Unit	Quantity	Amount
			Quantit		Rs.		required	in Rs
1	2	3 Costfor50meters	¥ 4	5	6	7	8	9.00
	A1	Materials						
1101	1	1.5sq.mmFRPVCinsulatedsingle coremultistrandcopperconductor	90	No	778.29	8.64	50.5	436.32
	A2	Total(A1) Cartage1%ofA						436.32 4.36
	A3	Total(A2) Labourcharges						4.36
1001	1	Wireman, Grade-I	1	Day	612.00	(12	2	
1004	2	Helper , Total(A3)	i	Day	462.00	612 462	2 2	1,224.00 924.00 2,148.00
	A4	(A1+A2+A3) Overhead charges 15%	on					2,588.68 388.30
		(A1+A2+A3) Total(A1+A2+A3+A4) Rate per meter						2,976.99
	A6	Labor cess @1% of A5 Total (A5+A6)						59.54 0.60 <b>60.14</b>

Page 28

5.5 5.5.1

#### LALYING OF CABLE ON SURFACE

MV cable laying up to 25 sq.mm on surface
Laying and fixing of one number of PVC insulated and PVC seathed / XLPE power cable of 1.1 KV
grade of size not exceeding 25 sq.mm on surface as required.
10 sq mm 2 core PVC Armoured cables ISI marked

Code No	SI.No.	Description of materials	Quantity	Unit	Rate in Rs.	Rate/ Unit	Quantity	Amount in
1	2	3		7.45			required	Rs
		Costfor50Mtr	4	5	6	7	8	9.00
	A1	Materials						
2315	1	G.I.Saddle		N.				
2304	2	Iron screw 45 mm x 6mm	#	No	234.38	2.34	113	264.42
2303	3	Woodenbits/batten	#	No	39.06	0.39	226	88.14
39	4		#	No	86.58	0.86	226	194.36
	W.	10 sq mm 4 core PVC Armoured cables ISI marked	1	rm	93.23	93.23	50	4,661.50
		Total(A1)						5,208.42
	A2	Cartage1%ofA						
		Wastage1%ofA						52.08
		Phil/Rawlplug,cement,sandetc@						52.08
		20%of(2)ofA1						17.63
		Total(A2)						
	A3	Labourcharges						121.80
1001	1	Wireman, Grade-I		Day	612.00	643.6		
1002	2	Mason,Grade-II		Day	612.00	612.0	1	612.00
1004	2	Helper			562.00	562.0	1	562.00
		Total(A3)	1	Day	462.00	462.0	6	2,772.00
		(A1+A2+A3)						3,946.00
	A4	Overhead charges 15% on						9,276.22
		(A1+A2+A3)						1,391.43
		Total(A1+A2+A3+A4)						
		Rate per Meter						10,667.65
		Labour Cess	1%					213.35
			1 70			or say	De	2.13
						or say	Rs	215.48

#### Wiring in PVC Conduit with Modular Type Switch

Supply fitting and fixing of 100KVA cubical pannel board with necessary ISI marked 3 Phase electrical fittings as require ( 100KVA K.t Kat, 200A Change over, 25/5 cupper busbar, Volt meter, Ampear meter, 3 phase indicator, 100A 4 pole MCCB, 10KA 63A DP MCB) with 10.00 sq.mm FR PVC insulated single core multistrand copper conductor as earth wire including all accesories and connection as per direction of Engineer in Charge. (Make of wire Finolex / L&T / Anchor / Havels / V Guard )

1.1.1			Group-A		,			
Code No	Sl.No.	Description of materials	Quantit	Unit	Rate in Rs.	Rate/ Unit	Quantity required	Amount in Rs
1	2	3	4.00	5	6.00	7.00	8	9.00
		Cost for 1 point			0.00	7.00	0	2.00
	A1	Materials						
1101	1	cost of pannel board	1.00	no	45,000.00	45,000.00	1.00	45,000.00
1463	13	SandandCement(4:1ratio)		LS/Mtr	4.20	4.20	2.50	10.50
		Total(A1)		Donvid	4.20	4,20	2.30	45,010.50
	A2	Cartage1%ofA1						450.11
		Wastage1%ofA1						450.11
		Total(A2)						
	A3	Labourcharges						900.21
1001	1	Wireman, Grade-I	1.00	Day	612.00	612.00	0.10	61.20
1002	2	Mason, Grade-II	1.00	Day	562.00	562.00	0.10	84.30
1004	3	Helper	1.00	Day	462.00	462.00	0.15	69.30
		Total(A3)			102.00	402.00	0.13	214.80
		(A1+A2+A3)						46,125.51
	A4	Overhead charges 15%	on (A1+A2+,	A3)				6,918.83
	A5	Total(A1+A2+A3+A4)						53 044 24
	A6	Labor cess @1% of A5						53,044.34 530.44
		Total (A5+A6)					Rs	53,574.78



Er.PREM PRAKASH SAHU C Eng(I)
M. Tech. (Structural Engg.)
143, Nageswartangi, Bhubaneswar-2
Membership No.- AM1917156
The Institution of Engineers (I)

Asst. Executive Engineer
R.W.S. D. Don. Rajnagar





